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LANGUAGE CONVENTIONS
| - Grammar and Usage-MCQ

on this line before | realised my mistake.

(&  worked
(b)  was worked
(c) am working
(d) had been working
The doctor an operation.
(@ do
(b) performed
(c) is performed
(d)  done
I we should accept the offer.
(@  think
(b)  will think
(c) should think
(d)  would think
We rested the shade of the tree.
(@) in
(b) under
(c) ourselves in
(d) ourselves under
She should be ashamed her actions.
(@ by
(b) at
(c) of
(d) in
He friends has come back.
(@ and his
(b)  orhis
(c) along with his
(d) along with them

70
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Nowadays,she
(@) carried
(b)  carries

her drawing board to school.

(©) take

(d) taken

Neither he nor his servant
(@) leave

(b) have left
(c) has left

(d) is left
what he says.
@) listen to
(b) listen
(©) hear
(d) hear to

When | was in trouble, there was
(@ anyone

(b) no one

(c) someone

(d) all

I lunch one hour ago.

(a) have had

(b) had had

(c) had

(d) have

He thought that my car
€) IS

(b) was

(c) has been

(d)  going

He tried to prevent me
(@) against

(b) at

(c) with

(d)" from

to help me.

for sale.

doing my duty.
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| would apologise if | you.

(@ am

(b) was

(c) were

(d) are

He has ulcer on his leg.
@ a

(b) an

(c) every

(d) big

He promised in this matter.
(&  helping

(b)  tohelp

(c) help

(d) helped

The teacher made the student
€) repeat

(b) repeated
(c) repeating
(d) has repeated

we did not go to school.

(@) Being a holiday

(b) Since a holiday
(c) On holiday
(d) * It being a holiday

He would beg than steal.

(a) not

(b) no longer

(c) rather

(d) nor

| have not met him he left school.
(@  for

(b) as

(©) since

(d)  when

the lesson
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The | purchased, had a tear.
(@ cloth
(b)  clothes
(©) clothing
(d)  dresses
The car was leaking
@ il
(b) much oil
(c) oils
(d)  some oils
A lot of money wasted on this project
@ is
(b) are
(c) were
(d) may
is expensive these days.
€) Shoes
(b) Shoe
(c) A pair of shoes
(d)  Apair of shoe
There are than sixty boys in the class.
(@ nofew

(b) nolesser
(c) no fewer
(d) no lesser

His income than yours.

(@) less

(b) isless

(c) least

(d) s little

My brother, Ajay is to me and Shalu
(@) elder

(b) eldest

(c) old

(d) oldest




28

29

30

31

32

33

34

He was sad yesterday.
(@) too

(b) very

(c) much

(d) fairly

My brother is than | am.
(@) more stronger

(b) stronger

(c) strong

(d) most strong

My stomach is full. I won't have else.
(@) nothing

(b) anything

(c) something

(d) little

The earth around the sun.
(& moved

(b) has moved

(c) is moved

(d) moves

He usually breakfast before he goes to school
(@) has eaten
(b) had eaten

(c) eats
(d) is eating
Why your homework yet ?

(@) didn't you do
(b) hadn't you done

(c) haven't you done
(d) haven't you been done

Last night | a pleasant dream.
(@) could see

(b) saw

(c) had seen

(d) had been seen
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36

37

38

39

40

At this age he is tired his life.

(@ with

(b) from

(c) of

(d) upon

He takes pride his wealth.

(@ in

(b) of

(c) with

(d) by

Due to heavy rains, she is trembling cold
(@) from

(b) with

() in

(d) by

| request you not to interfere _ my work.
@ in

(b) with

(c) on

(d) within

By the time we reached the station the train

(a) already left

(b) was left

(c) had already been left
(d) had already left

| was reading a book when the telephone bell

(@) ringing

(b) had rung
(c) rang

(d) should ring




Answer Key Language Conventions -1 (Grammar and Usage-MCQ)
1 (d) had been working
2 (b) performed
3 (a) think
4 (b) under
5 (c) of
6 (c) along with his
7 (b) carries
8 (c) hasleft
9 (@) listento

10 (b) noone

11 (c¢) had
12 (b) was
13 (d) from

14 (c) were

15 (b) an

16 (c) help

17 (a) repeat

18 (d) It being a holiday
19 (c) rather

20 (c) since

21 (a) cloth

Answer Key Language Conventions -1 (Grammar and Usage MCQ)
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(@)
(@)
(©)
(©)
(b)
(@)
(b)
(b)
(b)
(d)
(©)
(©)
(b)
(©)
(@)

"(b)

(b)
(d)
(©)

oil

is

A pair of shoes
no fewer

is less

elder

very

stronger
anything
moves

eats
haven't you done
saw

of

in

with

with

had already left

rang




LANGUAGE CONVENTIONS
Il - Contextual Vocabulary-MCQ

Direction : Choose the correct alternatives which explains the idiom/ phrase written in bold

italics.

1 Kezia used to get cold feet when she thought of her father.
(@) getangry
(b) getscared
(c) wusedtocry
(d) feltlike crying
2 Maria was on top of the world when she won the Wimbeldon.
(@) felt very happy
(b) felt very nervous
(c) felt satisfied
(d) felt excited
3 The cakes that the woman baked were out of this world
(@) horrible
(b) not tasty
(c) excellent
(d) alien
4 Mahender broke into cold sweat when he heard Iswaran's stories.
(@) got frozen
(b) was cold
(c) was angry
(d) got scared
5 St Peter nearly passed out due to hunger.
(@) fainted
(b) went away
(c) expired
(d) died
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11

Please wash the dishes right away.
(a) tomorrow

(b) today

(c) some

(d) immediately

Einstein‘s Theory of Relativity showed time and distance in a new light.

(@) new facts were discovered

(b) new light was discovered

(c) facts were given

(d) theories were discussed

Toto was not on good terms with other animals.
(@ friendly

(b) not friendly

(c) naughty

(d) good relations

News of Sachin's century spread like wildfire.
(@ slowly

(b) fast

(c) here and there

(d) yesterday

Einstein asked President Roosvelt to look into the matter.
(&) toinvestigate

(b) to search

(c) to observe

(d) to peep

It was raining cats and dogs causing a traffic jam.
(@) softly

(b) heavily
(c) animals

(d) gently




12

13

14

15

16

17

The Geography lesson went over Margie's head.
(@) understand

(b) did not understand

(c) forgot

(d) did not forget

Tom loved to pull Margie's leg.
(@) laugh

(b) irritate

(c) make away

(d) tease

Mother and children have a strong bond of love.

(@) affection

(b) relation
(c) family
(d) bhate

Hari turned into a new leaf when Anil did not hand him over to police.
(@) anintelligent boy

(b) achanged boy

(c) anew thief

(d) a big thief

The swallow kept his word to the Prince.

(@) faith

(b) promise
(c) belief
(d) trust

Parents pay through their nose to get their children into good schools.
(@) pay less money

(b) pay without difficulty

(c) pay easily

(d) pay with great difficulty
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Iswaran loved to blow his own trumpet by telling stories of how he knocked down an
elephant.

(@) to praise himself

(b) to praise others

(c) totalk about others

(d) to play a trumpet

It is no use crying over spilt milk when we fail in exams.

(@) to be happy

(b) toregret

(c) to getirritated

(d) togetangry

The Principal asked the students to give their request in black and white.
(@) written in black ink

(b) painted in black color

(c) in written form

(d) inspeech

After winning the World Cup the cricket team was on cloud nine.
(@) to be very happy

(b) to be very close

(c) tobein trouble

(d) to be angry

The poor boy longed for oranges.

(& wanted
(b) felt
(c) asked

(d) searched

The boy acted in a humane way when taking care of the lost dog.
(@) hurtful

(b) caring

(c) mean

(d) bad
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25

26

27

28

29

| asked if | could go to Hailey's party, and Mom said she would give it some
consideration before she gave me an answer.

(@ paint
(b) thought
(c) flame
(d) mistake

| ate a portion of everything on my plate when | ate a small piece of meat, a small
piece of bread, and a small piece of chocolate pie.

(@) whole
(b) piece
(c) spoiled

(d) complete

Though Sita‘s test was partially done, she received a low grade because it was not
complete .

(@) badly

(b) finally

(c) incomplete

(d) completely

The soft, pliable wood was easy to bend.

(@) bendable

(b) rough

(c) solid

(d) bhard

Sonia has a gregarious personality as she loves to party and make friends.
(a) shy

(b) outgoing

(c) bashful

(d) timid

Some think that rules are unimportant, but they are vital when playing a game
(@) useful
(b) important

(c) terrible




30
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(d) exciting

Cows are domestic animals.

(@ mad

(b) mean

(c) calm

(d) tame

We use candles, flashlights and lamps to illuminate rooms.
(&) darken

(b) light up

(c) lighten

(d) weaken

These handicrafts are easily broken. Please handle with care.

(a) fragile
(b) delicate
(c) useless
(d) flexible

They are unwilling to cooperate with us in this project.
(a) eager

(b) reluctant

(c) forced

(d) ready

They had to abandon their ship when it began to sink.
(@) leave

(b) anchor
(c) repair
(d) tie

The accident happened because the driver drove recklessly.
(@) cautiously

(b) carefully

(c) hurriedly

(d) carelessly
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38

39

40
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The prosecutor has enough evidence to prove his innocence.
(a) witness

(b) statement

(c) show

(d) proof

Football is a favourite game among school boys.
(@) popular

(b) famous

(c) friendly

(d) likeable

He has some rare coins in his collection
(@) special

(b) useful

(c) inexpensive
(d) uncommon
It was indeed a severe test of endurance for the sailors.

(@) problem
(b) torture

(c) ordeal

(d) test

The party found out that they did not have ample time to go there
(&) enough

(b) any

(c) some

(d) much

Answer Key Language Conventions - Il (Contextual Vocabulary-MCQ)
(b) get scared
(@) felt very happy
(c) excellent
(d) got scared
(a) fainted
(d) immediately
(@) new facts were discovered
(b) not friendly
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(b)
(@)
(b)
(b)
(d)
(@)
(b)
(b)
(d)
(@)
(b)
()
(@)
(@)
(b)
(b)
(b)
()
(@)
(b)
(b)
(d)
(b)
(@)
(b)
(@)
(d)
(d)
(@)
(d)
()

fast

to investigate
heavily

did not understand
tease

affection

a changed boy
promise

pay with great difficulty
to praise himself
to regret

in written from

to be very happy
wanted

caring

thought

piece
incomplete
bendable
outgoing
important

tame

light up

fragile

reluctant

leave

carelessly

proof

popular
uncommon

ordeal




Language Conventions
Passage Based MCQs

Passage 1

Q.1 Read the following passage carefully and select the most
suitable option from each list according to the corresponding
number in the passage.

The great advantage of early rising is the good

start it gives for ones daily work.

The early riser is able to complete a lot of

work before others even get out of their bed.

As the mind is fresh in the morning free from distractions.
one is able to do quality work.

one is able, if so inclined to have early morning

exercise which keep one energetic throughout the

© © N o g s~ wDd R

day. Thus one completes one’s work during the day

|_\
o

without hurrying much and is left with enough

=
=

time in the evening for play or relaxation by leisurely

H
no

walk. This leads to good night’s rest.

H
N—r

1) use
2) favourable
3) means
4) experience
2) In line 5 the word closest in meaning to ‘distractions’ is
1) prevention
2) attraction
3) inattention
4) concentration

In line 1 the word ‘advantage’ could be best replaced with



3)

4)

5)

6)

7

8)

In line 3 the phrase ‘a lot of’ could be best replaced with

1) most of

2) much

3) more

4) many

In line 6 the word ‘quality’ could be best replaced with
1) good

2) excellent

3) distinct

4) fine

In line 8 the noun form of the word 'energetic'is__

1) energise

2) energising

3) energy

4) energised

In line 7 the word ‘inclined’ can be best replaced with
1) want

2) lean

3) stoop

4) bend

In line 10 the opposite in meaning to the word ‘enough’is___
1) sufficient

2) plenty

3) less

4) scare

Which of the following is the correct spelling of the word
"leisurely"?

1) leisurely

2)

liesurely



3) leisurrly

4) lesurely
Passage 2
Elephants are (1) in India and in Africa. The (2)
elephants differs in some points (3) the
Indian, being larger with a (4) tusk and bigger ears. In
fact the two (5) considered to be different types in
both countries they live in (6) in the jungles and are
naturally (7) animals that keep away from (8)
. Elephants are good advertisements for (9)
for they live (10) on leaves, grass and
roots.
1) Which of these fits the gap 5 ?
1) is
2) are
3) was
4) being
2) Which of these fits the gap 2 ?
1) African
2) Korean
3) Malaysian
4) Chinese
3) Which of these fits the gap 7 ?
1) ferocious
2) fearsome
3) shy
4) terrible
4) Which of these fits the gap 10 ?
1) entirely

2) partially



5)

6)

7)

8)

9)

10)

3) preferably

4) occasionally

Which of these fits the gap 6 ?
1) company

2) herds

3) crowds

4) singles

Which of these fits the gap 8 ?
1) the earth

2) the water

3) the cities

4) men

Which of these fits the gap 4 ?
1) larger

2) wider

3) long

4) longer

Which of these fits the gap 1 ?
1) available

2) found

3) watched

4) Observed

Which of these fits the gap 3 ?

1) on
2) by
3) from
4) with

Which of these fits the gap 9 ?
1) spiritualism



2) communism
3) vegetarianism

4) capitalism

Passage-3

1)

2)

3)

4)

We all use money in our lives. We use coins or paper-money and
adults use (1) and credit cards, too, but anything
can be (2) for money. In the past people used shells,
beans, string beads salt and (3) other things, even
cows. We think that coins were first used in China and then in (4)
Greece. These were made of gold or silver and

were very (5) . Each coin (6) stamped
with the mark or name of the ruler and the amount the coin was
worth. This is still true today (7) many countries.

Which of the following best fits the gap 3 ?

1) all

2) most
3) few
4) many

Which of the following best fits the gap 5 ?
1) precious

2) important

3) adequate

4) valuable

Which of the following best fits the gap 7 is ?

1) at
2) on
3) in

4) from

Which of these best fits the gap 4 ?
1) primtive



2) old
3) ancient

4) modern

5) Which of these best fits the gap 2 ?
1) using
2) uses
3) used
4) user
6) The word that best fitsthegap 1is
1) checks
2) cheques
3) checques
4) checkes
7) The word that best fitsthe gap 6is
1) is
2) was
3) were
4) are
Passage-4

1)

Read the given passage carefully and fill up the blanks by
choosing the correct option :-

The (1) evaporates (2) from lakes
and oceans. As the air rises, it cools. The water vapour
condenses into tiny droplets of (3) . The droplets
crowd together and form a (4) . Wind blows the (5)

towards the land. The tiny droplets join together and
fall as precipitation to the (6) . The water soaks into
the ground and collects in (7) .The (8)

that never ends has started again.

) moon



2)

3)

4)

5)

6)

7

8)

sun
water

cloud

fish

ocean

rain

water
evaporation
clouds
water
sunshine
cloud

lake

storm
precipitation
rain

sun

droplet
cloud

river

lake

ground
cloud

rivers and lakes

oceans and clouds

jars and cups

plants and animals

storm

cycle



i) river

V) house

Passage-5

1)

2)

3)

4)

Twenty (1) ago, kids in school had never ever
heard of internet. Now I'll bet you can’t find a single person who
hasn’t at least heard of it. In fact many of us use it on a regular basis
and even have (2) to it from our homes. The ‘net’ in
3) really stands for network. A (4) is two or
more computers connected together so that information can (5)

. The internet is a vast resource for all types of

information. Information is accessed (6) web pages

that companies, organisations and individuals create and post. It's

akind of a (7) bulletin board that the whole world uses.

But since anyone can put anything on the internet, you (8)
be careful and use your best (9) and a

little (10) sense.

) hours

1)) days

iii) weeks

iv) years

)] assess

1)) access

i) reached

iv) brought
) internet
i) fishnet

iii) network
V) netting

)] computer
i) internet



i) network

V) wire

5) ) hidden
i) lost
i) created
V) shared

8) )] from
ii) within
i) through
V) by

7) ) great
i) huge
iii) giant
iv) large

8) )] hasto
i) had to

iii) have to

iv) owing to
9) )] wisdom

i) advice

iii) judgement

iv) thought
10) i) rare
i) common
i) none
iv) sixth
Passage-6
Are you superstitious ? For example (1) that if you

walk under aladder, you'll have bad luck for the rest of the day ?. I'm



not superstitious because if you look carefully, you (2)

that something that is lucky in one country is unlucky in another. In
my country people (3) that if you see a black cat,
you'll be lucky, but for people in other countries black cats (4)
very unlucky!

1) Which of the following fits gap 3 ?
1) said
2) will say
3) says
4) say
2) Which ofthese fitsgap 1?
1) you will believe
2) you do believe
3) do you believe
4) you can believe
3) Which of these fitsgap 4 ?
1) may
2) can
3) are
4) will
4) Which of these fitsgap 2 ?
1) have to see
2) may see
3) will see
4) should be
Passage 7
Mosquitoes are a pest that (1) diseases such as
malaria and dengue fever. In some (2) parts of the

world, people die of malaria because they can'’t afford to buy the (3)
they need. However, (4) , everything




1)

2)

3)

4)

5)

6)

candoisto try and stop mosquitoes (5) . Doing afew

regular clean ups can (6) the pests from reproducing.
The word that best fitsthe gap 5is?

1) feeding

2) moving

3) living

4) breeding

Which is the most appropriate word for gap 4?
1) someone

2) noone

3) everyone

4) anyone

The word that best fits the gap 2is?

1) rich

2) poor

3) poorer

4) very rich

Which of very bestfitsgap 6 ?
1) help

2) prevent

3) keep

4) allow

Which of these fitsgap 3 ?
1) medicine

2) food

3) drugs

4) sweets

Which of verbfitsgap 1 ?

1) will cause



2) cancause
3) may cause

4) should cause

Passage 8

1)

2)

3)

Fire fighters have to be very fit (1) very well trained and
very brave. They have to be fit and strong (2) so sometimes they
need to (3) clime tall ladders, or carry people out of buildings that
are (4) at fire. They must be trained properly because they use a lot
of (5) complicated equipment, not just hoses, but breathing
apparatus too. And, of course, they have to be very (6) courageous
because they often (7) has to enter burning buildings to rescue
people. These buildings can (8) to be very hot and so full of smoke
that the fire fighters can (9) hardly see anything. | would be very
flighted, wouldn’t you (10) .

What s the correct punctuation to be used?
1) comma after ‘fit’

2) full stop after ‘fit’

3) comma before ‘well trained’

4) capital letter requires for ‘well trained’
The word that canreplace ‘so’is __

1) because

2) sothat

3) that

4) justbecause

Which of the following is the correct spelling of ‘clime’?

1) climb
2) climbe
3) cliemb

4) climeb



4)

5)

6)

7

8)

9)

Which word should be used in place of ‘at’ ?

1)
2)
3)
4)

Which of the following

in

on
upon
under

‘complacated’ ?

is the correct spelling of

The word that could best be replaced with

The correctword to be used in place of ‘has’is___

The correctverb to be used in place of ‘tobe’is___

1) complicated
2) complecated
3) compilecated
4) compplicated
1) bold

2) brave

3) confident

4) strong

1) are

2) were

3) have

4) had

1) are

2) be

3) being

4) will be

The word closestin meaning to ‘hardly’is

1)
2)

almost none

almost never



4) never
10) Thecorrect punctuation markto be used _
1) full stop after ‘frightened’
2) capital letter of ‘wouldn’t’
3) guestion mark after ‘you’
4) full stop after ‘you’
Passage 9
Last night | watch a really interesting (1) programme on
television It was all about poler ice caps. (2) Apparently
with global warming (3) the ice is beginning to melt.
There were pictures of mountains of ice break of and falling into the
sea. (4)
1) the correctword in place of ‘watch’is___
1) watching
2) watched
3) had watched
4) were watching
2) The correct spelling for ‘poler’is
1) polar
2) pollar
3) poular
4) poller
3) The correct punctuation

4)

3) scarcely

1) comma after ‘apparently’

2) small letter for ‘apparently’

3) semicolon after ‘apparently’

4) colon after ‘apparently’

The correct phrase in place of ‘break of'is ___



1) broke off

2) break off

3) breaking off

4) broken off
Passage 10

1. There is something rather magical about seeing and touching
snow.

I had been brought up in Africaand I had never seen snow.
Of course | had seen pictures of snow but

I had never seen the real thing. Then one day,

I had the chance to go to England. My grandparents

were getting on in years and my parents

wanted to be closer to them. Finally we left

for England. It was along flight. We landed,

© 0 N o Ok~ Db

went through customs and out of the airport.

=
©

To my amazement everything was white :

H
=

“Snow” | cried. For the firsttime |

H
N

picked up a handful of real snow and

H
w

watched as it melted in my hands.

[EEN
N—’

The word closestin meaning to phrase ‘gettingon’inline 6is__
1) bringing

2) getting old

3) to be late

4) to be shocked

2) The word ‘handful’inline 12 could be bestreplaced with

1) asmall bowl

2) asmallamount

3) asmall number

4) afixed amount



3) The word closest in meaning to the word ‘amazement’ in line 10 is
1) shocked
2)  happy
3) surprised
4) anxious
4) The word ‘magical’inline 1 could be bestreplaced with
1) enjoyable
2) enchanting
3) beautiful
4) pleasing
5) The word opposite in meaning to the word ‘real’in line4dis___
1) actual
2) true
3) artificial
4) genuine
6) The phrase ‘broughtup’in line 2 could be bestreplaced with
1) raised
2) taught
3) born
4) migrated
Passage 11

1)

Complete this passage by choosing the most suitable word phrase
from each list to fit the corresponding gap.

The Narmada Bachao Andolan will perhaps (1) in history as
the longest struggle (2) by people to protect the eco -
system. It also raise the (3) guestion whether in the name
of so - called development, the poor villagers and tribals can be
forcedto(4) ___ theirrighttoland, livelihood and decentliving.

Which of these fitsthegap 1 ?



2) godown
3) goup
4) went
2) Which of these fitsthe gap 2 ?
1) began
2) begain
3) launched
4) launches
3) Which of these fitsthe gap 3 ?
1) fundamental
2) priority
3) real
4) final
4) Which of these fitsthe gap 4 ?
1) gave up
2) give up
3) giving
4) gave
Passage 12
Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.
Calcutta which is recently (1)
emergence and phenomenal (2)
(3 theimmense(4)___ ofthiseastern port
1) Which of these fitsgap 3 ?

1) goes

1) has realised
2) have realised
3) had realised

as Kolkata owes it
to the British who



2) Which of these fitsthegap 2 ?
1) developing
2) development
3) developed
4) develop
3) Which of these fitsgap 1 ?
1) christened
2) re - Christened
3) called
4) spoken
4) Which of these fitsgap 4 ?
1) ability
2) promised
3) profit
4) potential
Passage 13
Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.
A1) stars are known which are hardly (2)
earth, but the majority is so (3)
ofearthscould (4) ____ inside each and leave roomto spare.
1) Which of these fits gap 3 ?
1) larger
2) large
3) small
4) smaller
2) Which of these fits gap 4 ?

4) having realised

1) Is packed

that hundreds of thousands



2) packed
3) be packed
4) will be packed
3) Which of these fitsgap 2 ?

1) big
2) small
3) bigger

4) smaller
4) Which of these fitsgap 1 ?

1) few
2) fewer
3) less
4) least
Passage 14

Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.

Investigations have been (1) for alongtimeto (2)
an environment friendly plastic in the sense that it (3) and
(4) __ apartofthe soil like rotting vegetable scraps do.
1) Which of these fitsgap 3 ?
1) decay
2) decayed
3) decays
4) decaying

2) Which of these fits gap 4 ?
1) become
2) became
3) being
4) becomes



3)

Which of these fitsgap 2 ?
1) produced

2) produce

3) produces

4) producing

4) Which of these fitsgap 1 ?
1) goon
2) goingon
3) wenton
4) gone
Passage 15
Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.
Q) Is a (2) of germination. During sprouting (3)
______enzymesbecome active. The starch stored in the seeds is
(4) __ intosugarslike glucose, fructose and proteins
1) Which of thesefitsgap 3?
1) active
2) inactive
3) dull
4) sleepy
2) Which of these fitsgap 2 ?
1) process
2) processed
3) processing
4) processes
3) Which of these fitsgap 1 ?
1) sprout

2) sprouting



3) sprouts
4) sprouted

4) Which of these fitsgap 4 ?
1) convert
2) converts
3) converted
4) converting
Passage 16
Read the following passage carefully and select the most suitable
option from each list according to corresponding number in the
passage.
1. Columbus found himselfin a perilous
2. sitaation. He observed signs of dissatisfaction
3. amongst his crew. He pretended asif he
4. was ignorant of this but he felt agitated
5. allthe same
1) Inline 3, the word pretend could be best replaced with
1) faked
2) acted
3) sham
4) puton
2) Inline 2, the word dissatisfaction could be best replaced with
1) unhappiness
2) sad
3) miserable
4) dejected
3) Inline 1, the word perilous could be best replaced with

1) risk
2) hazard



3) dangerous
4) critically
4) Inline 4, the word ignorant’ could be best replaced with
1) uneducated
2) unconscious
3) llliterate
4) unaware
5) Which of the following is the correct spelling of the word “sitaation”
1) station
2) stationed
3) situation
4) citation
6) which of the following is the same in meaning to the words “ all the
same” asthey are usedinline 5 above?
1) exact
2) eventhough
3) unimportant
4) alike
Passage 17
Read the following passage carefully and select the most suitable

option from each list according to corresponding number in the
passage.

The history of India is to a great extent
determined by geographical conditions.
To the north, she is shut off by the

gigantic mountain - wall of the Himalayas

a h~ wnh e

running along her northern fronteer.
1) Inline 3, the word ‘shut - off’ could be best replaced with
1) fastened



2) locked up
3) sealed off
4) closed up

2) Inline 1, the word ‘extent’ could be best replaced with
1) length
2) area
3) size
4) expanse
3) Inline 4, the word ‘gigantic’ could be best replaced with
1) bigger
2) enormous
3) highest
4) giant
4) Inline 2, the word ‘determind’ could be best replaced with
1) affected
2) learned
3) controlled
4) decided
5) Which of the following is the correct spelling of the word “fronteer”
1) frontier
2) fronteir
3) frontear
4) frontire
Passage 18
Read the following passage carefully and select the most suitable
option from each list according to corresponding number in the
passage.
The joint family system has undergone
2. adrastic changeinIndia. These are a



1)

2)

3)

3)

number of factors which are leading

toits disintigiration

Inline 4 the correct spelling of the word “disintigiration”is
1) Disintegeration

2) Disintegiration

3) Disintigeration

4) Disintegration

Inline 2, the word “drastic” could be bestreplaced with
1) harsh

2) extreme

3) radical
4) harsher
Inline 3, the word factors’ could be best replaced with

1) pointers

2) reasons

3) examples

4) problems

Inline 1, the word ‘undergone’ could be best replaced with
1) bear

2) been subjected to

3) experiencing

4) withstand



Passage 1

(1)
3)
(1)
(2)
3)
(1)
(4)
(1)

© N o 0k WD RE

Passage 2

(2)
(1)
3)
(1)
(2)
(4)
(4)
(2)
3)
10. (3)
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Passage 3

1. (4)
2. (4)
3. @3

Answer Key

use
inattention
most of
excellent
energy
want
scarce

leisurely

are

African

shy

entirely

herds

men

longer

found

from
Vegetarianism

many
valueable

in



4. (3) ancient
5. (3) used

6. (2) cheques
7. (2) was
Passage 4

1. (i)  sun

2. (iv) water

3. (ii) water

4. (i) cloud

5. (iv) cloud

6. (i) ground
7. (i) riversandlakes
8. (i) cycle
Passage5

1. (iv) years

2. (i)  access
3. () internet
4. (i) network
5. (iv) shared
6. (i)  through
7. (i) giant

8. (i) haveto
9. (i) judgement
10. (i) common



Passage 6

1. (4) say

2. (3) doyoubelieve
3. (3) are

4.  (3)  willsee
Passage 7

1. (4) breeding
2. (3) everyone
3. (3) poorer

4. (2) prevent

5. (1) medicine
6. (2) cancause

Passage 8

1. (1) commaafterfit’
2. (1) Dbecause

3. (1) climb

4. (2) on

5. (1) complicated

6. (2) brave

7. (3) Dhave

8. (2) be

9. (3) scarcely

10. (3) question mark after ‘you’

Passage 9
1. (2) watched



2. (1) polar

3. (1) commaafter ‘apparently’
4. (3) breaking off

Passage 10

1. (2) gettingold

2. (2) asmallamount
3. (3) surprised

4. (2) enchanted

5. (3) artificial

6. (1) raised
Passage 11

1. (2) godown

2.  (3) launched

3. (1) fundamental
4. (2) giveup
Passage 12

1. (3) hadrealised
2. (2) development
3. (2) re-Christened
4. (4) potential
Passage 13

1. (2) large

2 (3) bepacked

3.  (3) Dbigger

4 (1) few




Passage 14

1. (3) decays
2. (4) becomes
3. (2) produce
4. (2) goingon

Passage 15

1. (2) inactive
2. (1) process
3. (2) sprouting
4. (3) converted

Passage 16

1. (2) acted

2. (1) unhappiness
3. (3) dangerous
4. (4) unaware

5. (3) situation

6. (2) eventhough
Passage 17

1. (3) sealedoff

2. (1) length

3. (2) enormous
4, (4) decided

5. (1) frontier
Passage 18

1. (4) disintegration



(2) extreme
(2) reason
(2) beensubjectedto
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Q.44 ‘=91 H Al qerer i 37 # -
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Q.47  TERIT A AT TR

(%) HhHE (@) ThHen

() wFH (%) Ferh
Q.48 Hy@: o WA HLTE, BRI -

(F) Tonef (@) 9gx

() W CHRCTED
Q.49 feran fagioo o Y B © -

(F)TH (@)=

(1) o (9) 9
Q.50 D @S| Ywifehd I8 1 4 @ -

() HeH (@) fagrm

(1) foran foerem (F1) g
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(COREUESEIE (T) AT T
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ANSWER KEY
HINDI GRAMMAR IS USAGE QUESTIONS

@UE (&) ATHT TS IFHART

N o wRE

13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.

(i) 2. (i)
(i) 4. (i)
(iii) 6. (i)
(1) 8. (iii)
(1) 10. (iii)
(i) 12. (iii)
(i) 14. (iii)
(iv) 16. (iv)
(ii) 18. (i)
(i) 20. (iv)
(i) 22. (i)
(1) 24. (i)
(1) 26. (ii)
(iii) 28. (i)
(iii) 30. (i)
(iii) 32. (i)
(1) 34. (i)
(i) 36. (ii)
(i) 38. (i)
(i) 40. (iii)
(iii) 42. (i)
(iii) 44. (iii)
(i) 46. (i)
(1) 48. (ii)
(iv) 50. (i)

51. (iii)
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Q.3

Q.4

Q.5
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Q.6

Q.7

Q.8

Q.9

Q.10
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ANSWER KEY
HINDI LANGUAGE
PASSAGE BASED QUESTIONS

QUE (|) ISATIT, TG0
(ii) 2. (iv)
(iif) 4. (i)
(iv) 6. (iv)
(iif) 8. (iv)
(iv) 10. (i)
(iv) 12. (i)
0 14. (iii)
(ii) 16. (ii)
(iif) 18. (iv)
(iv) 20. (i)
(iv) 22. (i)
0 24. (i)
(ii) 26. (iii)
(ii) 28. (iii)
(iv) 30. (i)
0 32. (iv)
(ii) 34. (i)
(iif) 36. (i)
0 38. (i)
(iif) 40. (iii)
0 42. (ii)
0) 44. (iii)
0 46. (i)
(ii) 48. (i)
(iii) 50.  (iii)



Q.1

Q.2

Q.3

PSA-IX
QUANTITATIVE

Stand Alone Questions MCQ

What is the value of

O I &Y -
%64)%[;x ! [;g
Sl 75%
(@ 2 (b) 9
9 2
() > (d) 9

Whatis the remainder when polynomial

x’—ax®+6x—ais divided by (x—a)?

TEIE X’ —ax’ +6x—a i (x—a) ¥ 9 3 T IThe =1 T2
(@ a (b) 3a

(c) a/s (d) 5a

Inthe given figure if SBAC = 72°amd AB =AC, SACD =?

@ T fo & $BAC =720 q21 AB=AC I SACD 1 HH BT :

A

v

B C D

(a) 54° (b) 126°
(c) 136° (d) 108°



Q.4

Q.5

Q.6

Find the value of —
T 1 e
36.1

102.4

(8) 6.1
34

(c) 19
34
Find the value of —

M 19 A
J/0.00059049

(a) 0.243
() 0.0243

Solve forx—
X T AT J0d H

(25) =(125)™

(@)
(€)

N B~lw

(b) 19
32

(d) 19
31

(b) 0.00243
(d) 0.0273

(b) 0
d) -2



Q.7 Solve-—
TA M ¢

(@) (b)

(d)

Slw S
S SN

(©)

Q.8 Ifnisanaturalnumberthenn(n+1)is—
I N Tk Wehd W@ © dl n (n+ 1) 1 AE ¢
(a) alwaysdivisible by 2
(b) neverdivisible by 2
(c) alwaysaprime number
(d) None ofthe above

(@) 2 9 ue fawfed g 2
(b) 2 @ o =l e 21
(c) Hd TH A & 2|
(d) ST FE T 2l

Q.9 Simplify—
TA M :

(893+786)°-(893-786)*

893 x 786

(a) 1683 () 4
(c) 107 (d) 701898



Q.10

Q.11

Q.12

Q.13

Q.14

Three numbers areinratiol: 2 : 3 their H.C.F. is 12. The number
are:

(@) 4,8,12 (b) 5,10,15
(c) 10,20,30 (d) 12,24,36
A GEsT HT U 1 :2 13 T AMSTHI 4G [2 A HBAMTE
(@) 4,812 (b) 5,10,15
(c) 10,20,30 (d) 12,24,36

If 2994 + 14.5=172then 29.94 + 1.45 =

7fg 2994 +14.5=172 Tt 29.94 + 1.45 &1 A :
(@) 0.172 (b) 1.72
(c) 17.2 (d) 172

If one third of a tank holds 80y of water then quantity of water that
half of the tank hold is :

IS Tk Tk H 1/3 AN T RGN 80 SfeX B ot 3F I o 1/2 9N

PlCIRIS e

@ 5 (b) 100§
(c) 120§ (d) 240y
(a) 82 eftex (b) 100 #fi=x
(c) 120 witex (d) 240 witeX

If 60% of % of anumberis 36, thenthe numberis —

Ife forell T SF 91 T 60% 36 & o F& B
(@) 80 (b) 100
(c) 75 (d) 90

Theequationx- 2 — 44+ 2 has. (wherex#4)
X-4 X-4

(&) onesolution (b) two solutions
(c) nosolution (d) infite solutions

WX_%z 4+2 o (ST x£4)
X_



Q.15

Q.16

Q.17

Q.18

(a) TH &A= (b) < TARI
(c) % &d T2l (d) TEET AT
The zeros of the polynomial x*—9x +20are —

TEUE X2 — OX + 20 ok IH € ¢

(a 4,5 (b) —4,5
(c) —4,-5 (d) 4,-5

b _b+c _cta

Thevalueof XX X js
a b c
X X X
atb b+c c+a
dk eku
a b c
X X X
(@ 1 b) X
(C) Xa+b+c (d) Xabc

In a group of cows and hens there were 25 heads and 70 feet find
the number of cows and number of hens :

(@) 10cows, 15hens (b) 15cows, 10 hens
(c) 12cows13hens (d) 13cowsand12hens

el o Tk gge | T qen gl o Rl o "en 25 qen Sk W1
1 @ 70 |1 M e Gifar o) Gen ga?

(@) 10 7=, 15 gfifar (b) 157, 10 giifat

(c) 12T, 13 gfifar (d) 137, 12 gfifar

If one zero of the polynomial x*—4x+K is 6 thenthe value of K is :



Q.19

Q.20

Q.21

AR X —4x+ K 1 TH AH 6 B dl K T AH BT

(@ 12 (b) 2

(c) -2 (d) -12

If Binu is 10% heavier than Anu and Pinu is 10% lighter than Binu.
Thenwhat can you say about the relative weights of Anu and Pinu.

(@) Pinuisheavierthan Anuby 1%
(b) Pinuislighterthan Anu by 1%
(c) Theyare equal inweight

(d) Pinuislighter than Anu by 99%

I & 1 oI5 o o oS W 10% 3ATeeh & e 9 1 oo o o
o5 § 10% HH & a1 31 o oI5 oh GYel T T oo T e
() I T I 3T o oo ¥ 1% 3Tfush 2|

(b) I T o< 31 & o H 1% FH B

(C) STh! oS HHM 2|

(d) T S 37T o oS F 99% A 2

A businessman sold two coolers for Rs. 9,900 each making 10%
profit on one and losing 10% on the other. His gain or loss
percentage on the two coolersis:

(&) nogainnoloss (b) lossof1%

(c) gainofl1% (d) gainof5%

Tehe I < 19 salen 1f aha9 900% 939, faa +f gameg T s
TS T I 10% T M9 T T T 10% T BT g3 1 I Ford
o fasha o 3 fohae gfaera @ steen g1y ga|

(@) HIS AT A g &I (b) 1% =i BT

(C) 1% 1oy (d) 5% T T

Divide Rs. 391 into three parts which are proportional to the ratios
6:8:9

(a) 102,136,153 (b) 136,102,153

(c) 101,140,150 (d) 195,120,76



Q.22

Q.23

Q.24

Q.25

391 T99 i 3H YR <4 9 B fafsd &3 for Sert 914 6:8:9 B
(a) 102,136,153 (b) 136,102,153
(c) 101,140,150 (d) 195,120,76

Three items of a sample are in the ratio of 1:2:3. The mean of third
and second item s 30. The third itemis:

Teh Gehotd oh T ShS! ol UM 1:2:3 B1 A TR a1 dIER 3Thg

1 H1EF 30 © l AER SRS HTAAE ¢
(@) 40 (b) 38
(c) 32 (d) 36

A bag contains 7 red balls 6 green balls 4 black balls. A ball is
drawn randomly from this bag. What is the probability of the drawn
ball is to be white ball?

T O | 7 A, 6 T SR 4 el 1§ AgmsmEn 9 § ¥ T ]
frehTel STt & | TreRTelt 71 915 o e B1F 1 WTTehdl &R g1l ?

(@ 7 (b) 6
17 17

(c) 4 (d) 0
17

Two dice are tossed. The probability that the total score is a prime
no.is:

T Y Tk T 3IVTA T Wifaendr 19 HifeT for 9 st 1 am
T AU T ®

(8 L (b) 5
6 12
© L @ 7
2 10

Radius ‘r’ of the base of cylinder and sphere are equal. The
volume of both are equal, the height of cylinder is :

Teh 9o o STUR d a1 B3 ¢ 99 21 IS 3ok STRIaA STeR
2l a1 Jo ki ST 1 B



Q.26

Q.27

Q.28

(@ 4y (b) 3
3 4
Ay

© 9, (d)
16 3

Sum of the exterior angles of a Quadrilatral is :

forelt =gt ok SfgshIvT 1 0T BT &

(@) 270 (b) 306

(c) 630 (d) 360

If DC||AB the values of xandy are :
few e o= & 9fE DC||AB @ x qeNy oh A & -

A B
u x
Y
55
D C i’
(@) (45°,25°) (b) (25°,65°)
(c) (300,459 (d) (45°,30°)

What type of quadrilateral ABCD is if JAOB =90°?
=qsfst ABCD # aifg [JAOB = 90° &l dl 98 foh e YR 1 @ -

D C

A

(a) Rectangle (5) Parallelogram
(c) Rhombus (d) Allofthem
(a) =T (b) HHIR =g

() wH=gdw (d) T Tsh



Q.29 Thediagonals ofarhombus are 18 cmand 24 cmone ofits sideis:
Teh qHEG o foeRull sl AT A: 18 A qo 24 T |1 SHHT

(a) 14cm (b) 16cm
(c) 17cm (d) 15cm

Q.30 Findthe area of equilatral triangle of sideis2cm :

2 THT SIS oTe] WHaTg, Tt T &t B -

(@) 4v3cm (b) V3 cm
4
(c) V3em’ (d) 6cm2

Q.31 Incircle (O, r)ABisthe chord and OADB =76°. Find JAOB
T (O, r) ® Sfiel AB & [JADB = 76° @ JAOB =1 9 &I -

(@) 67° (b) 78°
(c) 87° (d) 152°

Q.32 In the figure given below find the value of OPOR. (POQ being a
straightline)is:

et afa & DPOR &1 W 311 &1 (A% POQ Tk & 1@ ©) -

(a) 60° (b) 45°
(c) 30° P T (d) 35°

Q.33 Which one of the regular figure has the interior angle less than the



Q.34

Q.35

Q.36

exterior angle.

(&) Triangle (b) Square

(c) Pentagon (d) Hexagon
fhe FHATE SES h1 3Td:h U1 ATEShHIT W HH Bl 2-
(@) B (b) =i

(c) TaYS (d) WSt

In the figure given below AD, intersects the angle OBAC in the
ratio 1:3 amd AD = DB. Find the value of x.

f7m aTRfa § AD, OBAC =1 1:3 # fawifoa st € 31k AD = DB 21

x 1 71 faifa wifsa) E
108

B D - C

(a) 108 (b) 54

(c) 72 (d) 90

ABCD is asquare. Find the coordinates of pointsAand C.

ABCD T =it 8 faig A qen C o fdenss 3 +i|

A ")
(-Dl,-2) )
(@ A(1,-2) C(2,-2) (b) A(1,3) C(2,2)
(c) A(-1,3) C(2,-2) (d) A(2,2) C(3,-3)

Find the area of the given figure.



Q.37

Q.38

Q.39

3TMR{d H T T J@UE 1 &AHA A HITST)

V731t
8ft

5ft

(a) 56ft2 (b) 58ft2
(c) 63ft? (d) 78ft2
Diagonal of a square field is 40 m find the area of the field.

Teh SRR W o1 TR0t 40 . e 21 ©d &1 &% J1d FL
(a) 800m?2 (b) 400 m?
(c) 600m? (d) 40v2 m’

One chord of a circle is 10 cm in length. The radius of circle must
be

(a) 5cm (b) greaterthan5cm

(c) greaterthanorequalto5cm (d) Lessthan5cm

Teh o § Weh Sia o ofeE 10 T € o< o1 52 1 ofee g1
() 59

(b) 5 9t 9 Afere

(c) 5 UHI g 3ifyes A1 5 9HY o SR

(d) 59t 9 =%d

Two circular cylinders of equal volume have heights in the ratio 1:2
ratio of their radiiis :

T ol IR Sl T ST SR € AU Seh! Sa1gdl ol STUrd 1:2
21 ST et w1 A T it

(@) 12 (b) v2:1

(c) 1:2 (d) 1:4




Q.40

Q.41

Q.42

Q.43

If the diameter of the base of a right circular cylinder is equal to its
height h then its total surface areais :

Teh AT ot o STHR 1 o1 SHh! SHaTs o ael € o SHeh
Ui g3 &Sl B -

(a) 2mn’ (b) 3 mn’
2
(c) 4 mh’® (d) Th?
3

If the height and radius of a cone of volume V are doubled, then the
volume of new coneis:

% T Wi Torqant 31ara v € for fson qen S ot A1 o e
ST I 7Y Siep o1 S § -

(@ 3V (b) 4V

(c) 6V (d) 8v

Asphere and cube are of same height. The ratio of their volume is :
T Tl 37 5 1 Segdl U @ Soh Y| sh1 ST © -

(a) 11:21 (b) 3:4

(c) 2111 (d) 4:3

Inthe given velocity time graph, which part represents retardation:

(s) (m/s)

velocity (m/s) ——>

o

Time (cs) ——>

(@) OA (b) AB
(c) BC (d) CD



2T T ATT-HHI T, i1 T SR OTHE =01 <91 @1 8 -

E
A C

@ D

S

3 B

le; (s)
(a) OA (b) AB
(c) BC (d) CD
Q.44 Weight of aboy on earthis 60N. What will be his weight on moon.
(& 60N (b) 10N
(c) 10kg (d) 60kg
Jeall T Teh TSk ol AR 60N FXHT T IFhT 9R TR -
(& 60N (b) 10N
(c) 10kg (d) 60kg
Q.45 The commercial unitof energy (1 kwh)is equalto:

(@) 3.6x10°kJ (b) 3.6x10°kJ
(c) 306x10°kJ (d) 3.6x10°kJ
Sl 1 SATEEIIR H5eh (1 khw) S ® -
(@) 3.6x10°kJH (b) 3.6x10°kJsh
(c) 306x10°kJ=h (d) 3.6x10°kJ%h

Q.46 The weight of a woman is 500N at the equator. Her weight at the
poles would be :

(@) morethan 500 N (b) lessthan 500N
(c) equalto500N (d ON



Q.47

Q.48

fepelt St o1 R fererd 90 W 500N 21 ¢feli TR SHehT R B -

(a) 500N 31fren (b) 500NH FH

(c) 500N (d ON

A cuboid box has dimensions 20 cm x 10 cm x 5 cm. The surface
that will exert maximum pressure on a table would be :

(@) 20cmx10cm

(b) 10cmx5cm

(c) 20cmx5cm

(d) Allthe surfaces will exertthe same pressure

Tk Y1y TR formT 20 cm x 10 cm x 5 cm 21 19 &1 fohd Tdg g1

ol Afen 3@ gfauiad g -
(@) 20cmx10cm
(b) 10cmx5cm
(c) 20cmx5cm

(d) |+t T8 IR @ Fiiad |

While going to his school, a boy starts from A, takes the path AB,
BC, CD, DB and reaches B as shown in the figure. The total
distance covered and the displacement of the boy would
respectively be: ,

C
B 5km D
(& 16km,5km (b) 5km,16km
(c) 16km,6km (d) 9km,5km

Teh TSl faamerd &1 3R S g¢ ‘A’ § URY Y F=g8R 921 AB, BC,
CD, DB ¥ 2 gU ‘B’ d% Ugadl &1 dgeh g q9 &1 TE T I ST
oo swsT: B -

(@) 16km,5km (b) 5km, 16 km

(c) 16km,6km (d) 9km,5km



Q.49 The distance time graph for the motion of two friends Vijay and
Sameer is given below which of the following statement is true?
K N
Vijay
Sameer

—>

Time

S
rd

Distance ————

(&) Sameeris moving faster.
(b) Both Vijay and Sameer are moving at the same speed.

(c) Itis not possible to find out the relative speed of Vijay and
Sameer.

(d) Vijayis moving faster.
I e fawg @i gHR *1 fa & faw < 9w o g w2

frefafad o © SH-91 %oF 9 ¢

A

fot;
T I ehj

(¢]
-

njh
(a) HHR 3rvetreha el a9 = @1 2|
(b) Torsm 3R S gHE fd 9 =el @ 2|

(c) U W R IR faera ot Trder T qred 3T Hord e 2
(d) focm erdemera e fd @ =t @1 2|




Q.50

Q.51

Q.52

Q.53

Train starts from a city Aat 6.00 am and reaches the city ‘B’ at 8.30
am. If the distance between the two cities is 160 km the average
speed ofthe trainis::

(@ 70km/h (b) 60km/h

() 74km/h (d) 64km/h

F1g IOTMS! el IET F 6.00 am T AT Hich el T IEX H
8.30 am W gt &1 A% ST I1ei o s 1 g 160 km @ 3ot B
3Gt =T © -

(@ 70km/h (b) 60km/h

(c) 74km/h (d) 64km/h

Which one of the following has maximum number of atoms :
(@) 12gofH,0 (b) 12gofO,

(c) 12gofCoO, (d) 12gofCH,
frefafea o o frad Tmmgst &1 gen stfusan grft?

(@ HO d12g (b) O,d12g

(c) CO, d12g (d CH,d12g

The number of electrons in an element ‘X’ is 11 and the number of
neutrons is 12 which of the following is the correct representation
of the element.

(a) 23X (b) 23 X

(c) 12 X (d) 11X

waaﬁg@aaﬁﬁu@nlaﬁwz@ﬁﬁa@rlz%mwﬁfmﬁ
Y hIF-91 qed X ] FE 989 @ -

@) 23y ®) 23

() 12)( (d) 11 X

One mlcrometre is:



Q.54

Q.55

Q.56

(@) 10”°metre (b) 10°metre

(c) 10°metre (d) 10 metre
T AEFHHR B e -

(a) 10°HIX (b) 10°HteX

(c) 107°HX (d) 10™Hx

An object weighs 14 N in air when immersed fully in water, it
weighs only 11N. The weight of the liquid displaced by the object
willbe :

(& 25N (b) 14N

(c) 3N (d) 11N

foreht fig w1 g ® 9 14 N @ STt § gal W 36eh1 IR sheel 1IN ©
e gr forenfud S/ 1 9R 1 -

(@ 25N (b) 14N

(c) 3N (d) 11N

Aboy is carrying a school bag of 2 kg mass on his back and moves

100 m on a levelled road. The work done against the gravitational
force will be (=10 ms™)

(@) 3x10°J (b) 27

(c) 2001J (d) Zero

FHIE ASH 3T T3 W 2 T =M *1 9% I3€ Fhell gHaa
T W 100 H. T T 7 FIT 21 SHoh 5T TRy 9t oh foeg
feRa ST aTet 1 B8R (g = 10 ms ™)

(@) 3x10°J (b) 2J

(c) 20017 (d) Zero

Sound produced by a thunder storm is heard 8 s after the
lightening is seen the approximate distance of the thunder will be
(speed of sound =340 m/s)

(@ 2.72km (b) 3.72km

() 1.72km (d) 4.72km

fohell afsasisn g1 S =af dfed <@ <7 o 8 s 9% §AE adl 2
TSI H¥ 1 Hi=Tehe S AT (#4191 =1 = 340 m/s)

(@ 2.72km (b) 3.72km




Q.57

Q.58

Q.59

(c) 1.72km (d) 4.72km

The suitable scale for the measurement of the length of an adult
round worm (Ascaris lumbricoids) found in small intestine is :

(@ cm (b) mm

(c) pm (d) m

T 5 MAFH (TEHRE Felhleleq) Bt sifa o I S 2
THeh 3R h! HIY o foTu Sfad Thed (AT9 1 dXieh1) BT -

(a) 9. (b) Tt

(c) WX (d) .

The speed of sound in Air is 331 m/s at 0°C. On increasing the
temperature of air from 0°C to 25°C the speed of sound will :

(@) Decrease

(b) Increase

(c) Remainsthe same
(d) FirstDecreasethenincrease

gal | wafd 1 7fq 0°C 9w R 331 m/s Bl €1 98 TIfd 0°C draHH
1 25°C Th &M W -

(2) = (b) s

(c) T M W@ (d) vt =t fRs e

F, force is required to accelerate 2 kg of mass at 5 ms™ and F, force
is required to accelerate 4 kg mass at 2 M/s’

(&) F.=F, (b) F,>F,

(c) F,<F, (d) None ofthese

F, ot 2 T Seq9M ol 5 ms2 9 i il &1 F, <l 4 Tntn geaam
1 2m/s2 ¥ T T 2|

(&) F,=F, (b) F.,>F,

(c) F,<F, d) SWI H HIE T8l




Q.60

Distance (km)

04 08 1.2 1.6
Time(hr)

In the above distance time graph which among the fours travelling
the fastest speed:

(@) B (b) C
© A (d D

SUgerd THE T Uh § fepeent i atfues € -

N

B C

njh ifd-ef4

04 08 12 16
le; 1%AVh

(@ B (b) C
© A (d D



N wRE

13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
55.
S7.
59.

(d)
(b)
()
(b)
(b)
()
(b)
(@)
(@)
(b)
(@)
(d)
(@)
(b)
(d)
(d)
(@)
()
(@)
(b)
(d)
(b)
(b)
(b)
(@)
(d)
(b)
(d)
(@)
(b)

ANSWER KEY TO QUANTITATIVE

STAND ALONE MCQ

2.
4.
6.
8.

10.
12.
14.
16.
18.
20.
22.
24,
26.
28.
30.
32.
34.
36.
38.
40.
42.
44.
46.
48.
50.
52.
54.
56.
58.
60.

(d)
(b)
(©)
(@)
(d)
()
(b)
(@)
(d)
(b)
(d)
(b)
(d)
(©)
()
()
(d)
(@)
(b)
(b)
(@)
(b)
(@)
(@)
(d)
(@)
()
(@)
(b)
(@)



QUANTITATIVE
Passage Based MCQ
Passage No. 1

A survey was conducted among 1200 people of Delhi speaking different
languages, which is shown in the given figure. Calculate the following as
per given figure.

=

Punjabi Malyalam
itich ey:lye

English
vxth

Hindi
fgUnh

150°

Number of Hindi speaking people are :

() 150 (i) 45

(ii) 500 (iv) 60

How many people speak Punjabi?

(i) 150 (i) 45

(i) 90 (iv) 300

How many people speak Hindi and Tamil both together?
(i) 180 (i) 600

(i) 280 (iv) 380

How many more people speak English than Malyalam?
H 25 (i) 50

(i) 76 (iv) 67



feoett o fafi= smand siem aret <Rt 61 deRror fhan e, fS| et 1200 @
it gu S Sent He o 3t o e o <eiien T 21 Fost ot were | widRy
e

Punjabi Maly_alam
itic) ey;lye

English
vxth

45°

Hindi
fglnh

150°

et dier aTel i forae 872

() 150 (i) 45
(i) 500 (iv) 60
TTrel} s STl R hl HE R R ?

(i) 150 (i) 45
(i) 90 (iv) 300
o= 3T dffrel dier arel ST o1 S aarsti|
(i) 180 (i) 600
(i) 280 (iv) 380
HeTaTerd el aTell 9 ST die ol o1 e fhdt atfies 272
(i) 25 (i) 50

(i) 76 (iv) 67



Passage No. 2

The expenditure on education in 1951-52 increases from 0.64% to 3.98%
in 2002-03 (Budgetary estimate). The literacy rate have increased from
18% in 1951 to 65% in 2001. Literacy is not only aright, it is also needed if
the citizen are to perform their duties and enjoy their right properly.
However, a vast difference is notice across different sections of
population. Literacy among males is nearly 50% higher than females and
it is about 50% higher in urban areas as compared to the rural areas.
Literacy rates vary from 96% in some district of Kerala to below 30% in
some parts of Madhya Pradesh.

1. Howmuchistheeducation budgetafterincreasingin 2003?

@i 18% (i) 64%
(i) 96% (iv) 3.98%

2. Findtheincrease inthe education budget from 1951 to 2003.
i) 47% (i) 96%
(i) 3.34% (iv) 50%

3.  Howmuch hasthe literacy rate increased from 1951 to 20017
(i) 75% (i) 65%
(iii) 30% (iv) 96%

4. Inhow many districts of Kerala the percentage of literacy rate is
more as compare to Madhya Pradesh?

(i 30 (i) 66

(i) 65 (iv) 90
e o ®9 H e W T 1951-52 o folw 0.64 GfaeTd & sgaht 2002-03 H 3.98
Hiaerd (SIS SAM) B T 2| SEE WAl <X 1951 o 18 v ¥ ageht 2001
H 65 wfderd &1 T Afecnsti w1 TueT qeu § WeRdl R w49 50 Ufera A €
TR TTeftoT &Sl ShY STden T e H qgent  QeRdl X wie q=d gfaerd eifie 2
e o Fo foal | Trerar T 96 Ffawid @ Sefeh T2 Wow & %o 9l H I% 30
whe § == 2

1. 2003 ¥ f3ren arie sget foham wfaera &t Tn?




() 18% (i) 64%

(i) 96% (iv) 3.98%

1951 ¥ 2003 ¥ f¥1em s1e # gfg gfaed sasy)

()  47% (i) 96%

(i) 3.34% (iv) 50%

2001 T HIRAT T TG foha- fawrd &l T2

() 75% (i) 65%

(i) 30% (iv) 96%

el o o Torell § Te weer 1 g o e wfaera e sifiren 22
() 30 (i) 66

(i) 65 (iv) 90

Passage No. 3

In a school there are 120 students in class IX. In the physical education
period 88 students play cricket, 65 students play hockey while some
among them play both cricket and hockey. If one student is picked at
random.

If one student s picked at random find the probability that —

1.

He plays cricket.

i 11 (i) 11
15 12

(i) 7 (iv) 7
15 11

He plays hockey.

i 13 (i) 13
21 20

(i) 13 (iv) 12

24 30



He plays hockey as well as cricket.

(i 22 (i) 11
40 40
i)y 12 (iv) 4
40 20

If one studentis picked who plays cricket also plays hockey.

i 3 (i) 5
8 8
(iiy 2 (iv) 1
8 8

ek Tt o wmen 7ol § et 120 o 81 IR ¥1en o ey § 88 BT fowehe
AT 65 BT Bleh! Werd € Sfaifeh 31 Bl | o o6l 4H O T 2l

IS Teh BT ! AGoTE AT 741 Al Treafiendl A1 o -

1.

% fohene Waord 2|

@ 1 (i) 11
15 12

(i) 7 (iv) 7
15 11

IE Eieh! T 2|

i 13 (i) 13
21 20

(i) 13 (iv) 12
24 30

o Blen! o fehohe <A1 Wel Wetdl 2|

i 22 (i) 11
40 40

(i) 12 (iv) 4

40 20



4, A Tk UE BT T ST S fshehe Wordl @ o8 gieh! i Terdl 2|

i 3 i) 5
8 8
(iiy 2 (iv) 1
3 8

Passage No. 4

Four friends Manan, Chandan, Sanam, Naman are standing at one
unit distance away from the origin in cartesian plane such that their
co-ordinates are (1, 0), (-1, 0), (0, 1), (0, —1) respectively. Manan and
Chandan are facing each other while Sanam and Naman are facing each
other. All the four friends moved three units distance on their right reached
at new points.

Now answer the following questions on the basis of above passage :
1. Now,whatare the co-ordinates on which Manan is standing?

@ (31 (i) (-1,3)
@iy (1,3) (iv) (3,-1)

2. Nowwhatare the co-ordinates on which Chandan is standing?
0 31 (i) (-1,-3)
@) (1,-3) (iv) (3,-1)

3.  Now, what are the co-ordinates on which Sanam is standing?
0 31 (i) (-1,-3)
@i (1,3) (iv) (3,1)

4. Now, whatare the co-ordiniates on which Naman is standing?
@ (3-1) (i) (-1,-3)
@) (1,3) (iv) (3,-1)

=R 53 791, T, 999, T Fifad ad R g fog 9 T 3R g W 3 YRR g8
g T 396 fdei= (1, 0), (-1, 0), (0, 1), (0, -1) &1 H4 3R ==A & q@
Teh-W 1 3R B 1 G0 o T 1 G@ Toh-OR 1 3R 2| =R o eroet <
AR 1 3HTE BT T 7T Foh T Fefd R wE=d 2

UK 370 T T § 1 7l o Wt ST sy -



1. 31d 7 fop fodenier W @e1 €2

@ 31 (i) (-1,3)

(i) (1,3) ) (3,-1)
2. 3d eA fory feeid e R?

@ (31 (i) (-1,-3)

(i) (1,-3) ) (3,-1)
3. o gm foha fadeniss W @er €2

@ 31 (i) (-1,-3)

@iy (1,3) (iv) (3,1)
4. 3 A T Tl WEer 82

@ (3,-1) (i) (-1,-3)

(i) (1,3) ) (3,-1)

Passage No. 5

In the given square sum of the rows and columns is given. Find the value
ofthe given variablesA, B, C, D.

A A A D 26
D B B B 32
D B B C 35
D D C C 42
38 30 29 38 135

1. ThevalueofAis
@M 5 i) 7
(i) 10 (iv) 11



2. ThevalueofBis
@ 5
@ii) 14

3. ThevalueofCis
@ 7
(i) 14

4. ThevalueofDis
@ 7
(i) 15

(i) 7
(iv) 12

(i) 10
(v) 8

(i) 11
(iv) 9

few wTu ot | wfered qen orvsed A iR TR A, B, C, D SHSIeh 1 919 31d 3l

A A A D 26
D B B B 32
D B B C 35
D D C C 42
38 30 29 38 135

. STHAFANT
(i) 5
(i) 10

2. HATHEBHIAAR
(i) 5
(i) 14

3. ANk CHIAMR
i 7
(i) 14

(i) 7
(v) 11

(i) 7
(v) 12

(i) 10
(iv) 8



4-

=I5k D 1AM ©

o 7 (i) 11

(i) 15 (iv) 9
Passage No. 6

The following bar graph gives the information of the sales of the books
(in thousnads) of six languages during two consecutive years 2010 and
2011.

1304—

91204
(o]
21104
S 1004
[

-890
@ 80
(%)
> 70
o
< 60

+—

£ 50

B 40

I
o 30
20

10

AN
AN

NN

AN

AN

AN

2011

0 English  French  Hindi Sanskirt Germon - Spanish
Books - 2010

Now answer the following questions based on above bar
graph:

Total sale of English, Hindi and German books (in thousands)
for both years:

(i) 250 (i) 310

(i) 435 (iv) 560

What is the ratio of total sale of Spanish books in both years
and total books of Hindi in both years?

() 10:11 (i) 8:11

(i) 11:10 (iv) 5:34

What is the average sale in thousands of all the books for the



year 20107

@ 73 (i) 80

(i) 83 (iv) 88

What is the ratio of the total sale of French books as compared
to the sales of Sanskrit books for both years?

@ 2:3 (i) 3:5

@ii) 7:9 (iv) 5:7

T 3 3o S: TSt i G&aeh! &1 99 2010 @A 2011 H §E oA ToIhT ol S0

2 -

< 90 -

c

@« 80 -
%)
3570 -
o
£ 60 -
£ 50 4

N

@ 40 H

c

1304
& 1204
(o]
9 110
S 1004
[

o 30 A
20 -

10 —

- I B
- |
= v v e 1 P |
e e = 1 | 2011
0 English French é—lolg% Sanskirt Germ Spanish
/- 2010

ST T ATeE oh STHR R = 91 o I I -

ST, Tewt e ST T 1 ekl okl <l el o gg ferent (B9 H) ® ¢

() 250 (i) 310

(i) 435 (iv) 560

Tfrer o w1 S ol W g ferht den fe= s S ol o gF ferht
ST 1 €2

() 10:11 () 8:11

(i) 11:10 (iv) 5:34



3.

o 2010 ¥ g2 el Txishi b1 faeh! (TR H) o1 d 1 22
@ 73 (i) 80
(i) 83 (iv) 88
T oo o Y AT R EdeR] i ool faihl AT S ool § EEhd W1 Wi
! 1 ot farent 1 STuTa =11 €2
() 2:3 (i) 3:5
(i) 7:9 (iv) 5:7
Passage No. 7

Sound is a kind of energy and it needs a medium to travel as it is a kind of
longitudinal wave. The speed of sound in different medium is different.
Along with the nature of the medium temperature also affects the speed of
the sound. At 25°C speed of sound in some medium is given below :

1. Air — 346ml/.s
2. Water (Distilled) — 1498 m/s
3.  Water (Sea) — 1531m/s
4. FlintGlass — 3980m/s
5. Steel — 5960m/s

Sound energy gets reflected through a suitable reflecting surface. An
echo is a reflected sound which is heard separately. The sensation of
sound persists in our brain for about 0.1sec. To hear the echo clearly at
22°C, the minimum distance between the source of sound and obstacle
should be 17.2 m as the speed of sound in air at that temperature is 344

m/s.

1.

The speed of sound is more in sea water than in distilled water
atthe same temperature because of

() taste of seawater is different from distilled water
(i) density of sea water is more than distilled water
(i) seawater can conduct electricity

(iv) animals can survive in seawater.

An echo is returned in 3 sec. at 22°C in a hall. What will be the
distance of reflecting surface from the source.



3.

() 1032m (i) 516m

(i) 258 m (iv) 344m
The speed of sound in space will be

(i) Om/s (i) 332m/s
(i) 596 m/s (iv) 1498 m/s

In the same medium the speed of sound
() increase withtemperature

(i) decreaseswithtemperature

(i) remains same

(iv) firstincrease thendecrease

ta Sl o1 b &9 8 518 wer o folt ok H1eam o1 STavarehdl gidl €1 eaf a3
e Ul €1 et Y = Tt el | fae-fae gt @1 Jea &1 wehtd o
1 A ot LAt Y e bl GIfed il 81 o WieFH § 250C W LAt i =e

e afam df e -
1. d9g - 346m/s
2. N (3AA) - 1498 ml/s
3. 9 (FED) - 1531m/s
4. wra (ffe) - 3980m/s
5. - 5960 m/s

1 Sl Tk Yk g W THY HL YT 1 Aifd Gafdd gidt 81 ufaeaty wh
WEfdd st 7§ S gor a7 @ ofem AR 1 TR AfEsk § et w1 gae
T 0.1 sec. T I W@l 8| T Yfaeaft G- oh T 7t eafd qen afia o
T 0.1 sec. 1 99 TS ST BT A6 22°C AIHM TR T Yiaeaf i g
o T 9Id 9 9edeh 98 o o< i 34 A § A 17.2 m Ml A6 @i 36
AHE T eaf i oy | =l 344 m/s B 2|

1.

Tk & AIHA T G STl § wafd Y = g Sl @ Sfuss gt § it -
(i) T <1 1 TR TG o ¥ =1 ghetn 21



(i) Tl STt o1 S STgA STt § 2Aferehs e 2|
(iii) e STt feega 1 Hemere 2
(iv) sl Tt o sfa sfifed ® ded €

2. HE Ufqeat 3 Hohve qvET GAE <A §1 Tekie HaE T 9id & o i gl
1 TN ?

() 1032m (i) 516m
(i) 258 m (iv) 344m

3. ofaRer o saf+ =i =1t = g ?
i Om/s (i) 332m/s
(i) 596 m/s (iv) 1498 ml/s

4. T & HIEH | LA i =
(i) oA Eeaaeddl (i) a9 o w8
(iii) e S_ema 7= =@ (iv) Tect ot & R st 2

Passage No. 8

In everyday life, we see some objects at rest and others in motion. An
object may appear to be moving for one person and stationary for some
other. Most motions are complex. Some objects may move in a straight
line, others may take a circular path. The simplest type of motion is the
motion along a straight line. The shortest distance measured from the
initial to the final position of an object is known as the displacement.

If the object covers equal distance in equal intervals of time, itis said to be
in uniform motion. During uniform motion of an object along a straight line,
the velocity remainse constant with time. In this case, the change in
velocity of the object for any time interval is zero. However, in non-uniform
motion, velocity varies with time. Non-uniform motion is of two types —
uniform acceleration and non-uniform acceleration. If a car travelling
along a straight road increases its speed by unequal amount in equal
intervals of time, the car is said to be moving with non-uniform
acceleration whereas, if its speed increases or decreases by equal



amount in equal interval of time, it is said to be moving with uniform
acceleration.

The table given below shows distance (in metres) travelled by three cars
A, B and C. Read this data carefully and answer the questions that follow :

Distance (in metres) covered by three cars

Time CarA CarB CarC
1st second 5 5 5
2nd second 5 10 8
3rd second 5 7 11
4th second 5 9 14
5th second 5 15 17
1. Whichofthe carsis moving with uniform motion?
O A (i) B
(i) C (iv) B&C

2. The car that covers the maximum and the minimum distance in
the 3rd second respectivelyis:

i A&C (i) B&C
(i) C&A (iv) A&B

3. Which of the car is moving with uniform acceleration?
n A (i) B
@i C (iv) B&C

4. Howmuchdistanceis covered by thecarBin5sec.?
@i 15m (i) 46m
(i) 25m (iv) 55m

ek Sftad § B0 o aall % fauraeen § a1 oo ol Sl TiHe sreren §
T ¢ Tt =afed o fore weh g% Tfaefial weid &1 "ehdt 2, Safe g & fag
feer| st it Sifect gt €1 5o a&qy deft @ |, 9 F9 a5 I9E 19 W
T B Fehel €1 T o1 Fed WHROT YehR Tl 1@ i 2| o i ARk |
aiferm feerfe oh el sl =gam S0 ol or%q 1 foreeno whed €|

& THM FHATIA W GHM T T Fl € A SHhT T hi THEHH T hEd



forelt g &1 THEEH W W T % SRE WA o Wi 97 e @ R 39
teeen ¥ ot oft graieRer o 9% & a7 o URerd= 3 €1 F=f saHe fa o S5
T o |1 iafdd g @1 STEH T < YhR 1 et @ - FHM @Rl 3R STEHE
7| IS T HR el g5 W Fed gT 9HE FHAAUA W STHAN X H 91 6l
IREfdd et €, T el Sl ¢ o SR STEHM ©Rol o 12 Ta9H 21 369eh faodid,
TH T 1 o THM FHA | THF &Y Y Sl 1 9841 € ql 34 THEHM o1 9
AT gl ST 1

= <t T WOl i FR A, B IR C gR T i T 30 = 21 R T et
e Ifgq 3R e T e gt & s ifee -

T wR g w T g (WX )

HHY SIA SR B %R C
1st IdiM 5 5 5
2nd 1diM 5 10 8
3rd 1dM 5 11
4th 1dM 5 14
5th 1diM 5 15 17

. HHE-9 SR THHM T @ 22
@B A (i) B

(i) C (iv) B&C

2. R Yhve § efushad SIR a9 i 99 S drell R A T -
i) Avijc (i) BwkjC
(i) CVij A (v) AVijB

3. THHEH @ 9 ¥oH dell FR R -

i A (iy B

(i) C (v) BWkjC
4, 5UFTSHFRBEU TR T -

() 15m (i) 46m



(i) 25m (iv) 55m
Passage No. 9

There are two forms of mechanical energy in an object — kinetic energy
and potential energy. Kinetic energy is associated with an object’s motion,
while potential energy is the stored energy in an object as a result of its
vertical position i.e. height. The total amount of mechanical energy is the
sum of these two forms of energy. A group of students are studying the
relationship between the Potential Energy(PE), Kinetic Energy (KE) and
total mechanical energy (TME) for a cart rolling down and up on the incline
plane. The four different locations of the cart in (cm) are given below in fig
1 and energy values of the cartin fig 2. On the basis of these observations
answer the following questions.

150

Fig. 1 (Four locations of the cart)

Location KE.(J) | PE.(J) |TMEQ)
A 0.505 0.603 | 1.108
B 0.000 1.107 | 1.107
C 0.366 0.743 | 1.109
D 0.845 0.263 | 1.108

Fig. 2 (Energy values of cart (in Joule)

1. Atwhich position, the potential energy is minimum?
() 0.50m (i) 1.00m
(i) 1.20m (iv) 1.45m
2. Which conclusion regarding the total mechanical energy (TME)



of the cartis right with the data values?

()

(ii)

(iif)

(iv)

The TME increases as the cart rolls upward decreases as it
rulls down.

The TME decreases as the cart rolls upward and increases as
itrolls down.

The TME decreases as the cart rolls upward and decreases
asitrolls down.

The TME remains constant during the cart’'s motion along the
incline plane.

During motion of cartfromlocationCtoD:

()

(i)
(iif)
(iv)

Both the K.E. and P.E. increases

Both the K.E. and P.E. decreases

The K.E. increases and P.E. decreases
The K.E. decreases and P.E. increases

For which of the following positions along the track does the
carthave the smallestK.E.?

(i)
(iii)

30cm (i) 90cm
50cm (iv) 150cm

fordt a9 W el 1 7

oft o T YRR B € - (1) TS it qen (2) Fearfas st ot g o St 7ifa
o T ffgd St o1 Tfast o1l hed €, Seifen Tt a5 g1 sue! fearfa (S1E)
e forarg & qiad= o SHRoT Gied S 6 fefas] Sofl sed 81 o%q o Sufer
el AT ol 1 T TSt Soit o Fefast ST o6 91T o sIe gl 81 ol o

T IE - T 2l hl A a1 W SR TF = i 3R T HIA T TSt S,

Featfast et & if3Ten o1l o TRER FaY 1 L9 = YRR fhamhard o STaR

g B

Sieht = fafe= = fafsa feafat ot fom-1 o <wrten 7o @ qen et § =1 o1 o=
foe-2 o wef¥fa 21 fetifend oTishsi o SeR W 99 o Sw <o -

ICES!



0.505 0.603 1.108
0.000 1.107 1.107
0.366 0.743 1.109
0.845 0.263 1.108

faa-2 (2feft & ot o H7M)
. fre fef & =0 fefs st 22
() 0.50m (i) 1.00m
(i) 1.20m (iv) 1.45m
2. el o oot AR Sl o Wi o AR 1 Sfea frehd fshoran €2

() el &1 Mad a9 & Weh 181 1 fae 9 W@ e e Se gdt
@ N 2feft o = Y IR A T W pet A1k Sl Tt 2l

(i) el 31 Tad o9 & Wb 181 [ fdeh 9 W ed s Site =dt
@ qen 2left o A= 1 SR T T W pel Tk Sl a2

(iii) Zfelt & TFd qa W A o1 SR HT AR T4 HEH T FHA A el
T B

(iv) 2feft & 3TMd a1 W e a1 SW &1 AR A v | gt Rafaai

feerfa KE.(J) | PE.Q) [TMEQ)
A
B
C
D




3.

el ATk Holl o1 | SURatdd el 2|
et =AY 71 o SRA feafa c 9 D W -
(i) e o feafast st <A gt 2|
(i) et & Teerfast St 1 et €1
(iii) et St agdt € qen fefast ot wed 21
(iv) it St wredt @ qen feorfast st sl 21

T T Tl o1 TR ok SR fohe Teerfa W gielt § KLE. =gad et €2

(i) 30cm (i) 90cm
(i) 50cm (iv) 150cm



Answer Key

Passage 1

1. (i) 500
2. () 150
3. (i) 600
4. (i) 50
Passage 2

1. (iv) 3.98%
2. (i) 3.34%

3. (i) 47%

4. (i) 66%
Passage 3

1. () 11/15
2. (i) 13/24
3. (i) 11/40
4. (i) 3/8
Passage 4

1. (i) (1,3)

2. (i) (-1,-3)
3. () (3,1
4. (iv) (3,-1)
Passage 5

1. () 5

2. (i) 7

3. (i) 10

4. (i) 11
Passage 6

1. (iv) 560

2. () 1011
3. (i) 80

4. (i) 7:9
Passage 7

1. (i) Densityof seawateris more than distilled water
2. (i) 516m
3. (1) Om/s

4. () Increase withtemperature



Passage 8

1. () A

2. (i) C&A

3. (i) C

4. (i) 46metre
Passage9

1. () 0.50m

2. (iv) The TME remains constant during the cart’'s motion along the
incline plane.

3. (i) TheK.E.increasesand P.E. decreases

4. (iv) 150cm.



CLASS-IX [PSA]
QUALITATIVE — STAND ALONE MCQ'S

ForQ.1t0Q.5-

Consider the relationships and select the selected word from the
given alternatives.

Y919 5 o faw —

Ru 7Y foshedl § § Hafud 358 gHg —

Q.1 Time periodistosecond as frequencyisto............... .
(&) metre (b) hertz
(c) joule (d) decibel
99 o T S/ Yenvs o STl o T ..
(@) X (b) &H
(c) S (d) Sfasa

Q.2 Earthwormistoannelidaas spideristo.................... .
(a) Platyhelminthes (b) Vertebrata
(c) Arthropoda (d) Porifera
ST oh foru SiE TfHTereT a8 Henel o Tl v
(a) wRRTHAE (b) HIERT
(c) STUTrer (d) dIR%T

Q.3 Lionistoprideasshipisto.............. .
(a) Platoon (b) Port
(c) Herd (d) Fleet
I T S I BT €, A8 SRTE &l oo eIl
(a) 98K (b) w<TME
(c) #s (d) ¥

Q.4 Voteristo 18years as Lok SabhaMemberisto............... :
(a) 35years (b) 25years
(c) 18years (d) 30years
I ATl o foTT 18 9 I SAlehae T oh fAT oo
(@) 35ad (b) 25 9d

() 18ad (d) 3099



Q.5

Q.6

Q.7

Q.8

Ploughisto farmeras hammeristo .................... .

(a) Tailor (b) Blacksmith
(c) Painter (d) Gardener
S Tt foRa o foTT @ BT v, o ferg
(@) =it (b) TR
(c) U (d) wmeh

Mansi is facing west. She turns 45° in the anticlockwise direction
and then 180° in the clockwise direction, which direction is she
facing now?

(@) North (b) North East

(c) East (d) South East

AqFE Ufyem w5t 3R @ ik el 2| 98 Sl w1 gE ki fauda fxen
H 450 qe Tk o1 TSt w1 G ki G0 F 180° e 71 TR W
fra e & 21

(@) IW (b) ST-T

(©) T (d) feqor-get

Mahima lives in Vishakapatnam in a sea facing house. While
going to her friends house, she turns to right. After moving 70m in
that direction, she again turns to her right, which direction is she
facing now?

(@) North (b) West

(c) East (d) South

Hfew faemareTd o @l €1 SHehT SR Tq% 1 3R &1 3794 sl o )
ST THT 9 UEE I8 IR G 70 WeR HI I IR 77 HH ok 9% 9
T TE AR S| 37 SHeT g fory fewn ¥ @2

(@ 3SW (b) ufy=m
(c) T (d) =faror
Which letter comes next in the series of letter?
BACBDCEDF........ )

(@ C (b) D

(c) E (d) F



Q.9

Q.10

Q.11

[REYIE

e g@el § STl vl &1 S|

BACBDCEDF........ :
(@ C (b) D
(c) E (d) F
The number that will continue the serieswillbe 1,4,9, 16,25 ....... .
(a) 36 (b) 32
(c) 20 (d) 48
1,4,9,16,25 @l i G0 6T i faeheq € :
(@ 36 (b) 32
(c) 20 (d) 48
Choose the correct alternative :
4:64 1 T, .
(&) 343 (b) 49
(c) 283 (d) 67
et fashed gHT :
(@) 343 (b) 49
(c) 283 (d) 67
Direction : Arrange the following words in alogical and meaningful
order:
(1) Country (2) Furniture
(3) Forest (4) Wood
(5) Trees.
(@ 1,3,5,4,2 (b) 1,4,3,2,5
(c) 5,2,3,4,1 (d) 2,4,3,1,5
Freafafaa eTes] vt Tehqul aen s1efqul ohH H Safeerd |
(1) 2w (2) R
(3) S (4) @Fgl  (5) U
(1) 1,3,5,4,2 (2) 1,4,3,2,5

(3) 5,2,3,4,1 (3) 2,4,3,1,5



Q.12 (1) Travel (2) Destination

(3) Payment (4) Berth/Seatnumber

(5) Reservation (6) Auvailability of birth/
Seatforreservation

(@ 6,2,54,3,1 (b) 2,6,3,5,4,1

(¢c) 5,3,4,1,6,2 (d) 1,2,5,4,3,6

(1) a=n (2) T

(3) YA (4) Hie dsR

(5) 3T (6) SUCTsY Hle/AREI0 dTedt die

(@ 6,2,5,4,3,1 (b) 2,6,3,5,4,1

() 5,3,4,1,6,2 (d 1,2,5,4,3,6

Q.13t016:

Choose the correct choice representing the Venn diagram

Q.13 (a) Asia,India, SriLanka
(b) Kitchen, Refrigerator, Bed
(c) Classroom, Table, Fountain
(d) Toilet, Truck, Bucket.
T 139 16 :
el fashed g (39 3@ §1)
(a) TRTAT, 9Rd, dicieht (b) &%, fORsT, @
(c) e, AF, HeaR (d) IT=ITe™, I, STeet




Q.14

Q.15

(@)
(©)

(@)
(€)

(@)
(€)

(@)
()

book, pencil, pen Q (b) car, steering, wheel

garden, grass, flower (d) table,wood, iron-nails.

OO
O

fopama, Ufee, o (b) &R, LR, =
S, o, e (d) BF, THE, Hicd

(b)
(d)

A, o1, T (b) T, pem, foreedt
T2, AT, et (d) 3TUG 1, SRR, T/
=t |

mango, grass, salt
river, well, pond

hen, dog, cat
llliterate people,
unemployed, poor people.




Q.16

Q.17

Q.18

(a) forest,den,lion (b) seed, leaf, root
(c) man,typist, pen (d) sun, pluto, earth
(a) TS, T, IR (b) T, o, ST

(c) oT=H, TRfT, U d) 93, <, ot

Geetaintroduces Mr. Mohan to her husband and said that father of
his brother is the only son of her grandfather. How is Geeta related
to Mr. Mohan.

(@) Mother (b) Aunt

(c) Sister (d) Niece

T = 3799 9fd © T 1 IRad &d gU el ' 3Heh 91 o fiar |
TS o gehetld o €1 it b1 Hiee | 1 figar €2

(@) (b) ==t

(c) d=d (d) wrsit

Introducing Asha to guests, Bhaskar said, “Her father is the only
son of my father.” How is Asharelated to Bhaskar?

(a) daughter (b) mother

(c) Sister (d) Niece

AR A AT Sl oTen o aRfea i g e, ' 39 faar = faar
T SehoAldl 92T 2, ST <hT ATEhT § 3P T 272




(@) = (b)
(c) =d (d)
Q.19-22
Find the odd one out:
3T foshed =1 g
Q.19 (a) Finance (b)
(c) Mining (d)
(@) fora (b)
(c) 3S&T (d)
Q.20 (a) RiverBeas (b)
(c) RiverRavi (d)
(@) = (b)
(c) it = (d)
Q.21 (a) Driver (b)
(c) Passenger (d)
(a) =T (b)
(c) =mit (d)
Q.22 (a) Litre (b)
(c) Ton (d)
(a) = (b)
(c) = (d)
Q.23-24  Choose the appropriate answer :
3fed faehed T :
Q.23 9 4
25 16 81 64
36 49
(@) 19 (b)

TSI |

Health
Education
EEIES 22

Torem

River Sutlej
River Kaveri

HAadsl Tal
EACE|

Pilot
Sailor

IEEIERCINED
EIEED

Quintal
Kilogram

foagea
TR

25

36

23



(c) 24 (d) 31

Q.24
(@) 3 (b) ©
() 1 (d) 2
Q.25-28
Which answer figure will complete the pattern in the question?
i~ STR ST T SATpTd o U il g0 H?
Q25

| x 1D

X X X X X X u
X X X X X X
X X X X X
X
X X X X X
A B C D

26.



I=

(@)

oo

()

oo

(d)




28.

29.

30.

N
/N

7| P
VALY

%
ey
O

v
Y

N

How many triangles are there in the given figure.

<—T—>
{

a C

feu T fot ® feremt freger €2
(@ 5 (b) 6
(c) 8 (d) 10

Which of the following is of least importance to perform better in
studies :

(a) hardwork and determination
(b) goodteachers and good school
(c) good quality stationery

(d) supporting parents and friends

e o oo yeel o foru frer o @ 9aQ %o sTeavgs F R
(a) WHeTd, o @R 3¢ fg=a

(b) =3 ST SR = o™

(c) TWIFL i I=d UTe

(d) =78 Hrar-fyar wd 3




31.

32.

33.

34.

35.

If you rearrange the letters CIFAIPC, you would have the name of :
(a) City (b) Animal
(c) Ocean (d) River
I 901 CIFAIPC ol G1: afeed i W | ° ford w1 3580 fHeran

2l

(a) =T (b) SR

(c) HETETR (d) ==t
IfPEACHIisto HCAEPthen42651isto................. )
(a) 25641 (b) 15264

(c) 16254 (d) 15624

I e 91 § PEACH 1 HCAEP T s 2 o 38t s o 42651
&l =1 fer@n Sem|

(a) 25641 (b) 15264

(c) 16254 (d) 15624

Marry is sixteen years old Marry is four times older than her

brother. How old will Mary be when she is twice as old as her
brother.............. :

(@ 20 (b) 24

(c) 26 (d) 28

T 16 a9 1 1 98 AT WE W 4 1 91 | 5 I8 310 A § T
SHR T BTl B T ST o e

(@ 20 (b) 24

(c) 26 (d) 28

Xylem : ? :: Transportof water : Transport of food.
(a) Parenchyma (b) Phloem

(c) Collenchyma (d) Sclerenehyma
SEAH ;7 ;AT R FARA WIS 1 Hagd|

(@) YhTEA (b) ATy

(C) hictrem (d) TRRAHE

Each of the three brothers has a sister. How many are they all



36.

37.

38.

together?

(@ 3 (b) 4

(c) 6 (d) 9

A A | Tk 1 ek 8 © o U ohel feha 872
(@ 3 (b) 4

(c) 6 (d) 9
Choose the correct option :

we! fashed gfHT -

If Train — Rail = 22

Then Trouble —problem =7

(@ 22 (b) 12

(c) 32 (d) zero

If QUESTION is written as 26309741 and VOTER is written as
84935 then what word is written as 5326309.

(a) Revolts (b) Request

(c) Regards (d) Require

Ife  QUESTION i 26309741 forean Sl & & VOTER 1 84935

foran St ® dt 5326309 o foTT shi=-H1 315 S B

(a) Revolts (b) Request

(c) Regards (d) Require

In a certain code language ANT is written as BOU, How will
ZEBRADbe written in the code language?

() AFCSB (b) BGDTC

(c) BGTDC (d) AFBCS

g ferelt she 9o & ANT =i BOU foran mar 8, at ¢t spe oo o

ZEBRA®! o9 forar sram?
(a) AFCSB (b) BGDTC
(©) BGTDC (d) AFBCS

In question no. 39to 40, arrange the following in the increasing order
and choose the correct option to match your answer correctly.

frafafad o e 89 9 (3R 9 981) § Faferd & o fau 98t fasey



I T :

39.

40.

ok wbdpE

oD E

Weekly

Daily

Monthly
Fortnightly
Yearly
@1,2,3,4,5
(0)2,1,4,3,5
Meghalaya
Madhya Pradesh
Goa
Rajasthan
(@)3,1,2,4
(0)1,3,2,4

ok wbdpE

hrowbdE

SIS RED
HEED

ot

TrfareR

ElIEED

(@) 2,1,3,4,5
(b) 2,1,3,5,4
e

e YoFT

man

RELDIE

(@) 3,1,4,2
(b) 1,2,3,4



N O wRE

13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.

(b)
(d)
(b)
(b)
(@)
(@)
(@)
(d)
(©)
(©)
(©)
(d)
(b)
(d)
(©)
(©)
(b)
(©)
(b)
(©)

CLASS-IX [PSA]

QUALITATIVE — STAND ALONE MCQ'S

ANSWERS KEY

()
(b)
(b)
()

. (@)
. (b)

(@)

- (@
- (@
. (d)
. (@

(d)

. (d)
. (@)
. (©)
. (d)

(b)

. (b)
. ()
. ()



QUALITATIVE
Passage Based MCQ
Passage No. 1

Disability refers to any kind of physical or mental incapacity that limits a
person’s ability to work. Yet it is seldom that we have thanked God for the
gift of Good health and well being. The smallest actions like seeing the
sunrise, brushing our teeth, popping peanuts into your mouth come so
naturally and effortlessly, and Yet we are never satisfied, always
discontented. It is not so for the disabled. For them it requires immense
concentration, effort, will power, energy and a lot of time. Despite this, it
could be along way of perfection.

It takes great courage and determination to cope with disability.Give them
encouragement, facilities and resources, and then watch them as they
learn, earn, play, work and even start their families.

Very often we find that a person lacking in one faculty is gifted in some
other way. That’s nature’s way of maintaining balance. Some of the most
beautiful greeting cards are made by disabled children, using one hand,
one foot or even mouth. Nothing stops them from using their talent,
intelligence and their knowledge.

1. Tocopeupwithdisability one needslotsof.................
(a) Courage
(b) Determination
(c) Courage anddetermination

(d) Effort

2. Pityand sympathy can make them loose.
(&) Confidence (b) Will power
(c) Determination (d) Ability

3. Ifweare sensitive to their needs and problems we will.
(a) learnto cope better (b) admire ability

(c) enhanceourlives (d) Allofthe above
4. A person lacking in one faculty is gifted in some other way.
That’s how nature................

(@) Maintainsimbalance

(b) Maintains balance

(c) Helpsthem cope with disability
(d) Helpsthemto betough



5. An agency promoting greeting cards made by specially gifted

childrenis................
(@ WTO (b) IMF
(c) UNICEF (d) WHO

6. WeshouldthankGodfor................
(a) Beingabletodo easiestoftasks
(b) Being able to enjoy benefits of nature
(c) Beingablewalk and talk
(d) Allthe above

srquefar fendht =aferd o e grare ® SR steran wHfas sw@aa @1 fee off &1
3o TR 9 O Trguidl o feAu e w1 e arg wefi-sheft € e € wfafe
& BR-BR FE T - AR ITAT, T T BT, T =G MR et 9
3T FIE U Hd @d 7, R oft 79 | e ©, g srame st o ferg e
e St B1 3% 38k faIu Sga eI oA, T, Seewiied, Sl 9o wat| qea
1 METTR Bl T Tk i S W &l o fay srefees fqomar =
TR Bl B

SEHA T A HTH o Toq EE o 35 9= &1 Seavaehal el 81 37ep ufd
TRy Aeelictd Thid o3 Hh1ST Tavashdlalial N fSAredie 14 ueeh & ok
ST 1 Tt ST ST Fehdl 2

STk i <1 S72re Shan Fe@T Sk faward = fee €1 3= fera, gfawmd 9 g
TRH HE a1 3@ foh o Wi, wE, B, e Y qe ST IiRaTes S 3TRY
Eal

I 3@ I € R U & o frser wafw e g e o syt e @1 9% wepfa
1 HqeH 21 <@ T ¢ o gewaw Wi e sremed Sreteh! o gRI Sk T T
T, T W I8l d% J@ 1 IR HTeh AT T & S 7T Arvran, Fqorn 9 9
Yohe T H IS T2 Uk Hehall|

1. STEHA] S qehraell Hid & foIg sred 8-

(a) =™ (b) 3 ==
(C) dreYd e v (d) s

2. A1 SR HA HHIN HY Fehel © -
(a) fovemg (b) z=s1 wfem

(c) foia wifer (d) A



3. fe eq ramef Safeal i Sl S HisAEal o Ui Hageiie gl f 89 -
(a) o= weft s
(b) 3T AT F g HA
(C) oM o fd | =T < <]
(d) ST gt
4. U & fuzel e TR & o ool grar € aifen -
(a) e o ®|
(b) wgeE @I
(C) oTHmeldl o | WHSE TG L H TeTIeh o |
(d) wfereal 9 Sgr o weres o ©|
5. T Aivgar urw a=at g o W e Wi GiedreT & ol Teen @ -
(a) WTO (b) IMF
(c) UNICEF (d) WHO
6. BH TEM Wl YR AT A1GT Fifeh -
(@) M HE Bl AT TIEA L oh HROT
(b) Yohfd o SREH &1 AT T oh HRUT
(C) die & I st Hefdl o HRT
(d) ST gt

Passage No. 2

Once a man saw three masons who along with some labourers were
constructing a temple. He observed the masons for some days and found
that though the three of them were doing the same kind of work, there was
amarked difference in their approach to their job.

He saw that the first mason reported for his work late, did his work half-
heartedly and sluggishly enjoyed longer respite, frequently checked the
time on his wrist-watch and left the work before time.

The second mason was very punctual in arriving and leaving, and did his
work methodically and conscientiously. The third mason,however, would
come before time, took little rest in the interval and often worked over-
time.

The man naturally got curious and wanted to know the three masons’
outlook towards their work. He asked them what they were doing. The first



mason tapped his protruding belly with his hand and said, | am earning
fuel for this belly”. The second said. " | am constructing a building.” The
third looked at the stately edifice and said. "I am building the house of
God".

1. Thefirstmason’sapproachtoworkwasthatof.................

(@) Earnlivelihood (b) Justtospendtime
(c) Earnonly money (d) Wastetime
2. Thesecond masonwas.................. in his approach.
(@) Structured (b) Professional
(c) Unmethodical (d) Punctual
3. Thethird masonapproached his work with.
(@) Zest (b) Skill
(c) Duty (d) Dedication
4. Thefirstmasonwas..........c..........
(@) Lazy (b) Sick
(c) Hard-working (d) Active
5. ThePhrase ‘workisworship’can be associated with ................
(@) Firstmason (b) Secondmason
(c) Third mason (d) Allofthe above

6. The writer of the above passage is trying to tell the readers that

(a) Allworkandno play is healthy

(b) Allplay and nowork is healthy

(c) Enjoydoing work with commitment
(d) Allof theabove

T IR T AfR A 3@ fh 07 Redt 2 gfthl & @y |l 9o o o d |5
qda 91 F9 T o Fieon o a8 35 ogva foran fop 39 frfewail 1 &l @&
ST & T S7h1 b1 o i gfieenior i @1 3E egwd TR fon v faredt et
TR W Y Il G T4 T ol SEH A o & W Hl | 96 3Hh aR
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Passage No. 3
Read the following passage and answer the questions that follow :
There was a little boy called Varun who did not have any friends and
nobody liked to play with him. His teachers also did not love him much and
his parents were unhappy with him. Do you know, why? It was because he
was very short tempered and used to argue, use abusive language and



getinto fights with everyone.

One day, his mother gave him a board and some drawing pins. She told
him that everytime he lost his temper and abused or fought with anyone,
he was to go to his room and put a pin on the board. At the end of the
month, his mother suggested that both of them check the board. The
board was now full of pins. Varun’s mother asked him, “Can you remove
these pins?” He did so. His mother told him gently, “See how many holes
you have made on the board by sticking the pins. Each hole on the board
represents someone you have hurt. You have made many holes in their
hearts by your behaviour. Do you think you can repair all the hurt you have
caused to so many people?”

Varun realised how much damage he had done to his friends, family and
teachers, evento strangers and he resolved to change himself.

1. Whichbehavioural problem was not annoying to his parents?

(@) Losinghistemper (b) Abusive

(c) Anger (d) Laziness
2.  Whatdideach hole onthe board represent?

(@) Happiness (b) Depression

(c) Hurtfeelings (d) Belongingness
3. Howcananger be controlled?

(a) Byfighting (b) Byabusing

(c) Bydeep breathing (d) Bysleeping
4. Thesuitabletitle for this passageis...................

(&) AngryVarun (b) Disciplined Varun

(c) Happy Varun (d) Anger Management
5.  What message does this paragraph give?

(@) We should be angry with everyone.

(b) Anger affects our relationships.

(c) Angerhasonlyill-effects.

(d) Angerisanatural reaction.

6. What is the approach towards feelings or emotions in this
paragraph?
(a) Positive approach (b) Negative approach
(c) Indifferentapproach  (d) Destructive approach
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Passage No. 4
Read the following passage and answer the questions that follow :

What is soil?

Solil is the loose top layer of Earth’s surface. Plants, depend on soil. It
holds them up. It provides them with food and water.

Soil is made of particles. These very small pieces mostly come from rocks
broken down by weathering. Other soil particles come from rotting
remains of plants and animals. The part of soil that comes from living
things is called organic matter.

Many small organisms live in soil. They include worms, bacteria and
fungi. Fungi are like plants, but they aren’'t green. And they have no
leaves, flowers or roots. The organisms feed on dead plants and animals.
They cause them to decay or break down. The decayed plant and animal
matter is called humus. Humus makes the soil dark. It provides the
nutrients, plants need to grow.

Soil develops in layers. The top layer consists mostly of humus. Itis called
topsoil. The next layer down is called subsoil. Subsoil contains more rock
particles than topsoil and less humus. It is not as good for growing plants.
The layer below the subsoil has many pieces of rocks. The pieces get
bigger when they are deeper in the ground. Most plants cannot grow in
this rocky layer. The soil layers all rest on solid rock. It is called bedrock.
There are many types of soil. Soil can be of many colours. They can also
have different textures. Texture is the size of the particles that make up
soil.

Clay is a type of soil with many small particles. The patrticles are packed
together tightly. Clay can hold a lot of water, which makes it heavy and
sticky. Sand has much larger particles than clay. It feels rough. There’s a
lot of air space between the particles, so water drains through this soil
easily.

Loam contains a mix of sand and clay. Loam is the best soil for growing
plants. It lets just the right amount of water pass through for plant roots to



takein.

1.

Name the material which provides nutrients for the formation of
plant’s body?

(@) Humus (b) Topsoll

(c) Subsaoll (d) Rockbed

Which organism doesnot help the dead plants and animals to
decay?

(a) Bacteria (b) Fungi

(c) Algae (d) Worms

What is the most important factor that help in the formation of
soil?

(a) Lightning (b) Sunlight

(c) Windcurrents (d) Thundering

Where do we find microorganism which help in the formation of
humus?

(@) Topsall (b) Subsaoll

(c) Rocks (d) Rockbed

Why can clay hold lots of water?

(@) Itsparticle sizeis very small.

(b) Its particles have more soaking capacity.

(c) Humusis presentinthe clay.

(d) Lotsofairspace is present between the particles.

Which soil allows the high amount of water to pass through for
the plantroots?

(a) Blacksaoll (b) Loamy sall

(c) Sandy soil (d) Clay
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Passage No. 5

Read the following passage and answer the questions that follow :
Some animals in a forest decided to start a school. The students included
a bird, a squirrel, a fish, a dog, a rabbit and a mentally retarded eel. A
board was formed to determine the curriculum and it was decided that
flying, tree climbing, swimming and burrowing would give a broad-based
education. Allanimals were required to take all subjects.

The bird was excellent at flying and was getting A's but when it came to
burrowing, it kept breaking its break and wings and started failing. Pretty
soon, it started making C’s in flying and, of course, in tree climbing and
swimming it was getting F’s. The squirrel was great at tree climbing, but
was failing in swimming. The fish was the best swimmer but couldn’t get
out of the water and thus got F’s in everything else. The dog didn’t join the
school, stopped paying taxes, and kept fighting with the administration to
include barking as part of the curriculum. The rabbit got A’'s in burrowing
but tree climbing was a real problem. It kept falling and landing on its
head, suffered brain damage, and soon couldn’t even burrow properly



and gotC’sinthattoo.

The mentally retarded eel, who did everything half as well, became the
valedictorian of the class. The board was happy because everybody was
getting a broad-based education.

A true broad-based education prepares students for life, without losing
their areas of specialization and competence.

1.

Which of the following competition was not organized by the

school board?

(@) Flying competition (b) Tree-climbing competition

(c) Running (d) Swimming competition

Mentally retarded eel became the valedictorian of the class

because.........cccccccn,

(@) shedid everything half heartedly.

(b) she showed better performance in all other fields without losing
her own area of specialization.

(c) shewasobedientdue to mental retardedness.

(d) theschool board was happy with her.

Ontoday’s education system, this paragraph ...............c..........

(a) isasatire.

(b) isan effortto show the conditions of education system.

(c) isan efforttounderstand the problems.

(d) showstheimportance of broad-based education.

Whatis a’broad-based education’?

(@) Students should prepare for life without losing their areas of
specialisation and competence.

(b) We are all gifted with some strengrhs so we should get
specialization only in that field.

(c) Thesyllabusis prepared specially for the mentally retarded.

(d) Itisameanto make school board happy.

Whatis the suitable title for the paragraph?

(a) Broad-based education system

(b) Panchayatofanimals

(c) Schoolinajungle

(d) Importance of broad-based education

The dog denied to pay thetaxbecause..........ccccoeeeeeeeee.

(a) hewasselfish



(b) hewantedtojointhe school board

(c) hewantedto learn the skills of others

(d) hewanted to make the syllabus more broad-based by including
barking in the syllabus
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Passage No. 6

S3#RWI9@ETVUN5%IWA4XY8$SXZ6AWKS&TB
In the above arrangement, how many vowels are there which
comes justafterasymbol.

(@) Three (b) Two

(c) One (d) Four

In the above arrangement how many numerals come just
before asymbol.

(@ Two (b) Three



(c) Four (d) Five

In the above arrangement how many consonant are there
which come just before a numeral.

(@) One (b) Four

(c) Three (d) Five

In the above arrangement how many symbols are there which
have a numeral just before them and a vowel does not come
just after.

(@) Three (b) Five

(c) Two (d) Four

In the above arrangement how many geometrical figures are
there which comes just before a numeral but does not come
afteravowel.

(@) Three (b) Two

(c) Four (d) One

In the above arrangement how many vowels are there which
come either just before or just after any consonant.

(@ Two (b) Four

(c) Three (d) Five
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Passage No. 7

Four friends Anuj, Dinesh, Pankaj and Sumit come from different cities of
India. They have different professions like Artist, Doctor, Player and
Singer. Now read carefully the following rules and information and answer
the questions that follow. You can take help from the given table by
marking the (x) or (v') inthe boxes.

1. The first letter in the name of person, profession and the city is
not same.
Sumitis a player and comes from Durg city.
Pankaj, Anuj and the player do not come from Pune.
Anujis not a singer and comes from Sambhal.
Pankaj comes from the city whose first letter can not be the
same as the first letter of his profession.

a b wn

Artist Doctor Player Singer Ajmer Durg Pune Sambhal
Anuj
Dinesh
Pankaj
Sumit

1. Dinesh comes fromwhich city?

(@) Ajmer (b) Durg

(c) Pune (d) Sambhal
2.  Whatisthe profession of Anju?

(&) Artist (b) Doctor

(c) Player (d) Singer

3. Name the city from where Pankaj comes?



(@) Ajmer (b) Durg

(c) Pune (d) Sambhal

4.  Whoamongthe followingis the singer?
(@) Anuyj (b) Dinesh
(c) Pankaj (d) Sumit

5.  Which pair of the following can exchange their profession with
each other if they follow the rule number 1 strictly?

(@) Anuj—Dinesh (b) Sumit—Pankaj

(c) Dinesh—-Pankaj (d) Noneofthese
6. Whatisthe professionof Dinesh?

(@) Artist (b) Doctor

(c) Player (d) Singer
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Passage No. 8

Education is for life, not merely for a livelihood! So long as we are
unmindful of this truth the quality of our educational curriculum as well as
that of our teachers and students will remain inadequate. It is not enough
for a society to have experts. It needs human beings who can think, feel,
and act generously, the kind of people who cannot be replaced by the
computers and robots. The great faults of our present age is its emphasis
on efficiency at the cost of humanity.

The authortalksabout....................... inthe above passage.
(@) Humanbeings (b) Teachers
(c) Education (d) Curriculum



2.  When the author says that education is for life, he means to say
that—
(a) Educationisvery useful for life.
(b) Educationis useful for earning money.
(c) Education can make a personrich.
(d) Education cantrainthe people to be proper human beings.
3. The author says that it is not enough for a society to have
experts because —
(a) Expertsare very egoistic people
(b) Experts cannot give overall view of facts
(c) Expertsare notreally sensitive to the needs of the society
(d) Experts are eccentric people
4. Accordingtothe author the present educational system :
(a) Stresseson efficiency
(b) Fulfills social aspects
(c) Isscience oriented
(d) Emphasizes on computer education
5.  Human beings cannot be replaced by computers and robots
because:
(@) Computersandrobots are non-human
(b) Theyreact mechanically
(c) Theydonothave specialized knowledge
(d) They cannotthink and feel like humans
6. Themainideaofthe passageis:
(a) Educated people should have a sympathetic attitude
(b) Education should be to improve the quality of life rather than
efficiency
(c) Onlyexperts are efficient
(d) Theonlygoal of educationis to gain efficiency
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(c) foam 3 21 (d) e fnen WS S @)
5. TR A1 e SAKH T ST T o Gehell €, AT -
(a) R 1 UeE S e €
(b) st ufafwan if=er 21
(C) 3ok urd fafdrse 3 =&l gl
(d) o 3HH ! e 7 e Hehd © 7 WEYH Y Fehdl 2|
6. TSl o q&d W& © -
(a) fofea safaar o1 gergufagel W g =)
(b) forem =1 33Rva el A dfesh Sfad I TUEE H GHURAT BT
Bl
(C) hae Y @ &1 387 B B
(d) feren 1 THHTS IIITF I&7T hI U HIAT 2




ANSWER KEY

Passage 1

oukwbdpE

(c)
(b)
(d)
(b)
(c)
(d)

Courage and determination
Will power

All of the above

Maintains balance
UNICEF

Allthe above

Passage 2

oukhwnhpE

(@)
(b)
(d)
(@)
(c)
(©)

Earn livelihood

Professional

Dedication

Lazy

Third mason

Enjoy doing well with commitment

Passage 3

ogkhwnhE

(d)
(c)
(c)
(d)
(b)
(@)

Laziness

Hurtfeelings

By deep breathing

Anger management

Anger affects our relationships
Positive approach

Passage 4

oukwbhpE

(@)
(c)
(b)
(a)
(a)
(b)

Humus

Algae

Sunlight

Top soil

Its particle size is very small.
Loamy soil

Passage5

1.
2.

(c)
(b)

(d)
(@)

(d)
(d)

Running

She showed better performance in all other fields without
losing her own area of specialization.

shows the importance of broad-based education.

Students should prepare for life without losing their areas of
specialisation and competence.

Importance of broad-based education

he wanted to make the syllabus more broad based by
includiing barking in the syllabus.



Passage 6

1. (b) Two

2. (d) Five

3. (a) One

4. (a) Three

5. (d) One

6. (c) Three

Passage 7

1. (c) Pune

2. (b) Doctor

3. (a) Ajmer

4. (c) Pankaj

5. (d) Noneofthese

6. (a) Artist

Hint

Artist  Doctor Player Singer Ajmer Durg Pune Sambhal

Anju X v X X X X X v
Dinesh X x x X x Ve X
Pankaj x X X v v x x X
Sumit X x v x x v x x

Passage 8

1. (c) Education

2. (d) Educatoncantrainthe people to be proper human beings.

3. (c) Expertsare notreally sensitive to the needs of the society.

4. (a) Stressesonefficiency

5. (d) Theycannotthink and feellike human.

6. (b) Education should be to improve the quality of life rather than

efficiency



Sample Question Paper-I

QUg (37) HATHUT F FIART

o frefarfea o e 1 9 8 H god wet faheq gfe-

1. T S < & TSl ST SIS | oo H o e E1 fargioor g ?
(i) NEICERENEL (i)  aRwEREE fagem
(i)  Fehaarae fagem (iv) FeaETEs fagmm

2. Hifed STEd e ¥ | IR H gfanivr g |

(i) Hifgt (i)  T=a
(i) G (iv) ¥

3. SEUYS 99 H T R |
(i) S ERED (i) GHHE
(i) fgshen (iv)  omee

4. “ arfrer ! fopan fosToror ot A1 ©-
(i)  wRwmETE (i)  eHrererEE
(iii)y  TEEESR (iv)  Qfam=es

5. AEAHIgEATEILE -
(i)  aRwwEES (i)  Telifes
(i)  IRFRE (iv) URQrehiH

6.  ‘SU U YHI ALK HHAAR ?
(i) STTEAR (i) U=
(iii)y 3 (iv) ST




7. Y WU 938 | Wifhd I A HRFH T |
(i) I HRE (i) FHFIRH
(iiiy T IRS (iv) TIYHRE

8. 3G Y Al ¥ et S 9193 e e | 1@ifeha ue 1 faeim g 1

i  qu (i) e

(iiiy S (iv) il
QU (@) HeH | yregraet
QU (37) MR I YA

o1 fr=fafed uea 9@ 9 9 16 § 9o el faehed sl =9 hifsu-

9. Are femam-
)y  StEHg:Rsm iy  dwrem
(i) TEIHHT R (iv)  EHm g

10.  3THHEM R X 33H-
(i) A SR (i)  TEIIREHLA
(iii)  ogd oM S (iv) TTHIRETE

1. TSR 1 S BFT-
()  Igd TS B g (i) U HH BB
(i) TREH WS (iv)  Toseh o = e

12, IR HH @R A A T | G L T AR |
(i)  EAFRAE (i) AT
(i) TS (iv) SIS




13.

14.

15.

16.

17

18.

I3 o el ShIATH ahl GAhT (a1 ol Ta 3eh 1T | * TS Feh 1 oh1 ST B |

() fawem (i) SR
(iii)y ARSI (iv) faag=e
T Uk Firar) o1 99 fou ot e e 9t i i |
() TS (i) WUYsTU
(i) TAYSTI (iv) WRus
FHE A THE T ST, oo |
(i) =t (i) R
(i) 9 (iv) <
TG H AT B W G0 oo eimipil
iy O (i) =
(iiy  EEh (iv) O™
() e gfd sy
@UE (37) TR I TR

Fdor- = fou T SRR 1 e WY TEAT 17 9 24 H 3fud fashed 1 =
HIfU-sTefas 17 R 18 R gC 19 Sec! g1 €9 9 di=i 20 w1 fsramget
Tk ST FfAffee h3d 9 | 379 3 21 T & Welieh € | 37 Dol - At 1,
Tel, WS A TN & 22 1SN 23 TaAl o &asil H 2 & | Hoha o2 fH wif
HI24F1

17 ?

(i) St (i) =<t
(i)  gdrR (iv) g
Reazam18?

(i) U (i)  SEH
(i) < (iv) SuEH




19.

20.

21.

22.

23.

24.

R 19 ?

0 =R
(i) =R
Reaeam207?
(i) TR
(i)  3fe
21 ?
i =
(iii)y =
REaeam22?
(i) A
(iii)y =S
Reaeam23?
(i) ST
(iiiy fafv=
R 24?
(i) Yeiteh
(iiiy  wfdee

(i)
(iv)

(i)
(iv)

(i)
(iv)

(i)
(iv)

(i)
(iv)

(i)
(iv)

-.ﬁ




Qualitative Reasoning
o - St (OIS qeh)
9T 25 ¥ 42/ Questions 25 to 42

Y. 25 SR 7 96 AASId ohl <@l A1 39 A AT Toh 98 IHh! 92t i AT o fuar

9. 26

TS & | TSI STHIT T ovvererreverennns T
1) Hredl

2) W ()

3) g (Redgun)

4) ==

When Amir saw manjeet, He recalled that he is son of the father of the
mother of hisdaughter. ManjeetiSAMIr's..........cccccceveenee.
1) Brother -in-Low

2) Brother

3) Cousin

4) Uncle

e Gefd B fohae’ ¥, SH YhR.......... LG 1L - 7

1) IS, 9IS

2)  SSURER, Wem

3) EEWECE]

4) ®d,US

Author isrelated to book. Inthe sameway --------- isrelatedto-------------

1) Human Society

2) Engineer, Building
3) Mason, Building
4) Fruits, Tree




.27 WA=y, gt

1) HrHITR

2) &Y

3) EEEIR

4) A
Choosetheodd oneout :

1) Seismograph
2) Earthquake
3) Cyclone

4) Tsunami

¥.28 3 ol 3H 3197 I3 i 39 9 6 T[HI § | IR | 91<, ST 3T 1AM 43 T 2
ST | SAFHA BT A 3H SdET:

1) 30 9T
2) 329
3) 3491
4) 28 |1

Amitisnow 6timesasold ashisson. FourYearsform now, thesum of their
ageswill be43yearsDetermineAmit'spresent age:

1) 30Years
2) 32Years
3) 34Years
4) 28Years




W.29 Uk AfR A ST BT RE T & v IR 7 fob. . =ren | 3ueh =g oY
e 2 fon. . <l | 36 918 Toh R R aTd gg et 12 fof . =et | T aR
AT o geant 2 foR =, et | o777 eTRfves fog W wgem & foae 38 oot g

T HTA BN 2

1) 7 . 0.
2) 12 f. .
3) 4. 7t
4) 5T, .

A Man Startswalking in south & walksfor 7 km, thenturnsleft walksfor 2
km, once again turnsleft & walksfor 12 km, turns |eft one more time &
walks for 2 km. How much distance he has to cover to reach the starting

point ?
1)
2)
3)
4)

7km
12km
4km
5km

W.30 UH WhHel H ASHh 9 TSR 1 ST 5:2 T | ASHI bl HEA ASfHAT F 450
AR ¥ | Tohe H et I=d o e foRat € 2

1)
2)
3)
4)

650
1050
400
950

Thw ratio of boysto girlsinaschool is5:2. The number of boysismore by
450thanthat of girls. How many studentsarethereinthat school ?

1)
2)
3)
4)

650
1050
400
950




Q.31

Q.32

Q.33

Q.34

(Question 31-36)
Read the passage and sel ect the crrect answer the questionsthat follows:-
Eight personsA B C D E F G and H. are sitting in two lines facing each
other. Each line hasfour persons. A is sitting between F and G and facing
towardsnorth between D and B. Hisat thejust right of G.
Whoissitting Just opposite or exactly facing C.

@ F
(b) G
( E
d A

Whoissitting at thejust right of C.

Inwhich pair of thefollowing, personsareexactly facing each other.

@ C-G
(b) B-G
(© D-G
(d) F-C

On the basis of their position three out of following four are alike in a
manner and makeaset. chosethe pair which doesnot comeinthegroup.

@ DA
(B) CG
(© EA
(D) BH




Q.35 Inwhich pair of the following second person is sitting at |eft of the first

person.
a) FA
b) GA
C) EB
d) CD
Q.36 WhoamongthefollowingfacingtoNorth.
a) C
b) B
C) E
d) H




Q.31

Q.32

TR
(¥ 31-36 ) : FAfafEd s =es o1 afgu aen fu e g+ & SN :
s At A B CD EF G 3R H $TH-9rH §1 915 § Tah g i IR HE fRe
T TH A H IR AT EF IR G I A TR T STWJEETEN B
WAL SHH ATAHED IRBF I CETNGCH TATTCH T |

Ca I arA A3 §
a) F

by G

C) E

C) A
CHTATMHAT

a) B

by F

C) D

d B=aD

Q.33 frafed # & fora SIQ # =afed T TR & WA 3% 2

a) CG
by BG
C) DG

d FC

10



Q.34 MM MR R faTafed R § § T fdl TR 99 € 31d: S T
YR A1 8 98 T i T1 8 571 36 T H e STare |

a) DA
by CG
C) EA
c) BH
Q.35 = H & fohm S H gu Ao weel & g od 31§
a) FA
by GA
C) EB
d CD

Q.36 FEHAFRASW HIIMEFTIAT
a)
b)

c)
d)

ImwWO

11



( Questions 37 - 42)

Study the paragraph and Answer the correct option for the Questions.

When Sunil was born his father Sushil was 30 years old. Sunil's Auntie

Bobby is 3 years younger than her Brother Sushil and 5 years younger than her
husband Pankgj. Pankaj and Bobby has three children - Sonu Monu and Shelly.
Sonu was born on the 28th Birthday of hisfather. After 10 yearshisBrother Monu
will be 7 yearslessthen the Half of hisfather's age and hissister shelly wil be one
third hisMother'sage Sonuwasborn befor 12 years.

Q.37

Q.38

Q.39

Q.40

Find the person who is senior to the same number of personsto whom
heis Junior to ?

a) Shelly

b) Sonu

C) Sunil

C) Monu

Kavitatheelder sister of sunil may beyounger than:

a) Sonu

b) Monu

C) Shelly

d) Sonu and Monu Both.

Accordingtotheageif wearrangetheminadecending order which of the
following optionisthecorrect :

a) Pankaj - Sonu - Sunil

b) Sushil - Pankaj - Shelly

C) Bobby - Pankaj - Sunil

d) Monu- Shelly - Sonu

Which of thefollowing pair consist the personshaving sasmeage.
a) Sushil - Pankgj

b) Sonu- Sushil

C) Sunil - Shelly

d) Sunil - Monu

12



Q.41 Whoistheoldestinthefollowing.

a) Sushil
b) Bobby
C) Sonu

d) Pankaj

Q.42 According to ageif we arrange them in ascending order which one of the
following arrangement iscorrect.
a) Sunil - Shelly - Monu
b) Sunil - Sonu- Shelly
C) Shelly - Sunil - Sonu
d) Sonu- Sunil - Monu

13



37 - 42 ) : Tr=fafea sT=ec I dfgy aa fXu U g9+ & W

ST AT 1 ST g3 el SHpT T Geitet 30 o 1 o Tt 31 (FHT) st
3T TS Gl F i ot 31 o1 ufd Uehet 9 viw o6l B  Uehs iR Al S A = €
T, T 7R et | W 1 ST 379 it & 28 & SFAfGT TR g3t 911 10 I8 & 91G ST
oTE T 379 1 3T o N9 T T1d o ¥ ST 3T ST e STeit ST HY bt 3T i
T forerE St | TRE oS gl W T S gaT e |
SRR R ol EAgE e Ufgy 3TR e g9t & 3w & fore W@t fasmeq g |

Q.37 FTAHAHATH &SN I & il A B ¢ Sl Ao a8 |

a Il

b) w9

¢ i

d =

Q.38 YA I TSt sTg hiaal =1 B ford T BT & Fehe © 2

a w9

b) =

c) Il

d) dgeiRARIHH |

Q.39 3MY s SUR IfC IS VBN o HH § T A i A1 fahed T & 2
@ T, H, g
b) i, 9w, et
C)  Sifel, 9o, A
d) =, el g

14



Q.40 Trafafed 8w @I aIH S A F1T |

a)  gIla- 9@

b)  Hr-gi

C) gt - el

d gia-"m
Q.41 fHATRATIATRI

a) LSS

by st

c)

d d=

Q.42 I+ TuE AR TR A IS & FH § FaIfed F i hiH A fahca TR |

a)  gie, S, w9
b) e, |, et
C) el gie, |y

d) =, g,

15



Section A- Language Conventions (English)

(Question 1-8) - Read thefollowing passage carefully and select the must suitable
option from each according to the corresponding number inthe passage.

In1918-19therewasaseriousoutbreak of flu.
Theviruswasknown as Spanishfluand
itisestimatedthat it killed morethan 20

million people. Recent research which had been conducted
intothestructureof thisvirushasshedimportant
light onthiskiller disease. The scientistsconducting
theresearch used viral DNA sequencesfrom

the biopsieswhich wastakenfrom American
soldierswho diedinthepandemicof 1918-19
worringly theresultsof theresearch suggest

that the 1918-19 virusmay havehaditsoriginin
birdsandthat it jumped the speciesbarier to

infect human beings.

©WoOoNOOAWNE

e el o
wbhkF o

=

Thecorrect useof theword/ phrase had been conductedinline4is-
1) have been conducted

2) had conducted

3) will beconducted

4) hasbeen conducted

2. Theword closedinmeaningtoword 'pandemic'inline9is-
1) war
2) akind of virus
3) chaos
4) widely spread disease

3. Theword'Origin'inline 11 could best bereplaced by-
1) Relationship

2) Comparison
3) Starting point
4) New

16



Theword closetinmeaning totheword' outbreak'inlinelis-
1) aStrong protest

2) astrongexpression

3) asudden start

4) aresult of

Inline5the phrase'Has shed' means-
1) togetridof

2) tolet something fall

3) tokill people

4) togiveinformation

InLine3"isestimated" the phrasewould mean
1) toformanideaof value.

2) alongfriendly contact

3) togiveanofficial status

4) iscalculated

Inline8theusecorrect useof thephrase' wastaken'is-
1) canbetaken

2) wereTaken

3) oneTaken

4) had Taken

Which of thefollowingis thecorrect spelling of "barier” inline12?
1) barrier

2) barrir

3) barierr

4) berrier

(Question -9-12) Complete this passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap -

A coupleof friendswho(9) Morning house haveasked usif we're (10) inmoving
into their present apartment. I'm not sure. It'sbigger then ours but it's one of those
placesthat_(11) very _(12) superficialy but hasalot of problems.

17



9. Which of therefitsgap (11)?

1) are
2) was
3) is
4) were

10.  Whichof herebest fitsthegap 10 ?
1) interesting
2) interestingly
3) interest
4) interested

11.  Whichof thesefitsthegap 12 ?

1) attracted
2) attractive
3) attract

4) attracting

12.  Thewordwhichbestfitsthegap9is?

1) are
2) were
3) is
4) have

( Questions 13-16) Completed the passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap.

Some species, like the Giant Panda, are becoming very rare in the (13) because
their habitats, the places they live, are being _(14) ,for example when the main
forests are cut down. So, zoo's play a very important role, or part, in (15) there
same animal sand making surethey will not (16) for ever.

18



13.

14.

15.

16.

(Question 17-20) Complete this passage by choosing the most suitable word
phrasefromeachlist tofit the corresponding gap -

In ancient days maps _(17) trade routes across seas and land and were therefore
very (18). Infactthey wereso preciousthat onecountry, would send spiesto (19)
another country's maps. However, since those days maps have changed a great
deal. Now with the use of computer technology and satellite photography, maps

Which of thewordfitsthegap 14 ?
1) tamed

2) bred
3) destroyed
4) prepared

Which of thefollowingfitsthegap 13?
1) cages

2) Z00's
3) planet
4) forest

Which of thefollowingfitsthegap 15 ?
1) taming

2) domesticating

3) training

4) breeding

Which of thefollowingfitsthegap 16 ?
1) come

2) disappear
3) run
4)  dleep

canbeso (20) they caneven show your house.

19



17.  Whichof thesefitsthegap 18 ?

1) helping
2) expensive
3) adequate
4) valuable
18.  Whichof thesefitsthegap 17 ?
1) told
2) showed
3) assessed
4) analysed
19. Whichof thesefitsthegap 20 ?
1) important
2) revealing
3) explained
4) detailed
20.  Whichof thesefitsthegaps19?
1) adopt
2) take
3) steal
4) practise

( Question 21-24)Complete the passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap -

Sportsismeant (21) enjoyed, whether youwin or lose. It's(22) you play thegame.
When you giveyour 100 per cent, thereisonly one option left with you either you
winor makeothers (23) thereisno (24) atall.

20



21.

22.

23.

24,

Which of thesefitsgap 22 ?

1) when

2) where

3) why

4) how

Which of thesefitsthegap 24 ?
1) winning

2) losing

3) defeating

4) spoiling

Which of thesefitsthegap 21 ?
1) canbe

2) tobe

3) aretobe

4) will be

Which of thesefill thegap 23?
1) lose

2) win
3)  play
4) fight

21



Q.43

(1)

Q.44

Q45.

Q46.

Quantitative Reasoning

I - HY (AT Teh)
U9 43 ¥ 60 / Questions 43 to 60

(837 + 163)° + (837— 163)° =
837 x 837 + 163x163

4000 (2) 674(3) 2 (4)None of these

A Number is 36 more then its 2/5th, the number is -
(1) 48 (2) 60 (3) 56 (4) 68
Tk G&A1 399 2/5 9 91T 9 36 31fyes § O T&A1 &1 4 8 -

(1) 48 (2) 60 (3) 56 (4)68

An electric device make beeps after 60sec Another device
make beeps after 62sec. They beeped together at 8.am. next
time they would beep together at the earliestis

(1) 830am (2) 831am (3) 859am (4) 9am

T faegd ST 1 ST 60 Fohee & a1E YH: Il § | T Th 3T
YT 62 Tehwe NG G TSI & | ST USRI 6T STATH YT : 8:00 S Teh
1 SIS € | G2 ST ohT STCTH SrareTst fohar srt s |

(1) ITd:8:30 W (2) Ud:8:31 W (3) Y:8:59 W (4) UTd:9:00 IS

Which of the fraction lies between 3/5 and 2/3
T AR = 3/5 q912/3 & o= 3Tl |

2 1 1 31
(1) = 2 Q) 15 (4) =5

22



Q.47

Q.48

Q.49

Q.50

250=10thenxis

VX

20 _ 10 FIxwAmAE
X

(1) 65 (2 250 (3) 625 (4) 2500

Thetotal areaof 64 small square of chessboardis900cm’ thereis3cm
wideborder around the chessboard. What isthelength of each side of
chessboard.

Teh TTATS o SIS o 64 SIS a1 ol (el &TThel 900cm’ ¥ 3H &l & =R 3K
3cm ASTAET T | ITATS o SIS ot Yeeh Il bl STHITS =1 &I |
(1) 17cm (2) 30cm (3) 33cm (4) 36cm

Ontaking theradius of acircle as 4 timesthe radius of another circle
the circumference of the new circle will be how many times
circumferenceof thesmaller circle.

(1) 4times (2) V4times (3) 8times (4) 16times

Tk I i a1 Toh el 317 Jd ohl =R 71 oish 9Tt I foh qfRedt, ©1e ga ot

TRt & ferat T e ?
(1) 47 (2) /4T (3) 8T (4) 167

Onesideof arectangular fieldis8m and oneof itsdiagonal is17m. the
areaof thefieldis.
(1) 136m*  (2) 120m’ (3) 128m° (4) 68m’

23



Teh STTIATHR HSH 1 Teh i1 8 Hio THA & TN IHeh {ah vl ohi TS 17 Hio € | HEH 1
ATHA
(1) 136> (2) 120Hto (3) 128> (4) 68 Yo

Q.51 IN the given figure if PQ | QS, OQPT = 115° and OPTR = 20°
thenJSRY isequal to
1) 155  (2) 150° (3) 135°  (4) 95°

S
Q
R
o
115 20°
T

Q.52 Thevaluesof x andy inthefigure are measure of angles. thenx +y is
equal to

TR H X ATy TN k1 AT E A X + y BT HE BN

5y+5 ‘ D

(1)90° (2)85° (3)75° (3)65°
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( Quations 53 - 56)
Read the following passage and answer the questions that follows

. (53-56) Frefafed st=ee o1 afew aen fau 7o e & i -

It is said that word is done upon on abject whenever a force acts
upon it and displaces it. For example if plough is moved across a
field, usually a bullock or a tractor supplies the force to do the work
on the plough. Energy is acquired by the object upon which work is
done and this energy is known as mechanical energy. This implies
that mechanical energy is the energy possessed by an object due
to its motion or due its position. Mechanical energy can be either
kinetic energy (energy of motion) or potential energy ( stored
energy of position). A moving ball. for example, possesses
mechanical energy due to both its high speed and its vertical
position above the ground.

The total amount of mechanical energy is the sum of the potential energy
and the Kinetic energy. This sum is simply referred to as the total
mechanical energy (TME)

Total Mechanical Energy = Potential Energy + Kinetic Energy

Aform of potential energy is gravitational potential energy There is a direct
relation between the gravitational potential energy and the mass of an
object. Objects with more mass have greater gravitational potential energy
There is also a direct relation between gravitational potential energy and
the object is elevated, the greater is the gradational potential energy.
These relationships are expressed by the following equation.

25



Potential energy (gravitational) = mass x g x height
where m - mass of the object
g- acceleration due to gravity
h - height of the object

Since the gravitational potential energy is directly proportional to the height
of the object, doubling of the height will result in the doubling of the
gravitational potential energy. Atripling of the height, will result intripling of
the gravitational potential energy.

Kinetic energy is the energy of motion and depends upon two
variables - mass (m) of the object and speed (v) of the object. The following
equationis used to represent the kinetic energy of an object.

Kinetic energy = 1/2 mv’

The kinetic energy is directly proportional to the square of the speed. That
means that for atwo fold increase in speed. the kinetic energy will increase
by a factor of four.
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ol g W hrd fohan 7o § A At SRl ST Hehell § STel SHW 91 STRITId Bl &
3R 3H fazenfya 31 § | SeTevl & ot fhe 5t ol B § = & foig, St =1 39X
T 1 HE B B AT I Y a1 § | T8 axg R Fwr fohan S §, o o
ST T &, 3T =8 Sott AT Sl hgaTdl! © | ST dATeqd o 2ifash St femedt g
T 3Heh! T 3R 3Hen! feafa & R ffed et Bt © | A7 il ol TehR T BIdl 8-
Tfas et (T1fd & o Sett ) =41 feerfas et (frafa s sro st ) | seetur s fag, T
Tl g8 g § IHHT sl 91t 3T STHH | 3l 3Tkt Seaier feafd & wror Aita e
ffea gz

iR St ht et AN Rfast it 3T 1fast S5t <1 AFT 2ra €1 36 AR i
el Fifsa i (total mechanical, TME) S8 g1

A ATAh Sott = Ferferst et + 1o St

T YR ! Tearfast it - e feafas o1 § | e feafast S ik
T & TIHM | Hien Geie ¥ | 31fees S| arelt st S e feafast e oIk
T S TSI H G Gel# § | ATk oo el st ol e feafast it it
AT I TG I TG IR ot feafas ot # off gien ey 8 & 1 oot aeg &t
ST Bt & ST ST € SHe el Feerd S Sl 21t € 1 57 Sl b e Tt
EENRISIEETIES

feorfas et (TEET) = TSAHM X g X 348

STRT g - TEee T R

h - SR 1 ST
Hiifeh e Feafast Heil a%g Fi 3 TE o THIN Bl §, TATT 3 aTE QR i |
‘e feafas et off AT 81 S B | SET UoRR S ohi i T S TR A St ot
LIEREIE SIS

TSt it TIf <t o Bt & SR Sl ooTeht WX e el §-arg b1 g2 (m)

siRag = (V)

TTfas et = 1/2 mv?
Tt STt =Tel & &l o (V) HETAT Bl & | SEeht aread ¢ foh =rer 1 €1 T gty
TR Tt STt AR T[T & ST |

27



Q.53 Thediagram given below shows the motion of as ski jumper as she dlides
downthewill.

== Tz o o, e et & i & 3R T1fq T W@ wh v A ol el &
A geiarg |

KE=Q
PE=50 000 J

KE- KE=20 00D J
PE=30 000D J PE=30 000 J

60 m

(100 m

KE= p
PE=15 00O J 0 m KE=50 000 J

i'_ PE=0 J

What would be the kinetic energy possessed by the ski player (Jumpera) at
position B and C respectively.

fearfa'B' 31k 'C' W 3@ faretret &t fast et shaet: Bt -

€) 30,000 J, 35,000 J

(B) 20,000 J,35,000J

(C)  20,000J,15,000J

(D)  50,000J,0J

Q.54 Thetotal mechanical energy of onobjectisthe-
@ Kinetic energy minusthe potential energy of theobject (KE-PE)
(b) Potential energy minusthekinetic energy of the object (PE-KE)
(© Kinetic energy plus potential energy of the object at any instant
during motion.
(d) Final amount of kinetic energy and potential energy minus the
initial amount of kinetic energy and potential energy.
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fepritereg =t et AT ot B © |

Q.55

Q.56

(@ agHIfas e IR H feafast et § 3Tk (K E-PE)

(b)  frafas it R ifast <=it | 2@ (PE-KE)

(c) i eh SR fohat oft aror Tifast it AR feerfast Soott =1 4T

(d) g it feafast it @t Sifaw A SR 71fast Sei IR feafast i
T SRR A H T

A toy car is moving along with 0.40J of kinetic energy. If its speed is

doubled, thenitskinetic energy will be-
e TGl SR 0.40J 1 TTTasT et & TFAHA & | AfE SR el ST hi <1 T,

A TSt St Bt

(8  0.16J
(b) 16J
© 163
(d  160J

A cartisloaded with abrick and pulled at constant speed along aninclined
plane to a height of 0.45m. If the mass of the loaded cart is 3.0kg, the
potential energy of theloaded cart will be (takeg =9.8m/8?)

Tk ST 1 231 9 9T ST & 37 fAfe=r =ret @ eTHd 9 W 0.45m ohi 318 doh
W= ST % | 3R €3 ¥ it e 6 g 3.0kg ¥, A el w1 feerfast it
B (g=9.8m/8)

@ 1.32J
(b)  13.23J
(c  0.135J]
(d 30J
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(Question57-60) Study thefollowingtable carefully and answer the questionthe
follow

Yo (57 - 60) == <t T ikt bl £ Jeieh Ufgq TR U9 & ST I |
Percentage of marksobtained by 7 student in different subjects.

7 B g fafvr= faften & ure stent =51 gfawra :
Student Hindi | English | Maths | Physics | Chemistry| Biology T
Toremeft = Srferst g ifent WA | < femmA '
Maximum
—Marks 100 150 75 150 150 75 50
Afrehan 37
Amit / sifa 67 88 e 88 58 60 98
Ruchi / =it 65 78 68 70 64 72 76
Kanchan / #=m 89 66 76 76 72 68 76
Prashant / weia| 88 80 72 68 62 64 72
Mrina /9= | 78 64 76 74 68 80 78
Kunal / #ra 60 86 88 74 94 76 84
Diksha/ fzat 74 92 96 66 86 88 96

Q.57 How many marksdid Kunal getinall thesubjectstogether ?
AT A Gt ool # H et foha 37k I fohu-
(8 592  (b) 598 (c) 624 (d) 606

Q.58 What are the average marks obtained by all the students together in
chemistry ?
[} faaferi 3 waram faam  foram 3irga 7ek g fohu -

(@ 108 (b) 112 (c) 88 (d) 98
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Q.59 How many students have scored the highest marks in more than one

Q.60

subject :
(@ Two (b) One (c) Three (d) Four

foran forarfefai = wen @ 21fees faoa | 1fieraw o7es gt foru |
@ = (b) =™ (c) ¥ (d) =r

Who secured the highest marksinHindi and | T respectively,
(& Amit,Kanchan
(b) Prashant, Diksha
(c) Mrind,Diksha
(d) Kanchan,Amit
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Answer Key to Sample Question Paper |
Answer Key - Language Conventions (Hindi)

(Question 1-8)

Q. 1 (i) Ture=eh forgrem
2 (i)  @rcda
3()  oHw
4(i) RitILEIEED
5 (i)  URefHER
6(v) ST
7 (iii) e S
8 (i) e

(Question 9-16)

Q.

9 (iii) T Yee A
10 (i)  ¥gd R AT
113ii) TR ¥ R S
12 (iv) =S

13 (jii) oo g

14 (i) el g€ T

15 (i) R

16 (i) T

(Question 17-24)

Q.

17 (i) &=
18 (i)  s&H
19(ii) =

20 (i) WG
21 (iv) i
22 (i) T«

23 (i)  fafy=
24 (i)  Ydih
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Answer Key - Language Conventions (English)
(Question 1to 8)

1) 4) has been conducted

2) 4) awidely spread disease
3) 3) starting point

4) 3) asudden start

5) 4) to give information

6) 4) iscalculated

7 2) weretaken

8) 1) barrier

(Question 9-12)

9) 3)is

10)  4) interested
11)  2) attractive
12) 1) are
(Question 13-16)
13)  3) destroyed
14)  3) planet
15)  4) breeding
16)  2) disappear
(Question 17-20)

17)  4) vauable

18)  2) showed
19)  4) detailed
20)  3) dedl
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(Question 21 - 24)

21)
22)
23)
24)

4) how

2) losing
2) to be
2) win

Section -B (Qualitative Reasoning)

(Question 25 - 30)

25)
26)
27)

28)
29)
30)

D)
(2)
©)
(1)
(4)
2

Brother -in- Law / gret
Engineer, Building / ssifer, w&=
Cyclone / =rsard

30 years/ 30
5km
1050

(Question 31 - 36)

31)
32)
33)
34)
35)
36)

(d)
(©)
(b)
(©)
(b)
(d)

(Question 37 - 42)

37)
38)
39)
40)
41)
42)

(b)
(@
(@
(d)
(d)
(©)

- Sonu / |,
- Sonu / €

- Pankaj - Sonu - Sunil / 9%t - 91 - A
- Sunil - Monu / e - |1

- Pankaj / et

- Shelly - Sunil - sonu / 3reft - gt - G,
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Section - C Quantitative Reasoning)
(Question 43 - 52)

43) (3) 2

44) (2) 60

45) (2) 83lam.

46) (4 3150

47)  (3) 625

48) (4 36cm

49) (1) A4times/4T

50) (2) 120n’
51) (3) 13%°
52) (4 65

(Question 53 - 56)

53) (b) 20000 J, 35000 J

54) (c) Kinetic Energy plus potential energy of the object at any instant
during motion.

55) (¢) 1.6J

56) (b) 13.23J

(Question 57 - 60)

57) (d) 606
58) (a) 108
59) (@ Two/J

60) (d) Kanchan, Amit/ &=, stfa

35



Sample Question Paper - 2
@Ug (37) AR F STIART

;- Fr=fafed ye ge 1 3 8 | a8 we fasked gfu-

1. RSO RN HARTAE I | A H -1 foerem g ?
(i) Tqorem=rek fargremor (iii)  srffera afwmoreT=es fagrem
(iii) HreTHe forrem (iv) Iffi=a geamEme fagmm

2. ‘qTSTHES Jgd Yel © | IR H IfaRivur g |
() demed (i) Ed (i) g (iv) ®

3. fafear P A ST @ | A | A fshan g ?
(i) wHH® (i) sRE*  (ill) Wondw  (iv) qeehifaen

4. TH 3180 ST Hehdl B | SR H Werd ot foremn 5 |
() FoErs (i) e
(i) wftamoTET=eS
(iv) Gfar==

5. SEgiedTdvE?
(i) omRarR (i) smeffarg (i) smwfaie  (iv) sfdierg

6. ‘Fehey ' vTeg H Y ST R |
(i) == (if) &1 (i) =g (iv) ==
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7.

Sigeh W Tt Fehed! | TEifehd U8 H Reh ©
() FOFERE

(i) FHFE

(D EEESEETED

(iv) wegaR®

TEEAATE ovvvererne g | R v & fau Sugsi v 2 |
(i) <TIEA
(i) R
(i) =urg
(iv) =
Tue (@) HeH H e

a9 - Fr=fafad 997 9= 9 | 16 § wad 3fua faseu =1 =9  wifsu-

9.

10.

EL hT YIT ST

() T =EET A
(i) FAAEREE

(iii) gHEaH
(iv) zHaa

ST HEAT-
() wErSaEn
(i) e
(iii) A

(iv) ardt e
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11.

12.

13.

14.

15.

ST et Tl | BT -
(iii) = =t =me & =e

(iv) BeE#HuET

THA Tt o1 bl ek ot ...

(i)  h1da HekTe fean
(IR EEER
(iii) A e e
(iv) =ifaaermfean

BT RITN TG H W

() serfen
(i) e
(iii) Ferfen
(iv) W fen

IR 7 5 & HeH H S, .

(i) wwfe
(i) femfem
(iii) =@fy
(iv) w@fen

T SR et off &t i SR @t € |
(i) Y TARR
(i) I9 TAHR
(i) Sumr TSR
(iv) &9 3R
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16.

HoR g7 Wi A7 Sl |
(i) STIUTE 3TeAHR
(i) ST STAFR
(iii) T SRR
(iv) 3T STAHR

QU () T Gfel B
Frdor:- 4 feu o=t il Uga WY WA 17 9 24 H 3fud faseu 1 =

HifST |

TR 1 BAR 17 T ogd e ¢ | TR oA € 379 18 ol T o< Tehdl € |
e B i START, 19 BT ¢ | TH TTeal | 20 i Fogl & Fhatan € 1 70 21
fT TS 3101 Te1 & | 31 1l SR ¥ 371 fS@Ia1 § | 24 A A ehee!, WS &
23 TA RS TG | SR 24 femar 3 forman g

17. feaTm17?
(i)
(i)
(iii) =i
(iv) e

18. Raazear18?
(i) =d
(i) <&
(iii) od
(iv) =

39



19.

20.

21.

22.

(i)

23.

(i)

24.

(i)

T 19 ?
() Ser

(i) e
(i) =

(iv) W

Reazam207?
(i) =™
(i) ¥
(iii) w1
(iv) =M

T 21?
(i) =ust
(if) Sfar
(iii) 2rdt
(iv) ®1e

Reawam 22 ?
Sl (i) e (iii) T
Reqasam 23?2

E71 (ii) = (iii) =

Reawam24?
Teor (i) 9 (iii) Tt

(iv) W

(iv) =

(iv) SR
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Section A - Language Conventions

Note: This section of the question paper contains 24 guestions in the English

language. A studentisrequiredto attempt all the 24 questions

(Questions 1- 8) : Read the following passage carefully and select the most
suitable option from each list according to the corresponding number in the

passage.

©WoOoNoOUkAWNE

=
o

=

About two-thirdsof the Earth'ssurfaceiswater.
Landtherefore coversacomparatively small areaof our planet.
Theworld populationisincreasing very rapidly.
Itissaidthreetimesasmuchfood asweproduce at

present will beneeded by theyear 2010if everyoneisto

have enoughtoeat. Only half theworld popul ation

today can afford enough of theright kind food.

Theamount that peopleeat al so variesconsiderably.

A workerintheU.S.A., for example, eatsthreeand ahal f
timesasmuchfood aday asafarmer in South-EastAsia

Inline6, theword "enough” could best bereplaced with
1) lots

2) more

3) less

4)  sufficient

InLine 3, theword'Rapidly’ could best bereplaced with
1) growth

2) fast

3) rising

4) quick

Inline4, theword 'produce’ could best bereplaced with
1) bring

2) make

3) created

4)  manufacture
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Inline 2, the word ‘comparatively' could best replaced with

1) relatively

2) related

3) comparedto
4) comparable

In lineb, the word 'everyone' could be replaced with
1) anyone

2) al thePeople

3) someone

4)  most of the People

Inline 7 the word "afford" used as a noun, would change to

1) afforded
2) affordable
3) affords

4) affording

Which of the following isthe correct spelling of the word "Varees"

1) vars

2) vareis
3) varies
4) vares

In linel, the word "surface: could best be replaced with

1) thelnnermost Layer
2) thetop layer

3) themountain area
4) thecovering
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(Question 9 - 12) : Complete this passage by choosing the most suitable word /
phrasefromeachlist tofit thecorresponding gap

The (9) of the computer, i.e. the chip has become an important 10 of any
musician'stool. A method of sound production using the chip called the
Digital Waveguide synthesis not only 11 instrumental sounds but also 12
performance nuances such asacoustic variations.

0. Which of thesefitsgap9?

1) lungs
2) brain
3) liver

4)  heart

10 Which of thesefitsgap 10 ?

1) part

2)  product
3) object
4)  branch

11.  Whichof thefitsgap12?

1) adds

2) adding
3) addition
4) added

12.  Whichof thesefitsgap11?

1) reproduces

2) make
3) generated
4)  processed

43



(Question 13 - 16) : Complete this passage by choosing the most suitable word /
phrasefromeachlisttofit thecorresponding gap

Gandhiji wasonce 13 inthe open compartment door of aspeedingtrain. Hewas 14
inhisthoughtswhen oneof his"chappals' 15 hisfoot and 16 down.

13.  Whichof thesefitsgap 16 ?

1) falen

2) fal

3) fell

4)  hadfalen

14.  Whichthesefitsgap 157

1) dip

2) dipping
3) dipped
4) dips

15.  Whichof thesefitsgap 13?

1) stand

2) stood

3) stands
4) standing

16.  Whichof thesefitsgap 14 ?

1) lost
2) losing
3) lose
4) loser
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(Question 17 - 20) : Complete this passage by choosing the most suitable word
/ phrase from each list to fit the corresponding gap

Snake charmers 17 a very colourful picture of Indiato the tourists but the 18 of
their own lifeis quite sad. They wander to many places 19 their skills but due to
new forms of 20 like circus, television and theatre, their earnings have gone
down.

17.  Which of thesefitsgap 19 ?

1) display

2) displaying
3) displays
4) displayed

18.  Which of thesefits gap 20 ?
1) entertaining
2) entertains
3) entertainment
4) entertained

19.  Which of thesefitsgap 17 ?

1) display
2) present
3) showed
4) give

20.  Which of thesefitsgap 18 ?

1) reflection

2) redity

3) real Problem
4) actud
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(Question 21 - 24) : Complete this passage by choosing the most suitable words
phrasefromeachlist

Value of money has gone high. Everyone wants _21 rich without hard-
labour. He does not hesitateto adopt _ 22 at al to become rich. All religions
23  great stressonhonesty and at other social andmoral _ 24

21.  Whichof thesefitsgap24?

1) vauables
2) vaued

3) vaue

4) values

22. Which of thesefitsgap 237?

1) lays
2) lay
3) lie
4) lied

23.  Whichof thesefitsgap22?
1) anymeans
2) dlmeans
3) everyMeans
4) someMeans

24.  Whichof thesefitsgap21?
1) tobecame
2) tobecame
3) becomes
4)  becoming
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Q.25

Q.26

o - ot ( I[UTTHk deh) Section - B (Qualitative Reasoning)

9T 25 ¥ 42 / Question 25 to 42

Choose the correct option in the given question circle is related to
circumferenceasrelatedto-

(@ Diagona (b) Perimeter (c) Area (d) Volume

T T 59 & fere et ferherd gL~
FAF HII IR I ], AT HTH ... TR

(a) fawoi  (b) uwfREm (c) &A%a (d) @

Introducing agirl, mohan said. "hes mother isthe only daughter of my
Mother-in-Law". HowisMohanrelated tothat girl ?

(& Uncle (c) father

(c) Brother (d) Husband

Teh TSeh! 1 TR=I <0 U HIEH = 9T, TS eh! b1 [T BRI T i Sehailat
it & HIgd ekl § o Helfdd 8-

(a) =r=n (b) fiar

(c) i (d) ufg
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Q.27

(@)

Q.28

Q.29

Select thecorrect answer figure.

T o fem i -

M B

(b) (€) (d)

Which letter should bein the place of question mark in the following
series?

= <t g Sroft § e fare o T TR ShIF T TR ST -
ACFJ 2 U

@ O (b) K (© N (d P

A man is going to Chandigarh from Delhi by a car. which of the
following of importancefor hisjourney -

(8 TheMusicsystem of thecar should beworking

(b) Thecar shouldbewhitein colour

(c) Thetyresof thecar should haveenoughair

(d) Themendrivingthecar should beproperly dressed.

T ferd R R fEeett 9 =€iTe 5 w@ie | f7=1 A %9 9 fashey 3ge! amn
& fau mReEqUi % 1 -

(a) HRH GId G 1 H1EH 3k 2

(b) HRAHE T B =T

(¢) R I T v T o g Bl =y |

(d) FR ! T STl AR ST=5t qremes &l |
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Q.30

If BORE=ERBO, whatisSPAR

T BORE=ERBO®,dISPARFI® -

(a) RASP  (b) RAPS (c) APSR (d) PSAR

(9931 -36 ) Tr=aferfied Jis =1 gfeu qen fou e yve=i & Swife

Q. 31

Q.32

Q.33

C27U541Hx $KE3LB@ARMI16F%JGY9
SR FS H Weft 37T 3R Ycftehi sl fehTeT § o1 TC | H1ad TM WHE
||

(a) @
(b) M
(© L
(d B

o

RIS | U foham weites € Ford i Ueet shig et 1 = ailg § i § 2

(a) 1
(b) 2
(o 3
(d) 4

T o U fohae e & ST forel Wefieh 9 veel 21 o1 H 7161 & 2

(a) 7
(b) 8
(© 9
(d) 10
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Q.34

Q.35

Q.36

I B U foham wofteh § fS17eh 8 Teel 18 oo § W] o1g | T TRl
772

(a) 1
(b) 2
(o 3
(d) 4

e | U3 fohan oo § 998 9 7ds & g U8 T Wdish a1 Th
TeHTiHh §?

(a) 4
(b) 5
() 6
(d 7

RIS H 797 T & eR R fefafed 9) # 9 i R yer wme §
3T 2 3Toh1 Ueh THE o1 & 916 hI- |1 ¢ 51l 38 THE H eI T € ?

(a) KL3
(b) FX%
() R61
(d) 1$%

(Question 31-36) Read thefoll owing passage and answer the question that fol | ow-

Q.31

C27U54IH* $K E3LB @ARM 16 F%JG9.

In the above series after erasing out the numerals and symbolswhich
oneisontheseventhfromtherightintherest series.

(@ @

(b) M

(© L

(d B
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Q.32

Q.33

Q.34

Q.35

Q.36

How many symbolsaretherein the serieswhich have aconsonant at
just beforeor just after them.

(@)
(b)
(c)
(d)

How many numerals do not have any symbol just before or just after
them.

A WNPEF

@ 7
(b) 8
(© 9
(d) 10

The number of symbolswhich hasaconsonnt just before them but not
avowe just afteritare:-

(@ 1
(b) 2
(© 3
(d 4

Total no of consonent in the series which have asymbol or anumeral
just beforethem are:-

(@ 4
(b) 5
(c 6
(d) 7

On the basis of their position following three out of four are alive
hence making aset, find the onewhich doesnot comeinthe set.

(@ KL3
(b) FI%
(c) R61
(d 1$*
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(Question 37-42) Study the following and answer the question in the following

Q.37

Q.38

Q.39

diagram:-

Triangle represents the singers
Rectangle represents the Doctors
and circle represents the joint families.

Findthedoctorswhodonoliveinjoint familiar but they aresingersas
well.

(@ O
(b) M
(© N
d L

Number of Doctorsnot singerslivinginjoint family are:-

(@ O
(b) M
(© N
d L

How many singersarenot doctorsbut arelivinginjoint family.

(@ M
(b) O
(© N
d R
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Q.40 Thepersonslivinginthejoint family neither singer nor doctors:-

(@ P
(b) ©
(© M
d R

Q.41 Total number of doctorslivinginjoint family are:-

@ O+M+N
(b) O+M+N+L
(c) O+M+R
(d O+M

Q.42 Total number of singerslivinginjointfamily are:_

(8 O+M
(b) M+R
(0 M+N
(d) O+tM+R

(9% 37-42 ) Tr=fafea =1 9feuw qen feu o yv=1 & s e

e Yt § 7 ye i shtan © - ekl 0,
ot g feid shear § - Sfaed i |

I TRTITT h¥el & - SRt TIRaR] &l |

T TR STHRA UL o SR o Hal faehed FC |
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Q.37 U Tae St Gge IRaRi # g e ST T € |

(@ O
(b) M
(© N
(d L

Q.38 G IR H Y@ d1et 3l Ao S ek 71é Sl | |

(@ O
(b) M
(© N
(d L

Q.39 Gt URER B T8 a1el o Tk Sfae el |

(& M
(b) ©
(© N
(d R

Q.40 G IER H 1@ 1ot o SAfer it A ol Tk © 3T T & gt

(@ P
(b) ©
(© M
(d R

Q.41 G IR H & a1l e ST fohe §
(d) O+M+N
(b) O+M+N+L
(c) O+tM+R
(d) O+M

Q42 TR UNGR H T oIl A M § 2

(@ O+M (b) M+R (c) M+N (d) O+M+R
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Section -C (Quantitative Reasoning)

T -t (AT qoh)

9 439 60 / Question -43t0 60

Q.43

Q.44

Q.45

Q.46

Caculate/ s
(679 + 267) - (679 - 267)

679 x 267

201
(1) 3g3

24 isdivided into two parts such that timesthe 7 first part added to 5
timesthesecond part makes 146 thenfirstis

24 1 T8 YRR G1 AT H S1e] 71 foh Tt 9T o1 7 A1 IS S8R AT & 5 T
T Sire fean ST 146 9T a1 & T T8t ST R 8

(2) 412 (3) 5 (@4

1) 1 (2) 13 (3) 16 @) 17

Three piecesof timber 42m, 49m and 63m long haveto bedividedinto
planksof thesamelength. Thegreatest possiblelength of each plankis

THE! o 19 TAGT hI AT SHHT: 42 T, 49 Hlo 3R 63 WY, H F R
T Zhe Hied § | TAH § H Afhad fohaet T & THe 1S S
THdE |

(1) 63m (2) 42m (3 14m (4 7m

Solve/gAHU

0.289 _,
0.00121 o
17

i L % @4
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Q.47

Q.48

Q.49

The length of al rectangular plot istwice its breadth and the length of the
diagonal is v9m Theperimeter of theplotis.

Teh STIATRR EUE hi TS SHHT NS ohi G ¢ | A S0k forah o wrvae
9v/5m ¥ YIUE ST IR R 2 2

(1) 36m (2) 54m (3) 72m (4) 81m
Thelength of therope by which acow must betethered in order that may
beableto grazean areaof 2464m*is(take T[= 2—72)

TEHT 1 o8 TS 1 ShiTTe ey fohel! T ol e & oy fean 1 o 2464m°
AR H T =R T | ([[HIHME = 2—72)

(1) 28m (2) 16m (3) 44m (4) 72m

The wire when bent to form a square encloses a region having an area
121cm’. If the samehasbeen bent into theform of circletheareaof the

circlewould be (take Tl = % )

Teh AR 1 HI o3 Teh o o141 710 & Foreht &1t 121 o1 WE e g afg sdt
22
TR G Teh I ST STl ST &(hed 2 ([H AR =" )

() 144cny (2) 180cm®  (3) 154cn’ (4) 176cm’
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Q.50 InthegivenfigureJA=80° 0 B=60, 0C=2xand JBDC=Y.BD andCD
bisects [1B and JCrespectively. Thevaluesof x andy respectively are.

A

80°

(1) 15°and70° (2) 10°and160° (3) 20°and130° (4) 20°and 125°

& T ameRfa § [(JA=80° 0B=60° 0C=2x BDC=Y BD @& CD @1 CD
wAe: (1B a2 [ C o hivr SHfgHISTeh § | X ATy o el A 8- |

A

80°

(1) 15°@=M70° (2) 10°q=M160° (3) 20°qem130° (4) 20° T 125°
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Q.51

Inthegivenfigure if EC 7AB, JECD =70 IBDO =20"then JOBD is
equal to

70<

C 20=

1) 70° (2) 60° (3) 50° 4) 20°

S eeRfa § Afg EC /AB, DECD = 70° OBDO = 20° i1 JOBD &1 4

70<

A
© D
| a—

(1) 70° (2) 60° (3) 50° (4) 20°
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Q.52 Thelength of achord of acircleis equal to the radius of the circle. The
anglewhich thischord subtendsin the major segment of thecircleisequal

to.

(1) 30° (2) 45° (3) 60° (4) 90°

T I ! SIS hi ST 3T a1 & sRIeR | Sia g 94 & Sreeve |
ST T 10T Shl |9 T BT |

(1) 30° (2) 45° (3) 60° (4) 90°
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(Question 53-56 )
Read following passage and answer the question that follow :

(99953 -56)

Frfafed sTg=eg o1 afed aen fiew ¢ g9+ & S SIfe-

Paper chromatography can be used to identify metal ionsin waste water a
drop of water sample solution is placed on filter paper. The bottom of the
paper isset inasolvent that travel sup the paper (seefigures)

i =<—— beaker
direction of

solvent movement
\‘__'

drop of

- lilter paper
sample solution - e

solvent
Figure 1

The solvent carries the ions up the paper. Some ions move faster, and
therefore farther than others, resulting in a separation asthey move up the
paper. The paper is dried, them stained, causing the ions to appear as
coloured spots. Rf valuesare cal culated for each spot.

Rf= Total linear distancetravelled by ion
Total Tinear distancetravelTed by Solvent

Table 1 shows Rf values for 5 ions and Table 2 shows Rf values of ions
present in 3 samples of wastewater. The same solvent wasused for all ions
and samples.
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THITST ShIHCIITHT STAFYTSE STct | &1 ST h! U i o fore Jaim fean <
Gohdl § | T S Teh 9% ! {thee o T TR T 74T | SITS o fi=et fo Tk
Toretreren ¥ feera ¥ | 71 foreirares st § W et S =ear s | (fas-12fem)

T3 o faerA

foreTTreh ST Rl HTTST H TR 1 3T o ST © | R ST il 9 =g © $Hfay
TERI ! T H R TR © | IR 3 ST S0 Fgd-=Igd Y2 & S
T | TS B! R S &, FoRe Iea (1) fopanm <t ®, fored) o1 i eyt
% €9 H feEH T € | Ik &9 1 Rf A (&) F1d fhan ST g |

Rf = s1a grada =1 718 g gt
IENIRERN-NREIRIHE TR
qfereht 1 Sl Rf A i <wiian € SR et 2 ST st o < T 4
ufeerd STl & Rf A 1 S9Iian § | et 1 IR T & faw we foemaes
T R T g |
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TABLT / anfetent

Molar Mass/ | Distance Colour /
lon / ST mewe | Travelled/ | R | SPOLCOOW
g/mole it (CM) e
LREIRIH
N'Cki.Q At 58.7 0.8 008 |  Pink/ et
i
Cobalt / &1dree Brown - Black/
58.9 3.5 0.35
C02+ Q:BT—Q;R'“
Copper /@&
N 635 6.0 0.60 Blue/ e
Cu
Cadmium /
heftay 112.4 7.8 0.78 Yellow / dem
Cd”
Mercury /
B - Bl
K 200.6 95 0.95 roqg'_mack/
H92+
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TABLE-2 / atfetent-2

Note: Sample contain only the metal ionslisted in table
Fe :  AHE H haa et 1 geEiag wrg e 3fufied g

Sample/ Ri Spot Colour /
kAl & Rl T
1 0.60 Blue / Hren
0.78 Yellow / dien
0.35 Brown - Black/ {{-hTetl
2 0.95
' Brown - Black/ {U-<hTell
0.08 Pink / 1 6“5“
3 0.78 Yellow / dtef
0.95 Brown - Black / U-hTetl

Q.53 Theinformation intables 1 and 2 supports the conclusion that ‘'sample
3' contains -
(@ Cu” and Cd” only
(b) Co™ and Hg™ only
(c) Ni*", Co™ Cd”only
(d) Ni*, Cd® and Hg” only

difetert 1 3R 2 H < TR e & SR W 39 5kt T I8 <1 Hehell ©
fo ‘g 3" H 3ufterd a1 ¥-

(a) &aa Cu”™ IR Cd™

(b) sa Co™ 3R Hg™

(c) ®aa Ni**, Co™ IR Cd™*

(c) &aa Ni*, Cd” &R Hg™




Q. 54 Arrange the metal ionsin order from the fastest to slowest speed with

Q.55

they moved up the paper (refer table-1)-

(@ Hg”, Cd”, Cu™, Co”, Ni*
(b) Cd™, Cu™, Co”, Hg”, Ni**
(©) Ni*, Hg", Co”, Cu”* ,Cd”
(C) Ni2+’ C02+, Cu2+’ Cd2+’ ng+

SIS H HUL T SR T 71 T =T & STER TR, T ST 6] FoId 71 H Forld
et 71t H SHefeerd shifsre (e arfersht-1)

(@ Hg”, cd”, Cu™, Co”, Ni*
(b) Cd2+, CU2+, C02+, ng+, Ni?*
() Ni*, Hg”, Co”, Cu™ ,Cd”
(c) Ni*, Co™, Cu”, Cd”, Hg”

Based on the information given in the two tables, one can conclude that
2 contains.

(@ One metal ion only

(b) Two metal ionsonly

(c) Either one or two metal ions
(d) Morethan two metal ions

fershtatl § ST T8 SR & THR WX, I8 Feh Fepren e T = 2
H Sufeerd &

(@) Shad Teh 91g A

(b) T &g 3T

(C) T A1 <l 9Tg 3T

(c) < ¥ 31y g A
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Q. 56 Which of the following figures best illustrates the appearance of the
filter paper after 'sample’ was analyzed -

T 1 foveree S W, & 1 e S &6 fEmee F vl
w9 Y T 5-

] =Key /25t
° O = Yellow / dren
(@ — distance traveled / faee g1 0 &1 T g @ = Blue/ e

— L starting point / 3Tt foig

(b) . distance traveled by solvent / faaae g1 @@ &t 7€ O

L. starting point / 3T fog

() | s |- distance traveled by solvent / fereTreh g1 T i T8 gl

L - starting point / 3Ty fag

(d) - distance traveled by solvent / faerre gr1 7 =1 TE T

- starting point / TR foig
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Question (57-60 Refer to the following pie charts & answers

T3 (57-60) & T f9=1 orE =9me ol SEHt ST |

Distribution of Protein Human body Distribution of Human in
Human body

Hormones
Enzymes
& other proteins

g IR § W &1 faawo g IR § e o1 faaeo

i Afern
T Y3
T o
T WIS

Q. 57 What isthe ratio of the distribution of protiensin the muscles
to that of the distribution of proteinsin the bones?
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Q.58

Q.59

Q. 60

What percentage of the total weight of the human body is equivalent to
the weight of the skin in the human body ?

A IR & o AR 1 TR Aa IR T &= & s © 2
1) 1C

2 016

(3) 0.016

(4) Insufficient data/ $T5R 3THS

To show the distribution of protiens & other dry elements in the human
body, the arc of the circle should subtend at center an angle of.
e TR H e 3R 311 g T ol faaor <2 o fofe ga &t = &

TR foRa 3791 T HI0T I ?

1) 120° (2) 54° (3) 108° (4) 252°

What is the quantity of water in the body of a person weighing 50kg?

g AT TRt o 50 fem.am. & SH 9 6t A e |

(1) 35kg  (2) 120kg  (3) 7l42kg (4)20kg
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Answer Key - Language Conventions (Hindi)
(Question 1-8)

o

(iv) A= e fagom
(i) =&

(i) i

(i) oS

(iii) st

@iy =m
(i) FUERE
(iv) fa

0o N o1 ol b WODN P

(Question 9-16)

Q. 9 (i) A SR W
10 (iv) 2t 3=
11 (i) = =t = € "o
12 (iii) w1 are = fen
13 (i) wmfen
14 (iii) =m@few
15 (iii) =¥% TEHR
16 (i) 3um STEHR

(Question 17-24)

Q. 17 (iv) Sftem
18 (ii) <&
19 (i) wwem
20 (i) ==
21 (i) S
22 (i) et
23 (i) =
24 (iv) <=
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Answer Key - Language Conventions (English)

(4)
(2)
2
(L)
(2)
(2)
3
)

O~NO O A~ WN P

(Question 9-12)

Q 9 (@
10 (1)
11 (1)
12 (1)

(Question 13-16)

Q 13
14
15
16

3
3
(4)
D

(Question 17-20)

Q. 17
18
19
20

(2)
3
()
2)

(Question 1-8)

sufficient

fast

make
relatively

all the people
affordable
varies

thetop layer

brain

part

adds
reproduces

fell
slipped
standing
lost

displaying
entertainment
present
reality
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(Question 21-24)

Q 21 (4) vaues
22 (2 lay

23 (1) any Means
24 (2) toBecome
Section - B (Qualitative Reasoning)

(Question 25-30)

25 (b) Perimeter / 9i\Tg
26 (c) Brother /s

27 (¢

28 (@& O

29 (c) Thetyresof thecar should haveenough air / R @ 2= § gt
A H g B =fe |

30 (@ RASP

(Question 31-36)

Q. 31 (d B
32 (d 4
33 (b 8
A b 2
3B (@ 4
36 (@ F%
(Question 37-42)
Q 37 (¢ N
38 (@ O
39 (d R
40 (@ P
41 (d O+M
42 (b) M+R
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(Question 43-52)

(Question 53-56)

Q

(Question 57-60)

Q.

43
44
45
46
47
48
49
50
51
52

53
54
55
56

57
58
59
60

(4)
%)
(4)
(1)
(2)
)
)
3)
3)
D

(d)
(@
(b)
@

(b)
(d)
(©)
(d)

Section - C (Quatitative Reasoning)

4
13

m

170/11

54m

28m

154cm’

20° and 130’
50

30

Ni*, Cd® and Hg™ only
Hg”, Cd*, Cu™, Co”, Ni*’
Two Metal ions only

2.1

Insufficient data
108’

35kg
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EtE

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

PSA-IX (HINDI)
SAMPLE QUESTION PAPER-3

Language Conventions (1 to 24)

Gug (3) AR d ATIIAN

At 999 1 9 8 H How 98! faskeq g -
S B HeT | I T @ | W@ifehd 955 1 oo 98 sifey -
(ORNEIEED (i) TR
(iii) A= qREATITET=S (iv) STHY=Id e
‘veHrerd! STeid et T ot § gl 2

(i) T (i) eFq

(i) 9ot (iv) T

e T T T R W - TR 22

OEERED (i) THHR
((HMESRED (iv) TRomei
- S Stifert @1 R

(i) < (i) =

(iii) TH-TRH (iv) STeei-STeat
e 1 g 9 wEl v 2

() Sww (i) STgF
(i) SR (iv) STg=
LSS 2 e (<> L AR (SHT7)

(i 9 (i) o

(iii) @ (iv) <t

‘1" STt o1 T foRd veE § g3T €2

(i) ST (i) 3TTs

(iii) = (iv) SR



Q.8

a1 T FHSI T T &

() A
(iii) T

g (9) T | vrssrae

frefafed w9 9= 9 9 16 | Ta9 3fea fasred 1 =7q Sifsw -

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

BT T T T

(i) HTHT A T
(iii) <t ® g1 ST
TR ARAT -

() TrFRFE

(iii) R =

() T Tl g
(iii) FTHE BT
TR THISHT T -

() I famr
(iii) =g =S <
BT T Teel Tl -
() FISREM

(iii) 31 TR B
3te HaT -

() AT

(iii) 3T FHTA

R T AR -

() O e
(iii) =R & gl faemn

OEEIRER TS
(iv) Hetea o e

(i) ST HTH HE
(iv) R = o fgor g

(i) TPL-THL @
(iv) 1 3T

(i) U=
(iv) BT ek 3

(i) FBMA
(iv) =gd &4 T

(i) | S
(iv) T T AEH HEAT

(i) e A
(iv) R ¥ dref g



Q.16 e 3@ 9 3@l -

Q.17

Q.18

Q.19

Q.20

(i) T THM HEA (i) e T
(i) & e (iv) Teh Teremem  de

Que (H) TRANT gfd hifeg

: A U T ST=E] Rl YgHR WRH W& 17 9 24 H 3fuq faweq &1

EREEIIE I

AT K1 I=IAH HIEHT oh Wil AR Sfad o 9o v I A
1 AfATaTd IR T o 3 U d- 1 e ST TSl 81 AT
S{ie T STRRUT T HHMST hl ....17.... AN SHHT ALILH U
Sfre <9 AT ....18.... R A1 71 THok Taradia T ... 19.... H TS
geft € firerdt ®1 6w ....20.... wffrfial g9 A o fommem 5
2], B TR €| UG STET SO D ...22.... T FTEl Teh WO T
EAN ....23.... T Wed € o HRU Geol B Wl 1 ....24.... Td
331 Td 3EHR I W fed e o R e 2l

T s 172

() FER (i) =7
(i) T (iv) fAfsRa
o T 1872

(i) fawra (i) fHuma
(i) @ra (iv) A9
e w1 192

() e (i) TS
(i) =g (iv) e
e = 20?2

(i) STETET (i) 9|

(iii) fafere (iv) faom



Q.21

Q.22

Q.23

Q.24

Raa w212
() A9
(i) Ha
R T 2272
(i) TR
(i) @A
TR T 2372
() ¥
(iii) 3TaEH
TR T 242
() W
(iii) ===

(i) o=
(iv) foarg

(i) sTve
(iv) 3Ty

(i) weH
(iv) 3T_H

(i) ==
(iv) STaeH



Qualitative Reasoning (25 to 42)
[k.M (c) xg.kkRed roZQ

Q.25 et weitTg | T&Edl © °e fenrerd wdd %1 3R e i Tel § 9%
Tt SR et B SR R geahs Sl 3R St © 39k o1% o <t 31k
qgohl TF WX St € 7R fhY Sff R qea Use (15) Hiet Jerd! @
3fq o o TR <t 3R gedt ], o1e o e o 9 g 1 3t s @1 2
(a) fedTe™ vaa ot (b) S T @TS!
(c) fex#em™mR (d) 3RE TR
Nandini lives in Chhattisgarh. She is standing facing Himalaya
range, she goes right than she turns and goes right again. Then
she turns left and goes 10 meter than she turns right and walks
(15) fifteen meter finally she takes a right turn. In which direction is
she heading now.
(a) Himalayan Range (b) BayofBangal
(¢) IndianOcean (d) Arabian Sea

Q.26 fSU T S7&R-31h F@eN H YTATaRA oF LA W F1 3l AM6T?
A2C, C4E, E6G, G8I, ?
(@ 110J (b) G10K
(c) 110K (d) J10K
Which of the following will replace the ‘?’ (question mark) in the
given alphanumeric series.
A2C, C4E, E6G, G8I, ?
(a) 110J (b) G10K
(c) 110K (d) J10K

Q.27 IR foreh 7 o1 weal (Ba) &7 WHar @ i+ K7 veet var €
3t 7EH § 26 9@ 1 iE-91 T 2

(a) AR (Feeafdar) (b) YeheR
(c) WHaR (d) TYHaR




If 6th day of month falls on 3 days preceding monday, what day of
the week will follow on the 26th of the month.

(@) Thursday (b) Friday
(c) Saturday (d) Monday
Q.28 AR et YR F U 228 TG HARN o A 98 3T sk §d h
foha =Rt R T kT 87
(@) 8030 (3113 TSR 1) (b) 365 (= THa)
(©) 22 (Im=H) (d) 01 (TH)

If, Ishwar celebrated his 22nd birthday, yesterday, than how many
revolutions of the sun he has completed till today :

(a) 8030 (eightthousand thirty)

(b) 365 (three hundred sixty five)

(c) 22 (twentytwo only)

(d) 01 (oneonly)

Q.29 fiu U fashcdl ¥ ¥ 39 ¥ &l gAY S = KU g 1= # wnfha

37e 9 TR 99 Hehdl|

PRESIDENT
(a) RESIDENTS (b) DESIRE
(c) TIRE (d) REPENT

From the given alternative select the word which cannot be formed
using letters given in the words.

PRESIDENT
(@) RESIDENTS (b) DESIRE
(c) TIRE (d) REPENT
Q.30 ARG werdfd s +wmeiT ' Hwef T x’ AR TN H
AR P A48 +2+4-2x4=7?
@ o (b) 1
(c) 20 (d) 44
If ‘+’stands for '+’, + stands for ‘—', ‘—" stands for ‘x’, and ‘X’ stands
for '+’ then.
(@ O (b) 1

(c) 20 (d) 44



1391 (31 @ 36 9%) Y & T&E U § 9R V= KU MU § fod
WO HTE Tad T I Gaol A XU e o11e @t o 9 U % 5}
<yt TR § o YEtes S U o f{U T vIssl o HeH ol Hel-ud)

el ®, 31T9ehT STR € 379+ 3w o forg el ferehed gfa?

Direction (31 to 36) In the following each question has four words.
These words have a kind of relationship. Which is shown by the
diagrams out of these given eight diagrams (A, B, C, D, E, F, G, H)
only one shows the relationship correctly. The diagram which
shows the correct relation of the words in a question is your
answer, selectand mark the correct choice.

A B
c Do
- ®
. @®

Q.31 fioedt, S| U=, ohidd, A&
Delhi, Uttar Pradesh, Kerala, Lucknow
(@ B (b) C
(c) D (d G
Q.32 =M, f&A, wdl, 9«®

O
O

B @O




Q.32

Q.33

Q.34

Q.35

Q.36

Year, Day, Month, Week

(&) F (b)
(c) E (d)
Ty, fed, #EH, dwe

Year, Day, Month, Week

(@ F (b)
() E (d)
geall, WHg, ¥d, wed

Earth, Sea, Sun, Mountain

(@ C (b)
(c) E (d)
Dog, Cat, Mammals, Animal

(@ D (b)
() G (d)
©pdl, &, 9N, M

School, Town, Market, Shop

(@ A (b)
() C (d)
sk, TR, fees, AEIRER
Dancer, Singer, Teacher, Citizen
(@ F (b)
(c) H (d)

W m



[RESIE

Qualitative Reasoning (37 to 42)

(37 9 42 )
frafafad Yol § *, @ , %, & 91 $ Yaiehl T 1= <are 7T a7 |
T femen T B

AxBHTaEE & A BY TS TRl
A@BHF 3 ? & A BHTSR
A%BH AET & A BUBRL
AdBwTi? & A B ST

A$BHTAZ & A BIBRITI R

Yften! oF IURI AT oh STHR T = o KoMl Sl T T1d T Il
ST foh Yedieh sheM o 1% X a3 foroem | qen 11 H shi-an/8 el
? fEu Tu fashedt (a) (b) (c) 3R (d) & & 3w ok forg wet foshed g+

Direction : (37t042)

Q.37

In the following questions symbols *, @ , %, dand $ are used as
follows:

A Bmeans — AisnotlargerthanB.
A @ B means — AislargerthanB.

A% B means — AissmallerthanB.
AdB means — AisequaltoB.

A$B means — AisnotsmallerthanB.

On the basis of above meanings of the symbols and considering
the statement in the following questions is true and correct you
have to find out which conclusion/conclusions | or Il or both are
correct. or I/l or both are incorrect choose the correct option from
(a) (b) (c) and (d) for your answer :

FH % W@x , xdy, y$Z

frpd: | - Z% W
- Y * W
(a) ohere et | HET 2 (b) et T 11 2

(c) Tt e 11 1 Y R (d) 7 frepe 17 1w R



STATEMENT: W@x , xdy , y$Z
Conclusion: | - Z% W

n - Y *x W
(@) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neitherconclusion|norlliscorrect.

Q.38 ¥ :PdQ , Q@R , R%S

fpd: | - R e B
I — Qds
(a) oheret et | HEt B (b) heret orehd 119t B

(c) Trert |qen Il S |t B (d) T foemd 19 € 1w R

STATEMENT: PdQ , Q@R , R%S
Conclusion: | - Risthesmallestinall
I - Qd4s

(a) onlyconclusionlis correct.

(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neither conclusionInor Il are correct.

Q.39 YT :MdN , N%Q , P@Q

frpd: | - P gaE SRR
Il — P$N
(a) ohore e | HE 2 (b) ket forsend 1192 €1

(c) Trnd e Il S e € (d) =i e (7€ 1w 2

STATEMENT: MdAN , N%Q , P@Q
Conclusion: | — Pisthelargestinall
I - P$N

(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neither conclusionInorllis correct.



Q.40 YT :J*xK , L@K , L%M

e : | - LdJ
- M$J
(a) e et |92 21 (b) et frerd 116 21

(c) Toremt e 11 4 @& B (d) = frerd 198 1w R

STATEMENT: JxK , L@K , L%M

Conclusion: | - LdJ
n - M$J
(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il bothare correct.
(d) neitherconclusionInorllis correct.

Q.41 U :E$F , F@G , H%G

frepd: | - HOIEBRI?
I — GdE
(a) ket et | HEt B (b) here Tehd |1 e 21

(c) Trert |qen Il 41 |t B (d) Fa fremd 19 € 1w 2

STATEMENT: E$F , F@G , H%G
Conclusion: | — Histhesmallestinall.
N - Gde

(@) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionlandll both are correct.
(d) neitherconclusionInorllis correct.

Q.42 HU :P*xQ , QdR , T%R

fepdi: | - T@P
I — Q$T
(a) ohedt Tt | Het B (b) here Tehd 11 2T 21

(c) Trer 1den 11 S &Y 7 (d) = frewd 178 11w R



STATEMENT: P*Q , QdrR , T%R
Conclusion: | - T@P

I — Q$T
(a) onlyconclusion lis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neitherconclusion|norllis correct.



Q.43

Q.44

Q.45

Q.46

Quantitative Reasoning (43 to 60)
@ug (¥) HEHS qoh

A tree increases 1/9th of its height every year. What will be its
height after 2 years, ifit stands today 81 cm high?

(1) 90cm (2) 100cm

(3) 99cm (4) 101cm

Teh J&7 ST AT T 1/9 Ufderd srgan &1 2 oI o U9 SHhT oerg
1 gt Afg 2Tt o 81 W el 2

(1) 909+t (2) 1009t

(3) 994w (4) 1019t

Aclass starts at 10 am and lasts till 1:27 pm. Four periods are held

during the interval. After every period 5 minutes are given free to
students. The exact duration of each period s :

(1) 47 minutes (2) 48 minutes

(3) 51 minutes (4) 53 minutes

Teh T FAE 10 oS UId: 3R ekt e 1:27 ek Herdt €1 39
R 4 G o B | Yt NREE o 915 5 THE 1 STerhiet ST i
T St B | e difiere o1 wel-wet wHe Siadet S B2

(1) 47fF1e (2) 48fHe

(3) 51fHe (4) 53fHe

Solve /& & -

171+19x9

1) 1 (2) 18

(3) 81 (4) None ofthese/
T | IS Tl

The perimeter of a square field and a circular field are equal. If the
area of the square field is 12100 m?, the area of the circular field
will be.

T JAHR TEUE i A Toh STHR FEUS o IRAMT % FHH g1 AR
TR T@UE T &thet 12100 M2 § T IARR T@UE T &l SRl

(1) 15500 cm? (2) 15400 cm?
(3) 15300 m? (4) 15200 m2




Q.47

Q.48

Q.49

Q.50

Q.51

The number of small cuboids with sides 10 cm x 8 cm x 5 cm can
be accomodated in a cubical box of edge 1 mis:

Tk HieX T a7ed 59 ° 10 cm x 8 cm x 5 cm YS! aret fohad =19
37 TR ® -

(1) 100 (2) 1000

(3) 2500 (4) 250

Inthe givenfigure, O is the centre of a circle and arc ABC subtends
anangle of 130°at O. AB is extended to P then, SPBC =?

& ¢ aMpfa o, O o 1 s & =9 ABC %5 O T 130° &1 il
A 21 AB I P ek SI@rl T 2 1 10 PBC =2

C
130
P
A\/B
(1) 75° (2) 115°
(3) 65° (4) 80°

The average of 30 numbersis 12. The average of first 20 of them is
11 and that of next9is 10. The lastnumberis:

30 HEAE w1 3fEd 12 €1 YoM 20 HeAet i SiEd 11 € qe1 Sud
3 1 9 G w1 e 10 ©, 3ifaw ge @ -

(1) 60 (2) 45

(3) 40 (4) 50

Of the 2000 inhabitants of a town 60% are males of whom 20% are
literate. If of all the inhabitant 25% are litrate then what percent of
females of town are literate.

Teh % 1 SEEA 2000 € 590 W 60% o0 € ST 20% HER 7|
I T SEE 1 25% FeR 2 ot Afeenst s fordn Fiasrd 9ian 8-
Q) 13% (2) 22.5%

(3) 45% (4) 32.5%

A person weighs 750 N on earth. The mass of this person on earth




Q.52

and moon would respectively be.

(1) 75kg,12.5kg (2) 75kg, 75kg

(3) 750kg, Okg (4) 12.5kg,0kg

forel =afer 1 geat W 9R 750 N 21-39 <Afet 1 Yot Ue =g W
KA ShHRT: B - (g=10m/82)

(1) 75kg,12.5kg (2) 75kg, 75kg

(3) 750kg,0kg (4) 12.5kg,0kg

Which one of the following has the maximum number of O tons.
(1) 12gofH,O (2) 12gof0O,

(3) 12gofCO, (4) 12gofCH,

Ffafed o 9 forad aHm[sT it WE stfehan st -

(1) H,0d12g (2) O0,d12g

(3) Co,d12g (4) CH,d12g

Q.53-56:

Q.53

The pie chart given below shows the spending by a family on
various items during the year 2012. Study it carefully and answer
the questions that follow :

= = T Wi = A 2012 § T qRaR g1 faf= aegsti ) fee
TG ToiE Sidie I3 Hehle ARl &9 I W TG, THih 8 W

ifse -

Others Transport
vi: ifjokgu
Savin 15% | 15% Education
cpr J i<ib
12%
15%

15%  /Housing Loan
23% % ok X
15%
Food

Wit Clothing

diM

(IRER g a9 2012 ® fafv= axgetl | e U @< &t gfawe
HrA/Percent of money spent by a family on various items during
the year2012)

If the total amount of money spent during the year 2012 was Rs.




5,00,000, what was the amount spent on clothing?
I 8 2012 | fRa 71 e @@=t 5,00,000 TFF o1, T HIST T fhaT
@i fehan T?

(1) Rs.5,00,000 (2) Rs.1,00,000
(3) Rs.75,000 (4) Rs.50,000
Q.54 How much money was spent on housing loan and food if the total
amount spentwas Rs. 5,00,000.
T AT FO qA WeH W fRa T = fmen e, At o @t
500,000 en?
(1) Rs.1,15,000 (2) Rs.75,000
(3) Rs.5,00,000 (4) Rs.1,90,000
Q.55 The maximum amountws spent on.
(1) food (2) clothing
(3) education (4) housingloan
forg W sAfieha @= fohan T -
(1) o (2) wue
(3) U= (4) X HT R
Q.56 The ratio of the amount of money spent on housing loan to that
spentontransportwas:
¥R o 01 T fohal T w qen aRaes W fhT T @ 1 STUa of -
(1) 13 (2 31
3) 1:2 4) 21
Q.57-60:

Read the following passage and answer the questions that follow :

Body Mass Index is a sign of good health. BMI is a method to
evaluate whether a person is obese or overweight. It greatly helps
to avoid diabetes and other metabolic disorders. A high BMI
indicates that the person is more likely to suffer from diseases
such as diabetes etc. If two persons with different heights have the
same the shorter ones BMI is more than that of taller person.

Body mass index formula is given by World Health Organisation
(WHO)as:

mass in kg
Body MassIndex =



(heightin metres)?
For example, height of person Aiis 1.55 m and her mass is 55 kg.
Her BMI can be calculated as follows :

_ _55
BMI'= 55y

For adults, anideal BMI is within the range of 18.5 to 25 kg/m?2.
The given table shows the BMI and the category of the person :

=22.9kg/m?

Category BMI (kg/m?)
+ Underweight (less mass) 16.0-18.5
+ Normal weight (ideal mass) 18.5-25
+ Overweight (slighty more mass) 25-30
+ Obese 30-35
+ Severely obese 35-40
+ Veryseverely obese above 40

FfafEd ST =es o qfeT qer fT 7T a9+l o S| Y -

ckM+h ekl baMsDI (Body Mass Index) 31=s T@&ed &1 it
21 BMI T et © T5e@ gar oman s e ¢ for foeeft safaa &
a9 el stfus € 1 iR 98 W B 98 MR HyHE Td o
SUT=R AW @ S § e w21 3t BMI o1 s @ TR
e i Te[HE TS I HT AR ARHT 1 AR 3 A et
SHEE G © W oo {91 @ IR BMI bl ST, df & S
(F]) arel Afad T BMI 3Tferes g fava @red e+ (WHO) g1

ST T g1 = ER-

ST - soqae (foun. ®)
(BMI) (ST HieX )2

320 o fore, Afe AT g 1.55 . o a1 55 Topm ©, @ ST




Q.57

Q.58

BMI BT -

_ 55
BMI = 755y

STEh| o 3MTEYt BMI w1 fER 18.5 | 25 kg/m? @1 = <t 7ot aferent
T =for 1 BMI TS STRT a1 <911 7901 @ -

=22.9kg/mz

oxZ BMI (kg/m?)
L H SSFAE (ST STl SHferd 16.0 — 18.5
Wl I SoTA (SST) el SH ok 18.5 — 25
L efeT TR SmM (SH) aTen Sfad 25 — 30
W Hrer = 30 — 35
W eI Hier safaa 35 — 40
W sTeafie Hier At 40 ¥ I

= =afai A, B 3R C 1 S9E (1) 170 ¥4 B1 A, B 3R C &1
TSI HH: 70 ToRT, 80 TR 3R 65 T @1 fore =aferd =1 BMI
T FAE -

Three persons A, B and C have the same height of 170 cm. Mass
of A, B and C is 70 kg, 80 kg and 65 kg respectively. The person
with the lowest BMI would be —

1) A (2) B

(3) C (4) Allwill have the same BMI
AT 1 = () 160 TH T1 IHRT o9 60 THUT 21 SHHT BMI
(kg/m?2) § B -

Height of Arpita is 160 cm. Her mass is 60 kg. Her BMI (in kg/m?)
would be —

(1) 23.4 (2) 24.8
(3) 22.3 (4) 25.6

Q.59 i =AfeRl X, Y 3R Z %1 BMIHHII: 24.3, 32.3 3R 27.8 &1 9eHE ©



Hfed B =) a9 e ST fhde! © -

BMI of three persons X, Y and Z are 24.3, 32.3 and 27.8
respectively. The person who is most likely to suffer from diabetes
is—

1) X 2 v
3) zZ (4) OnlyXandZ.

Q.60 ol =aferd T BMI 26.9 71 IX 8! S 1.5 L. 7, f STHT I5H
(SoHHM) B -
BMI of a person is 26.9. If the height of the person is 1.5 m, her
mass will be —
(1) 56.5kg (2) 56kg

(3) 70kg (4) 60.5kg



ANSWER KEY

Language Conventions (Hindi)
[Question1to 8]

1. (iv) A= S&AE=S
2. (i) T

3. (i) THH®H

4, i <u

5. (i) SUgW

6. i 9

7. (i) T

8. (i)  wwiEn

[Question 9to 16]

9. (i) 3T T &
10. (i) ST HME B

11. () < H hIel g
12. (i) =—u

13. () wSRBM

14. () SHEAL

15. (i) =RH g giawn faern
16. () o HEE HEA
[Question 17 to 24]

17. (iv) TSR

18. (i) @

19. (i)  Sftem

20. (v) famm

21. (i) WO
22. (i) oT=REY™
23. (v) STR_H
24. (v) STERH



ANSWER KEY
Language Conventions

[Questions 1to 8]

1. (3)  unusually

2. (1) simple

3. (3) encouragedideas
4. (1) clear

5. (1) half-ball shaped
6. (4) verysmall

7. (3) curving/swelling outwards
8. (1) scientists
[Questions 9to 12]

9. (2) perhaps

10. (4) eliminating

11. (4) manyofthe more
12.  (3) identify
[Questions 13 to 16]

13. (3) amazing

14. (2) parts

15. (1) claws

16. (3) attack

[Questions 17 to 20]
17. (3) inviting

18. (1) personal
19. (3) carried

20. (4) spacecraft

[Questions 21 to 24]

21. (2) thought

22. (3) wassuffering
23. (2) left

24,  (3) had



25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.

43.
44,
45.
46.
47.
48.
49.
50.
51.
52.

(d)
(©)
(b)
(©)
(@)
(©)
(@)
(b)
(@)
(©)
(d)
(b)
(©)
(@)
(©)
(b)
(@)
(b)

(2)
(2)
3
(2)
©)
©)
(4)
©)
2)
(4)

Questions 25 to 42 — Section B
Qualitative Analysis

Arabian sea
10K

Friday

22 Revolution
Residents

20

mooOnoO>»m

C conclusion land Il both are correct (W >x,x=y,y Cz)
a only conclusionliscorrect(P=Q,Q>R,R<YS)
conclusionlandll. Bothare correct(M=N<O<P)
only Il conclusionis correct (JC K<L<M)

only conclusion | is correct (E CF > G > H)

only conclusionllis correct(PC Q=R>T)

ANSWER KEY
Questions 43 — 52 — Section C
QUANTITATIVE ANALYSIS

100cm
48cm

81

15400 m2
2500

65

50

32.5%
75kg, 75 kg
12gof CH,



[Questions 5310 60]

53.
54.

55.
56.
S57.
58.
59.
60.

3)
(4)
(1)
(2)
3)
(1)
(2)
(4)

Rs. 75,000
Rs.1,90,000

food / «T=T
31

C

23.4

Y

60.5 kg
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doso.
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1.

W TAF TH T IHeIe o L T | T SATIh] SR Fehele ol ier o fere FEfera foran sme e
IR IAF e FaTed, 3TR &5 -1 TR &1 -2 | Shadt Hiel/ el dic] TS shetd o q1ef Fraet
AR W |

The answer Sheet isinside this Test Booklet. When you directed to open the

Test Booklet, take out the Answer Sheet and fill in the particularson Side -1
and Side-2 carefully with blue/blck ball point penonly.

TR IhHole o AU TR RO HIT 14 T | FEHH | I 5" L S fof T2 Johele i S W
T o 8 -2 H i T aE 2= geheie W ot sk | fagmfa & ame, 8 fomnedf g St o
FHTIE S I T ohl aqeT oh [T 17k hl arard

TheTest Booklet Codefor this Test Booklet isA4. The Student should check
carefully that Test Booklet Code printed on Side-2 of theAnswer Sheetisthe

sameasprinted on Test Booklet and theAnswer Sheet.
T HCIE T 60 T § S WSl 3R Y i st H frwnfora € | fornfefi o0t weft yee shee stevaes

Tt ud 24 oAU ot 7 18 YeA SR A SR H 18 T |

T ; TS STER (U H. 1§ 24), 3 ol : U (U9 G. 25 H 42), 3 i : AEAHS dh
(ITT143960)

Thetest booklet contains 60 questionsdivided into three sectionsA, B and C.
A Student isrequired to attempt all thethree Sections. Threeare 24 questions
inSectionA, 18 questionsin Section C.

it 17 =il 7 agfoashedt 797 (M CQS) | 37 91 H %8 7w sHiia sgfaskedt MCQsS
A § Safeh TR Faw sgfashedt 2ok uea ¥ | Safe g faw sgfaswedt (MCQS) e €157
[oft ¥ o IR foreheu §, fS8 9 Shael U faskhed 9l © | faenfei=i =1 9t fashea s == e
¥ IR Tl A SR U | Y9 & G A |

All the three Section contain multiple choice Question (MCQs). Some of
three questions are passage based MCQs whereas others are stand alone
MCQs Each of these question out of which only one option is correct. A



10.

student has to select the correct option and fill the corresponding umber in
theAnswer Sheet the question.

T T 152 37 1 T | Y HEl Saral o fere ferenfelaii o6t 144 o7k foemm | foreh off i &
ToTT TR RIcTeR 37eh el © TR ST UeHl & g g 37k =i e |

Each Question carries 1¥2 marks, for each correct response, the student will
getl¥2 marks. There is no negative a marking for any of the questions and
unattempted question earnsno mark.

forenfefli st o797 ITR U=k ST W 3UTkerd w1 Wiy forn oiR sufterd uoer W gwaner fore fom
TR gl TE ore § | o faeneft 3 sufeerd vie W axdesr 7& for € o1 3w usten fteres =t
T a2, T W 1 STfed e % W & 9§ W g HRATE S ST |

The student's should not |eave the examination Hall without handing over
their Answer Sheet to theinvigilator on duty and sign the Attendance Sheet.
Caseswhere astudent hasnot signed the attendance sheet or the answer sheet
handed over totheinvigilator shall bedealt asan Unfair meanscase.

e & U R, faenfefli g sw usek |, wR / 7 § 3ufterd fRiare ol S sed B |

On completion of the, test, the student MUST HAND OVERANSWER TO
THEINVIGILATOR intheroom/hall. The student are allowed to take away
thisTest Booklet withthem.

3G 53 R Torerur fere 3R SR voieh fere o1 S<’i bt ifehd i & oy shaet et/ el st
Y= SHeTH 1 &l STAMT L |

Use blue/blcak ball point pen only writing particul ars on this page writing or
marking response on answer sheet.

foremeft =1 =g Y= e 1o for ST ofie g2t o faoea 7 81 | S 0= WHEE ot sifafea
EUEEEEI

The student should ensure that the Answer sheet is not folded or damaged.
Do not makeany stray markson theanswer sheet.

foremeft wdven efat § 31U TR & Haie H A1 o)1 Hatfera @t fom oI fafwm & wnfaa
T | 3T T & Feft ATt 1SS & et o fafee & 9 o wre e s |

The students are governed by all Rules and Regulations of the Board with
regard to their conduct in the Examination Hall. All cases of unfair means
will bedealt with aspeer Rulesand Regulation of the Board.

Teiterur HEa / RegistrationNO. ...

frlieres < g&arat/ Invigilator Signature
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78 Tg 31 fanfefdi & feru & St aoie TR (Heg-ed dagemesyae ) Eue
& T fee! faoa H wien ST aed ¥ |

T EUE § Hl 24 TGS T § | Aot 31t € qe Uik U9 1.5 ST H R |
T 1 9Lt efT gfedeht § 59 JaTsH o foTt S 7T Tref! T R E &1 |
Gt W Had OMR I T T & 3Hfohd Y | 3T IW LAYl AThd h |
I IS g T {7k 1 FaNT g ¥ |

GUg (37) ATHIOT F STIART
Frfafed g1 g 1 9 18 Wet fasked -
‘3T I g o W R e § - TR €2

1) HRHAS

2)  THHS

3)  Wondes

S I CEAIGED

‘IR 9gd St T 1 A | SFE-41 foRm § 2
1) T[T

2)  URHETES

3) HehderEsh

4)  GEAEES
‘g T wIga oot § 1 A H yiREe §

1) et
2)  @ga
3) =
4) &




A w1 gfte A T = ©

1)  Hdlgsh
2)  H«iies
3) H«Ee
4) gxfedh

“F IR-9IR ST o1 T 37 @1 § | SR § e fomanfare ¥
1) HeEES
2) A

3)  ifderees

4)  YRHATEER
‘e’ weg H ffed s §
1) 3

2)  3H

3) o=

4) 4

e -forere FfaafiTar § Tk oo qat H sierdl © S G TR
1) foua

2) Ty
3) e
4)  HEY

Yerme) el W redt ¥ 1 {@iferd ug | T FRE ©
1) i

2) &
3) ey
4) Af¥RTI
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1) TSl Sh STHEE

2)  HEFA
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1) SRS
2) WS
3)  <afher
4)  dRIGET
13, ‘ool R Sem ot | SR Sie @ st §
1) REdH B
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3) e S o

4) SRR e

g SN AT, IR Tt el B 7Ot AT 9o 17 | X@iferd 3791 1 37ef §-
1) Tk fEERdd

2) THe-fad e

3) A fwrEmde
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1) Tk fEgRd

2) mE-fed e
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@UEg (|) TEATIT Ufd hiteTg

frder - e fou 7T ST=ek 1 Ugahs U9 9&A1 17 9 24 H 3fud fashey o1 == shifse-

17.

18.

19.

20.

e e 20?
1) =%
2) @™
3) Rejes|
4)  @gd
TR 17?
1) HHSIR
2) "=
3) =
4) B
T 18 ?
1) "WEA
2) A
3) W
4) FTHA
s 19?
1) @&

2) I
3) &




21.

22.

23.

24.

4) ¥

e T 24 ?

1) #H

2) =&

3) Exl

4) TR
T 21 ?

1) S EAIGIEED
2) IR
3) Sk
4)  hogArid
e 22?

1) &

2) &

3) @l

4) H

e T 23 ?

1) AR
2) "

3) A

4) G




Section - A (Language Conventions)

Note : This Section of the question paper contains 24 questions in the English
Language. A studentisrequiredto attempt all the 24 questions.

(Questions 1- 8) : Read the following passage carefully and select the most
suitable option from each list according to the corresponding number in the

passage.
It long been proven that meditation can reduce

stress but scientific research now shows.
that it also provides other valuable benefits.
Practising meditation can lower blood.
pressure which subsequently reduces the risk of
heart attacks. Meditation can also improve the
performance of your immune system, helping you to
stay healthy. It also has advantages for
students since it can improve the ability to
consentrait and deal with life's problem.
Inline 4, the word "practicing' could best be replaced with
1)  Applying
2) Rehearsing
3) Trying to do
4) Regularly doing
2. Inline 1, the word 'proven’ could best be replaced with
1) sure
2) shown
3) claimed
4) reveaed
3. Inline 3, the word 'valuable' could best be replaced with
1) adequate
2) generous
3) important
4) expensive

© O N U~ LWDNRE
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Inline7, the word 'performance’ could best be replaced with
1) routine

2) operation

3) achievement

4) presentation
Inline 5, word 'subsequently' could best be replaced with

1) also

2) then

3) similarly

4) successively

In line 10, the word 'problems’ could best be replaced with
1) events

2) efforts

3) obstacles

4) occurrences

Which of thefollowingisthecorrect spelling of theword'consentrait'?
1) concentrait

2) concentrate

3) consentrate

4) consentraite

Which of the following is the opposite in meaning to the words 'hel ping
youto'asthey areusedinline7 above?

1) aidingyouin

2) helpingyouin

3) reducingyoufrom
4) preventing youfrom




(Questions 9 - 12) : Complete this passage by choosing the most suitable
word/phrese from each list to fit the corresponding gap.

Teenagersfrom 9 well-of familiesare becoming moreindependent of their
parents. Although itishard to 10 the causes of thistrend, mobile phone
and shoppingmalls__ 11 have given them the ability to choose their friends

andactivities_ 12 parental supervision.
9. Which of thesefitsgap12 ?

1) despite
2) without
3) involving

4) eliminating
10. Which of thesefitsgap9?
1) mostly inthe
2) mostly formthe
3) many of thefully
4) many of themore
11. Which of thesefitsgap 10 ?

1) link
2) show
3) identify
4) attribute
12. Which of thesefitsgap 11 ?
1) rather
2) perhaps

3) meanwhile
4) furthermore

(Questions 17 - 20) : Complete this passage by selecting the most suitable
word/phrase from each list to fit the corresponding gap.

Firewalking referstotheactivity of walking on hot coals, rocksor cinderswithout
burningthesolesof 17 Insomeculturesfirewalkingis part of areligious
ritual, whileinothersit 18  aconfidence-building activity. Walking across
hot without getting burned doseseemimpossibleto_ 19 people, butinfact
there is a scientific explanation for why walking is possible. 20 fire

walking tapeinto mysterioushuman capabilities.




17. Which of thesefitsgap 20 ?
1) Therefore
2) Generally
3) Doubtfully
4) Presumably

18. Whichof thesefitsgap 17 ?
1) onesfoot

2) onesfeet
3) one'sfoot
4) one'sfeet
19. Which of thesefitsgap 18 ?
1) isconsidered

2) will considered

3) had been considered

4) would haveconsidered
20. Whichof thesefitsgap 197

1) afew
2) many
3) more
4) several

(Question 21 - 24) : Complete this passage by choosing the most suitable
word/phrase from each list to fit the corresponding gap.

Ice sculpting is an artistic endeavour that usesice astheraw 21 for the
creation of art works. Sculpturesformicecan 22 abstract or realisticforms

and are 23 associated with short term events or festivals 24 their

limited lifespan. Several icefestivalsare held around theworld each year.
21. Which of thesefitsgap 24 ?

1) dueto

2) on behalf of

3) accordingto

4) for the sake of
22. Which of thesefitsgap 21 ?

1) form

2) aspect

10



23.

24.

3) material
4) equipment

Which of thesefitsgap 22 ?
1) takeon

2) takeup

3) takeoff

4) takeover

Which of thesefitsgap 23 ?
1) coldly

2) generally

3) extensively
4) infrequently
1 - it (TSR eh) / Section - B (Qualitative Reasoning)

11



U9 25 | 42 / Questions 25 to 42
e fervara ¥ fo &0 ford o 9 €, 9 Heg@ i € iR 9 e 1 Ieer
T3 T T YA ST § | ST 98 ST § foh A e T o faf¥rse wresti
[T Sred € | TN o1 =9 hid 99 FesTe-R 39 o1d o1 & Wad © fo T a1 Al
T IR qEIell WHE THE & Hhar g |
AR R Frreferfer 7or it < | sie < §

Hten - favarg, 3emH, SerE

- e, ¥, THd

T - g, T, S|

den - i, S, wel

A - T, S, '

ST ST ST ST i g Frferfed g9 1 ST e -

Colours are believed to influence how we think, feel and behave. Studies have
shown that peopl e associate certain col ourswith emotions. When choosing clours,
designers consider the impact they may have on people's understandings and
feelings.

Commonly recognised associationsinclude:

Blue -trust, cold, sadness

Green -balance, cam, freshness

Purple -leadership, wisdom, intuition

Yellow - happiness, warmth, fun

Red - heat, energy, appetite

Usetheaboveinformationto answer thefollowing question:

25. Teh STEIATA o SR o feTT, 9 U T H ol S1eh 89 ol Hae] siA-9

it 2t 2

1) iR

2)  rensiRdien
3)  BUSARSTH

4) o ST e

12



26.

27.

For ahospital interior, the col ourschosenwould most likely by

1)
2)
3)
4)

greenand red.
blueandyellow.
greenand purple.
purpleandyellow.

TTO1 1 g AT © TR STUT et & Waeh R & ot gare 11.00 9191 ek uga
& AU sE- Seaga|

g aR | ffa o 8 frefafed w8 3 SiF-91 9o w1 Teeyu § 2

1)
2)
3)
4)

o Harsii i o gha |

o H ISl ol §E&A |

T A H T el 95 |

GaIE 11.00 oI5 & Igt U5 o e SH fohai o w1 |

Praveen needsto decidewhich hub to catch tomorrow in order toget to his
jobinterview by 11:00a.m.

Which of the following factors is least important in making a decision

about thismatter?

1) Thefrequency of busservices.

2) Thenumber of seatsonthebus.

3) Theamount of timeit takesfor thebusjourney.

4) The number of buseshewill need to catchin order to arrive before
11:00am.

9 A H ffed Taei W faar &

Tefl & U S et S8 Hehe! & foru W |

frefafed e H = KT aH-8 v QSN © ?

foaTel o fer S e o % fau fesrr |

1) o=k

2)  WW

3) @

4) Festahen

13



28.

29.

Consider the relationships without this statement:

Bird is to worm as spider is to fly.

Which of the words below completes the following statement ?
Writer is to book as painter is to

1)
2)
3)
4)

Ffe e feT w12 61 71fd & STTAR (T R § oY 09 i TWh) HHG fhal

easel
brush
colour
painting

T 21 T U8 b [H-91 9T 37T ?

1)
2)
3)
4)

If the words bel ow were organised according to speed (slowest to fastest)

EENEL
CiLICIEl]
ECNET
ST

whichwould comefirst?

1) skip
2) plod

3) stroll

4) toddle

TereR Ut oI & it o Tde a1 enfegen o1¢f | aiferes wufta e €1
1 ek & fou wet, Teu 1 9 |

‘EATH T TR E |

1) o, S U oA fed 8 wevri ¥ |

2) TARFIRTHGTAHISE |

3) V6 W AR TH & AT FH G B @ T

4)  UH E A & fehe & Wi ARl o Tk e |

Idioms are saying that convey more than a surface or literal meaning.
Select the correct, deeper meaning for thefollowingidiom.

14



"We're all in the same boat.'

1)
2)
3)
4)

Peoplewho shareacommoninterest.

When everyoneissittinginthesameboat.

When everyoneisfacing thesameproblem.

A group of peoplewithticketsfor the samecruise.

30. SAEAEH A HH-GIe el o e Tk T hleeians ?

1)
2)
3)

4)

IE T 3T & S & g B |

7Ig Yol AT o STHHAM TR © |

78 99 T8 IR & FIa1 Hiar T2 81
% T T6] STEIR & SIY U8 WA T |

Which of thesestatementsreflectsacontrast betweentwofruits?

1)
2)
3)
4)

Thisappleasbeautiful asapeach.
Thisapplenot dissimilar toapear.
Thisappleisnot assweet asthisorange.
Thisappleisgrownonatree, likeaplum.

(UF 31 - 36) & FMEATARET TS i UfGU AT T T Y91 o ST ST &, ?

(Questions 31 -36) : Read the following passage and answer the questions that

15



follow :

T S, i1 AR T, T Thet ¥ TR WY S U U iy {Ewi ¥ TRt o, St
3T e T 9 | Ueh <9, 9el 3 Tl A TR W o, ot afedn wuS e e Afgen
Teieeh L& o & To¥l 511 o STet QIS - U T & off | I ol Tk o ToTl oAt ST
TR ZASR 3 T o, TR 3T Segarst | 1,000 o i A1 SH TSorT § e gu ST o
IR & I ewy W IR 7T | 31fHer Hie 33 & o gent arfer S| Afgen @i e arad &
Teh, ATk SHH Uee] T a8 W1 & T, i1 A Ael W IR W 3= four faan | i
B FIich a1 < Tell SHE Teet &, Hieell ggargl H Soreft H <Igt STl oS =i H g wfedl
T

SAfHT STet & St T TS T Tqe 9 4 o70 what 98 § era fod 91 gu e
FAE A I AR A | I TR gRR TR w1 e g, Sl Sl fRhee
airett, et gt =S WieH aTel T 9ehd & | ST TR URaR i 6 fael o1 $7Tae s
H Heg foert 3Tk AR ure a9 off yatad Tar a=m 999 &1 TE & o 31=st <o
Gohd &1 I8 G a1 80 W TR, Afeh 3 grer U9 e € | o 38 g ' L e
TR 3R 3 Ui & ey Fir sheft s 1 e | e vl g AfHaT g2t 1R, 3T Sl
% O8I e STTe SIS h Jel § qWRM oh! T8 G =ei! AT |

Tow friends, Bina and Amita, always walked home from school together an
exclusiverestaurant, often visited by foreigntourist.

One day, just as they were walking past the restaurant, a well-dressed woman
tourist bustled out of the main entrance. She made for ataxi waiting at the curb,
and in her haste, “1,000 note fluttered from her handbag to the footpath beside
Amitasfeet. Amitabent to pick up the notsto return to the woman, but before she
could do that, Bina stepped on the notes, hiding them from view. Before Amita
could react, the woman scrambled into the texi which accelerated away into the
traffic.

Amita quickly turned to face Bina who had deftly scooped up the money and
stuffed it into the top of her school shirt. "What are you doing?' she raged. "That
money doesn't to you!" It doesnow" smirked Bina, "finders keepers. Thiswill my
family pay somebillsandwell still have enoughleft over to buy ourselvesatreat!"
Amita was shocked at this. "But it's not your money. You've stolen it! I'm not
having anything to do with it to you ever again!" And with that, Amitaturned on
her heel sand stormed away, |eaving her friend with apuzzled |ook on her face.

31, 31K 2 3R 3§ aftfa frefarfed 8 @ wm-ar el & erfed =18 o ?
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32.

1) IR feE A g

2) AR R TE

3) IquE ST s

4) AR I 3SH  feru gehmm

Which one of the following action, described in paragraph 2 and 3 was
inappropriate?

1) hidingthemfromview

2) Binastepped onthenotes

3) deftly scooped up themoney

4) Amitabent to pick uothenotes

T a1 A, e H | -1 3T shtan ¢ o wifeen st gl wehdi & 2
1) T&h

2)  Esam

3) W

4) A HIS T

Which of thefollowing from the second paragraph, indicatesthat the woman may

have beenwealthy?
1) tourist
2) handbag

33.

3) restaurant
4) well-dressed
FFA-T I ASIHAT o I T 1 T 3T I AT & ?

1) A

2)  wEfdard

3)  Ha®

4) ey

Whichword best describesthegirl'srel ationship at the beginning?
1) kind

2) wary

17



34.

35.

36.

3) cautious

4) amicable

I ISAHTI % &Y H HaY 95 qlieh 9 107 bt S Hehel 6 |
1) THugdt

2) Teh dgd

3)  TEEfa

4)  TEHEEA

thistext could nest bedescribed as
1) apuzzle.

2) adebate.

3) adilemma.

4) adiscussion.

3G 3ok o foTU GTe 37 el & ST oIaTan & o ersfenall 3 sfaa s foran |

1)
2)

3)

4)

3TeY o, s = S3fran < T 99 B fele i) & ot AT TR ot |
31Tt T, S3fHar =1 <=1 & Yetrehtd i 3T AT 61 © T o 59 T i
i feEHgl L |

Th 52 I1E, ST A 791 79 sead foran iR 1fian § 99 arad &ad &
T Heg HA I el |

SRR, T G 38 H2A1 % ok § Y T 3R i & 9o o= 3
ey

Which of the possible endings for this passage shows girls acting

appropriately?

1) Thenext day, Binaofferedto sharethemoney withAmita.

2) L ater that day, Amitavisited Binaand demanded that she sharethe
money with her.

3) An hour later, Binachanged her mind and asked Amitato help her
returnthemoney.

4) Eventually, the two friends forgot about the incident and become

best friendsagain.

A foRdl ol St oh1 Joh T Tg aTe ot fearfa 1 gt fehTerm & fae, ot s
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% ST, SAHAT

1) SR R U ] Hehd ot |

2)  Heg o foru fFereet wendt ot |

3)  YfTH RIS | S A o T he Fehd! off |
4) e gy fearfa == R HeRd off |

To resolve the situation without damaging the girls friendship, instead of
walking away, Amitacould have

1) chasedthetexi.

2) shoutedfor help.

3) askedthepolicetotalk toBina.
4) discussed thesituationwith Bina.

(W99 37 - 42) & Freaferiad ST=ag ohi ufeq a9 fEu e wo=i o ST i :

(Questions 37 - 42) : Read the following passage and answer the questions
that follow:

IR THI Igel 1870 H, a0 T ==l ol Hfxd T il Tehriieh faehfdd gg ql qwaTeh
FHUE! A STIT TS ol QAT <A o TTT SHeRT ST A1 & R |

Teitel iR fheH! faari dfed gfig @il & oo w8 Wfsa ISR e & Yehe
& | Wrel qoh, IfAeRTst, THER U iR fafmreri § foie = famta foean o
ferToel & o & Ui HehRIcHeh Reehivl o1 sl 34 & ferg g il o1 g&ame
ERI

3 fame & fagmaai # el <a fafercent, ufag artl o) we foa ® fReidi &t
SIEl & T A hd U TS 71 | 9l ShiE Tiel UeTe Tl fewl |

37 : AT A=A o1 el & foh fheiRl 3iR areni & o= fame &1 od § &1t 3fg
TS | SHY T had YU 1 od § g5 g, ek SHd J garet Bl 8 ftgfg gg |
STARTSE TYE STE i foh qaiTdh, Teh STk 3cUIg § Sl ARG | 9% 3 U=y 3cs
TS

Ta & H, {3 <ui 3 fame fafaed &1 fame & ® e W yuue & fagg Jae
forem o fI ITeR ST S I o1 € | I8 <ITer Y99 o e qRoTH! o fe@d & |
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ST AR ST SR & & had, ek FRT off o @il b1 (I SR § |
Way back in 1870, when the technology to print col oured pictures was devel oped,
tobacco companiesbeganusingit to promotetheir cigarettes.

Famous people, including athletes and movies stars, were pictured on cards that
wereincludedin each cigarette packet.

For years, cigarette were advertised in magazines, newspaper and cinemas. These
advertisements used many strategies to promote positive attitudes towards
smoking. Doctors, famous people and healthy |ooking teenagers having fun with
friends were shown in cigarette advertisements. There wasn't a dirty ashtray in
sight!

It isn't surprise, therefore, that addiction to cigarette among teenagers and adults
increased greatly. Not only did addictionincrease, but smoking-related desthsal so
increased.

International groupsclaimthat tobaccoisalegal consumer product that kills. This
makesit a perplexing product. Recently, some countries introduced lawsto force
cigrattete makersto place warnings against smoking on every packet of cigarettes.
Thewarningsshow someof the consequencesof smoking, such asdiseased lungs
and mouth cancers, but many peopl e continueto smoke.

37.  ToAfafEd wem § 9 6H-91 R0 iR 99Te & HeY I e 2
1) IR YU 9 Satd 1
2)  foreiR SRR & |1 wel L
3) eI SR IR e TR HE S ek
4)  fo=med AR afseRTd, TemeR O SR e

Which of the following statements shows a relationship of cause and
effect?

1) addiction and smoking related deaths

2) teenagersand having funwithfriends

3) warningsand diseased lungsand mouth cancers

4) advertising and magazines, newspapersand cinemas

38. 21l SR T Faforcaeni 1 ¥ i fomm ol famme € Je gema sa €
1) fome R A gefme|
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39.

40.

2)  HHYH A IR 31 STHR |
3) YU YA A TRy 3R ST T |
4)  fome frd & area & fauaters =R |

Advertisements showing doctors and dentists smoking cigarettes are
designed to suggest that:

1) cigarettesarerelatedtoillness.

2) smokersare successful andrich.

3) smokersare healthy and attractive.

4) cigarettesarenot harmful to one'shealth.

fame & for # fommo we fom @ faeikl = figsit & a1 e s feema ¥ |

g 1 T T 9 T hil ¢ 2

1) Y T el SR |

2) ARy fReR qETH R |

3)  famewden s fan i e A Tea s

4) U HHRIHS gI6ZhT0 Sl TGS |

Some advertisements for cigarettes show healthy looking teenagers
having funwith friends. What i sthe main messagethis presents?

1) Smokingisadirty habit.

2) Popul ar teenagerssmoke.

3) It costsmoney to buy cigarettes.

4) Smoking promotespositiveattitudes.
TEAE HT I S & b

1) IS i YHIH el i & [l FAMT |
2)  TReiR IR U S o sl o=y |

3) YT ord hi TR0 =aTeT 9 YehTSl ST |

4)  foQTo ot B TRtk TR LA SRt T |

Themain purposeof thisarticleisto:
1) convincereadersnot to smoke.
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41.

42.

2) advertiseto teenagersand smokers.
3) highlight warningsthat have beenintroduced.
4) draw attenuation to certain advertising techniques.

Frreafafed fommm gl 8 § HH- goaE &1 FH F & AT T T ?
1) S¥I ! Bl STAN

2) TS R Sl STAM

3) TRl e

4)  uoERl SR fthen faari 1 femm

Which of the following advertising strategies is aimed at reducing
smoking?

1) using visual warnings

2) using international groups

3) showing healthy looking people

4) showing athletesand moviestars

30 e H ST 3T5e% 5 % IS Ueiier R A o E 2
1) yHfdd

2)  Yedl

3)  fygAamen

4) STTad i T § ST are

What is the meaning of the word 'perplexing’ as used in this context in
paragraph 5?

1) popular

2) puzzling

3) confronting

4) lifethreatening

Tt - HT (ATATeeh eh) Section - C (Quantitative reasoning)
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U943 | 60 / Questions 13 to 60

BT B A 400 HIeX SIS H AT fora |

° A 3R o 3R 2 ST B o oIS SIS THT i |
° ST R & 91G Q1S THT< i |

o RIS Uk vgel <Ie U< 1 |

o RIS s g |
Ti<el T 1A 3T 2

1) W™

2) 3T

3) TS

4)  fo

Six studentsparticipatedina400-metrerace.

) Ram finished after Amar and after 2 other students.
[ ) Amar finished after Sameer.

[ ) Firoz finished before Sameer.

[ ) Vinodfinished beforeHari.

Who camefifth?

1) Ram
2) Amar
3) Firoz
4) Vinod

IR forstett S BT ~6.4 H 6.5 U JfHe T og T T | 376t & HRE@™ &
o o7Tett foet ot sTareht & fo 600 JfHeH 1 STNT T oTaferd § | 399 39
31afy & URY H WeR e T | 368 3Y 1 fasref! ST ST 90% & w1
g3

Indian electricity prices have risen from = 6.4 to = 6.5 per unit. Arvi's
factory expected to use 600 units in the next billing period. He installed

solar panelsat the start to that period. Thisreduced hiselectricity usage by
90%.

23



45.

46.

et ht foret femamn sign ?

How muchdidArvi'shill increase?

1) 6

2) °38
3  °39
4) 54

STEEeh o ITH A9 & 52 Tl ol WA= Ueh § | 39 TSt o1 ST, §oRH 1 Aleh!
SR Gt 3oeh ToRT 39 T G T2 Weh T fiahTet |

Treferfer # s iH-91 I 31 1 Herd SeI HHeA S ?

1) THiEE
2) LEIE]
3) UHTHA
4)  THE

Bahadrak hasastandard pack of 52 playing cards. He removestheking of
clubs, the four of spades, and al the aces. He then draws a card at
random.

Which of thefollowingisit most likely to be?

1) aclub

2) aking

3) aspade
4) adimond

el 7 dH IR DI | I dR TR T o | fAfafed 3 3 $E @ T 9m
Y& g ?

Kavi fires three arrows. Each one hits a scoring ring. Which one of the
followingtotal isnot possible?

3
a
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47.

1) 17

2) 18
3 21
4 22

TG 3T H 7o & 1 | e feercht 1 A2 foig & mreag Y gwien T e |

Gajraspositionon her farmisshown by thedot onthisdiagram.

UTH TE F W
hay shed
3

stable

=g

Ife o 3.54° 1. fewn # et €, qel 7% ford ST ag Wi et ?

1) IR

2) g
3) TS
4) T RIS

When Gajrawalks in the direction N 54°W, she will be heading towards
the

1) dam

2) pump

3) stable

4) hay shed
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3T HTaT ol st TR bt 50 of WARRE R AT A 50 TeER @i a3 foha |
IHHT YRR (TS HIA A1) hafed €. 250 § 12 SR E. 175 H 7 3 =i H &l
TR B |

For her parents' 50th wedding anniversary celebration Malinadecidesto

buy 50 balloons. Her supplier only sellsballoonsin bunchesof 12 for 250,
and7for ~175. Malinabuysexactly 50 balloons.

48. 3T KA fohal hiHd ST T ?
What isthetotal price she pays?
1) 1,042
2) 1,100
3) 1,175
4) 1,225
49. 12 el o1 U e i feoett @ grag, 1450 foh . I g R IS R
= <) 71 rfereht | urel o ST -Y[eeh i XS TR T |
TheParcel Postage Ratesare showninthefollowingtable.
WA UTde Uiees €2 / Indian Parcel Postage Rates.
ST Ut / 2 T a1k ¥/ | 2 TRt & SR e 2ifaier foril & ol .
Distance Category Rate up to 2 kg For every additional kg over 2 kg. INR.
INR INR
1t / Local 35 5
500 foh.H. T / upto 500km 50 8
501-1000 f&. 5. / km 60 12
1001-2000 f&. 7. / km 70 25
2000 fw. 1. | s1fen /
More than 2000 km 90 35
e 95 1 @ fRdar gnm ?
1) %. 85
2) %.95
3) %. 320
4) T. 840
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50.

BT i G&AT/
Number of
Students

How muchwill it cost to send the parcel ?

1)  85INR

2)  95INR

3) 320INR

4)  840INR

=1 = T T wha S Bfedi o SR 39 B GAN UET T8 TRl Sl &

feEmarg |

The graph below shows the number of books read by 39 students during
theschool holidays.

gfgedl F IR e T Teh

Books read during the holidays

12

10

8

1 2 3 4 5 6

gl g YEeh! sht @& / Number of books read

3T TR Y1 A e H 311 B o1 gor § 1o forarel Ul | 3R 3w § stferen
el | FHR A &8 g U 7T feharai bt et H i foharsl ue |

All and Ram more books than the other students in the class. Hari read
morethan 1 book. Sameer read twiceasmany booksasHari.

HA-HFIT GRS ?
1) HERA 2 fwae ugt sk el 7 1 fhae ueh |
2)  HHRA 3 fohdme uet 3R oTel 7 5 fomarsl 9g |
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52.

3) B2 fhae ue SR I\ A 6 fonars Ui |
4) &4 Tmame ue iR 31elt 7 6 T ue |

Which statementiscorrect?

1) Sameer read 2 booksand Hari read 1 book.

2) Sameer read 3 booksandAli read 5 books.

3) Hari read 2 booksand Ram read 6 books.

4) Hari read 4 booksandAli read 6 books.

e o Thet § Ugel el YoIg 8.30 o9l [T 2l W § SR =l e gaig 11.30
51 TIcH B ST © | Shamati o it 1 4 THE ol ST ® | e el T aellE 1 8 |

T he fRa el § 2

1) 41 e
2) 42 e
3) 71 fote
4) 72 e

TR 3T T STUT S8l Tlig, 7Y 3T USHA hi SiaTs SR IS ol Ui A
% T2 STTerE W fog 91T | 3TTere 56 X o |

Daha sketched points on the graph to represent his height and weight and
thoseof hissistersFarha, Madhu and Padmal. Thegraphfollows:

Scatterplot of Heishts and Weights

Weight (%)
A

3# —> Height (#71%)
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TR TE ¥ T §, Wfehd 7Y 9 T § | 7Y I a9 ISHA & 9 © |

Dahaistaller than Farha, but shorter than Madhu has the sameweight as
Padmal.

e R -4 foig STl TefRfa st € 2
Which of the pointsonthegraph represents Daha?

1) A
2 B
3 C
4 D

(I% 53-56) : FrAfafen sT=ee =i ufgu qen faw e ge+i & S

(Questions 53-56) : Read the following passage and answer the questions
that follow :

39 T8 R G B AT T 971 § | Yedish TETY] § FTeeh STaf¥Td g
ek BT § S KO ST Soieeid | for B § | SeTa =fisif & farg,
YFTCHh STAT o1 FE&AT S0 STTATi ohi TEAT o A Bl © TR =iifeh 3
TE Th-GER o TR ] fahel S <d &, 3 for1 foreft setfohgen ofromt < Bt
T | TTcAlTeh &gl o fIq Tequl SHEoMcHe ST9al gHTcHeh STORT U hidl §9d
LIk

ST o1 el A ot g3t b SO T TTST STl © o Setereid ohl UTed hidt §
FUMCH ST B St § | 3179 78T Yeffa 2ol soifeesh =e &l Suet I8
TSN T Hehd & foh SO fohd Ol ST |

Everything on this planet is made up of atoms. Each atom contains a
positively charged centre, or nucleus, which is surrounding by negatively
chargesand because they cancel each other out, the object endsup with no
overall electric charge. However, it is possible for objects to gain an
overall negativeor positivecharge.

When objects made of different materials are rubbed together, electrons
may jump from one object to the other. Objectsbecome positively charged
if they loseelectronsand negatively chargesif they gain electrons. You can
predict which way the charges will jump by referring to a triboelectric
chart such astheone shown here.
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Human skin (| =)
Leather (=H31)
Rabbit's fur (BT & %) (AT)
Glass (=T)

Human hair (F354 & =Tel)
Nylon (ATIt)

Wool (&)

Cat'sfur (foeeht & ®) (AT)
Silk (™)

Cotton (=4mH)
Perspex (Tdted A wifEsh )
Acrylic (Thfaes)
Polystyrene (dieieaiia)
Rubber balloon (87 1 Ts&M)
Polyester (Wifeltex)
Plastic wrap (192 STl wiifeeh )
Ebonite (3dM132)

T TRTel G ol W o TRt HuTaT §- 39 hH H W uetedt bt g
T it AT | SATHAR W el €1 el ol 3799 B WISl <l © < 98 ugred s
T H 39 TF W B, YA H A= K3 13 el g 7 soreE @ ]|
I & foIu AfS Teh e AT ©hifies 1 S8 &1 31 & he & T TS
ST T 3 SR T 371 S6Y S YU €9 I GATcHeR ST 2l STt 23R)
TR UM STARE = # 8 T3 o7 wgiedl & o< soioheid 31fueh
AT W TR 8 § | (FSraert areqd o8 ® T omuehi 5% 31afdd 3 &
ot st 7 S1fereh el OH deh WIS 781 gem) Afg 2119 Bt & e (V2
q) o WY T DI TS & A TN o TR ! Rl 3177, 98- T3S T TS

%1 I H Igd hd SeTaeld Shid il a0 ST |

Thislist of common materialsisarranged in order of how likely they areto
lose electrons. In general, when two materials are rubbed together, the
material that is higher on thelist will lose electrons to the materials listed
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53.

below it. For example, if aperspex rod is rubbed with a piece of wool, the
wool will lose electrons to the perspex so the wool will end up with an
overall positive charge and the perspex will end up negatively charged.
The further apart the materialsareonthelist, hemore easily the electrons
are transferred between them (which means that you don't have to rub
them together very long to get them to charge up). If you wereto rub glass
withrabbit'sfur, far fewer electronswill movetotheglassthanif youwere
torubtherabbit fur on something likeebonite.

T TR W § W, {5 o 7 6 W YdS & fo9es Wed W, & AR 98
HhRIcHeh &9 H =Ts! 2l ?

1) T

2)  UifduE

3)  difafedA
4) A EET

Which of these material's, when rubbed against each of the other three, will
become positively charged each time?

1) perspex

2) polyester

3) polystyrene

4) plasticwrap

Ao srgeire o & feres Trqu SHomee e & ?

A B C D

1) A
2) B
3 C
4 C
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95.

SE G732 K01 (N % G191 Teh THE T TIST ST dl 98 Fad Sl

1) WH

2)  Thids

3) THU

4)  foccdim

Cottonwill gainmost electronswhenitisrubbed for one minuteagainst
1) silk

2) acrylic
3) perspex
4) cat'sfur

5 =gl § forodia seifergen STomT 31 € of Toh-g8 i AR gt & qen 5=
TG T TAM Soifoeeh SO 81 § d Th - TR b1 QX Sehard! ¢ | ST a%g
T ST AT TG Teh-TH 1 W T S | = ez o om@ o
Tefeld ¥l § foh STa1 TR Th-gER & fehe A1 S a%g & Tejeish aR W
ek T8 ol I BT -

Objectsthat have opposite el ectric chargesmovetowardseach other while
objectsthat havethe sameel ectric charge push each other away.

A charged object and uncharged object will movetoward each other.

Thediagramsbel ow show what happenswhen different balloonsare hung
onstringsnear each other or near acharged object.

»d
®E  »d
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56. oAl TR HYU ST hH-TTE 2

What aretheoverall chargesontheballoons?

wHHE/ A B C
S.No.
1. HFHNIAF / Positive HFNAF / Positive | 18 313wt &t / No Charge

2. g AT 7@l / No charge | @IS 3TaT & / No charge R / Negative

3 FUes / Negative YHNIcAF / Positive | =g 1At =&t / No Charge

4. oA / Negative FIE AW TEi / No charge| TR / Positive

(A9 57 - 60) : FeAfefaa =g =t ufer aer fau 7T ue=i & I difSw:

(Questions 57-60) : Read the following passage and answer the questions that
follow :

T YRR Hagl ael! shid 1 |t Wiieeh SiHl TREe 9t § 59 8 § | o J&d:
T YHR & B ¥ | 3Tade / AIHR i 3T sl i Jor B fh=RI W I B € qen
AR R fe=i H o T <1 E1 H 9 Teh © | 39 ISTeLUN Sl Sl 91e1 U8l o ¢ | el Tel |
FHISR G Tl Gl ahl U8e] W Sk G H HeTIdl hid o ot 4 oidi o1 T =9y |
IERIKRIN

3 fet STfYeEr oI o1 T =9l o T - |1 e 3T YRl § fohan SIrar g 1 S
g3l Tl FST fe@, T 1 a3t i T9aleh Q@ & AU STad® o, GeAeel, /S
TR ot G H SITERY i o1 JnT ot S © | 1Py of svrarfefa 2 €1 3 st
H TR ATl YhTeT fRTui Rl FehTeRt Tah foig W hsd #d € | 71 foig wied (foig)
T & | S ST o1 g H e Hier € g a1 €1 STaffd s § e wrehd o
& ST THI BT |

L enses are objects made of transparent materials such asglassor clear plastic that
has curved surfaces. There are two main kinds of lenses. Diverging lenses are
thicker at their edgesthanintheir centresand they makelight rayspassing through
them spread out. Converging lenses are thicker in the middle than at their edges
and were the earliest kind of lens made. The earliest examples of these date back

two thousand years. They have been used in spectacles to help people with poor
vision seebetter sinceat | east thetenth century.
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These days, as well as being used in spectacles, converging lenses are used in
many other devices. Magnifying glasses, microscopes and some types of
telescopes use converging lenses to make small things much larger, microscopes
and some types of telescopes use converging lenses to make small things appear
much larger or to make distant objects appear much closer. Converging lenses
magnify by bending theraysof light that passthrough themto meet toapoint. This
pointiscalled thefocus. thethicker that aconverging lensisinitscentre, the more
it magnifiesandthecloser thefocusistothelens.

&9 /Lens
A
WeRTST fahuT Uex o / { N/
Light rays enter lens \ ] WrHg/
V Focus

HH A1 AFHEET 9 # s N 9T Thd SIRER of, Jou a5 i T 9
fawfem, st g2t sfa #1 e & SR At ¥1 S & fow afg 2 I dtea
HRTEET 29 | @A R 6 FHl. e feea g a1 wie i A wEn aer 37 1 (&' 3x ™
feran ST )

T ARG, T 10X T Teh o] b1 1071 il f@maa | g 10 1 =ret ot e |

Themagnifying power of asingleconverginglenssuch asthat usedinacameraor
magnifying glassisequal to thelength of the enlarged image divided by thelength
of the original object. For example, if a 2cm long beetle appears to be 6cm long
when viewed through amagnifying glass, the glass magnifying power is3written
as"3x"). Similarly, a10x lens would make an object look 10 timeslonger. It will
alsolook 10timeswider.

= T o e 9% Y vl hian © fof T Siie, Wehiet Higshieenty SR Ueh Soieei
TTZoR I HISSh &R 9 T STANT % o I &gl bl Fofrel &7 F @ S Hhel1 ¢ |

The diagram below shows the sizes of objects that can be observed effectively
using thehuman eye, alight microscopeand an el ectron microscope.
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57.

*
; 10m —
i 1 meter —
Lm 100 mm —
-3
1T
& 10 mm —
E =7dt [ ant
7 ?m 1 mm —
n e 7 <9 % %01 / grain of salt
- ] ; 100 pm —
@ |
E‘ g : HHE #37 / human hair
= g 10um — - Fifrmradi £ e majority of cells
E = § 1 agae [
= E o M — |+ St / bacteria
i ':56 o
.5 = 100 nm —
L c
O }émﬁ | viruses
T 10nm —
@
w

. 1 nm — |- ::qum—ﬂﬁ;' / macromolecules
v 01 nmJ |- T/ atoms

- . — atgaﬁ F T H
1000 i sFa a2/
1nm=s —2>X  mm indicates range of
200,000 sizes for object

IfE AT HIZHIGH & HiegH ¥ 2 W ol D2 9wy 2 et =9 w1
e T & A ST IR T 1 ST v fera & 2
If the smallest of the viruses appears to have a diameter of 2 mm when

observed through an el ectron microscope, the microscope's magnification
power is:

1) 20x
2) 200x
3) 20000x
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58.

59.

4)

200 000x

Frreafefea & @ SH-a1 SR TRER! of e 1 Hge 93 feem g ?

Which of thefollowing diagramsshow sideviewsof converging lenses?

1)
2)
3)
4)

1)
2)
3)
4)

[))D

A 3ARC
B3R D
B3RC
B,C3RD

AandC
BandD
BandC
B,CandD

e e 5 3TTaieieh shi<l & HILAH W <@ ST dl, Teh DIt ©f Iet b1 &5 25 Ty’
HId BT S | 39 Tl SR e fereh &1 foRa i ?

1)
2)
3)

4)

1 foeft’

5 et
20 figeft’
125 fyet’

When seen through a 5x magnifying glass, asmall leaf appearsto have an
areaof 25mm’. Whaistheactual areaof theleaf ?

1)
2)
3)

1 mnY

5mm
20mm’

2
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4) 125 mm’
g A7 H Teh TE oy & <71 341 & Uie feeq e m shfgq & & o v
TerToit <l oot B HoreT i bl STAfA T § |

The human eye contains alens that allows light rays entering the pupil to
befocused ontheretinawhichislocated at theback of theeye.

o T AT & fordt & S of 1 HIeTE age Fehd! € | i i HIRTE age S
TR ThTRT FRT0} fohd XE Shivad ol & — I i TS 3Tl 3TR@ Hel &1 4 sl
gl

The lensis surrounded by muscles that can change the thickness of the
lens. One of the diagram below correctly shows the way light rays are
focused when thethicknessof thelensischanged.

Fi

A
i

14
|

3

4}

A AT g [
Keys to Lens shapes
Umi‘n;

DY

e |
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60.  Whichisthecorrect diagram?
=g hH & T ST/ SPACE FOR ROUGH WORK
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hed Y & f S8/ SPACE FOR ROUGH WORK
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